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ABSTRACT
The Objective-Item Bank presented covers 16 secticns
of four subject areas in each of four grade levels. The four areas
are: Language Arts, Math, Social Studies, and Science. The four grade
levels are: Primary, Intermediate, Junior High, and High School. The
- Objective-Item Bank provides school administrators with an initial
starting point for curriculum development and with the
instrumentation for program evaluation, and offers a mechanism to
assist teachers in stating more specifically the goals of their
instructional program. In addition, it provides the means to
determine the extent to which the objectives are accomplished. This

document presents the Objective Item Bank for intermediate science.
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BEHAVIORAL OBJECTIVE -~ TEST ITEM RANK

BACKGROUND
The Evaluation for Individualized Instruction Project, an ESEA Title III project
administered by the Downers Grove, Illinois, School District 99, has developed an

Objective~-Item Bank covering sixteen sectors of four subject areas in each of
four grade levels.

Subject Area

LA MA 35 3C

1 11 12 13 14

2 21 22 23 24

3 31 | 32 | 33 3
L L1 L2 L3 Ll

IA = Language Arts ' 1 = Primary

MA = Math 2 = Intermediate
S5 = Social Studies 3 = Junior High

SC = Science 4L = High School

Nearly 5000 behavioral objectives and over 27,000 test items based on these
objectives were recently published as the culmination of this three-year project.
The complete output of seventeen volumes totals over 4500 pages. These publi-—
cations have been reproduced by the Institute for Educational Research to make
them available at cost to teachers and administrators.

The objectives and items were written by over 300 elementary and secondary
teachers, representing forty Chicago suburban school districts, who participated
in workshops of three to nine weeks duration throughout the project. 1In these
workshops they learned to write effective behavioral objectives and test items
based on the objectives. The results of their work were edited for content and
measurement quality to compile the largest pool of objectives and test items ever
assembled.

PRINCIPLES AND MERITS

Unfortunately, the Objective-Item Bank is often viewed mainly as a source of test
items. Although this is an important function, its greatest potential impact
lies not in the availability of a multitude of test items, but rather in the
ability of these items to measure carefully selected educational goals.

The almost frenetic search for test items on the part of some educators has been
spurred by the current emphasis on measurement. Some educators have become so
enamored with measurement that they seem more interested in obtaining a numer—
ical index than examining what they are really trying to measure. Further, it is
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not unusual for teachers to speak about a child obtaining a score of 95% on a
particular test. Frequently, they encounter considerable difficulty in inter—
preting the real meaning of a score and are content to just accept its numeral
value. A much more important question would seem to be: What are our goals of
measurement? Unless we can answer this question precisely, the only real pur-
pose that testing serves is tn gather data concerning pupils to facilitate the
marking of report cards. This is not to say that thic function is not legiti-
mate - it is rather to say that such a view of measurement is much too constric-
ting. The goal of measurement should be to provide feedback both to the teacher
and the child regarding the success or failure of the learning experiences in
realizing specifically stated objectives.

One of the main strengths of the EII Objective and Item Bank is that all the items
are directly tied to specifically stated objectives. Each group of items is
designed to measure a specific objective and therefore provides the means whereby
the teacher can obtain feedback on the success of the educational program.

It is disheartening to observe so many districts attacking the complex problem

of curriculum development independently. One cannot help reflecting on the
mammoth duplication of efforts involved. The Objective-Item Bank offers a possi-
ble alternative to this duplication. Utilizing its resources, the curriculum
committee is provided with some point of departure. The efforts of three hundred
teachers participating in the Evaluation Project's workshops and the thoughts of
forty districts can be evaluated and utilized, This is not to suggest that any
set of objectives should be viewed as the "answer" to an individual district's
curricular problem but rather the efforts of others offer a convenient point of
departure and may serve to stimulate diverse opinions about the direction of
curricular thrust within the individual district. The words of Sir Isaac Newtoun
seem appropriate; "If I have seen further, it is by standing upon the shoulder

of giants.™ The efforts of others, whether we consider them giant-like or pygmyish,
do offer a threshold to view the immense, complicated problem of curricular
development in better perspective.

The title of an article in a recent educational journal, "If You're Not Sure
Where You're Going, You're Liable to End up Someplace Else," succinctly describes
a continuing dilemma in our educational system. The vagueness of our goals often
promotes the idea that "anything goes." Without a guiding beacon many classrooms
become activity-centered rather than goalw-orientéd, One educator recently com-
pared the all-too-typical classroom with Henry Ford's observation concerning his-
tory. He defined history as, "One damned thing after another.' 1Is this true of
the succession of activities within our classrooms? Does the teacher really know
the educational purpose of each activity? Perhaps, even more impartantly, do the
children know the purpose?

The Objective-Item Bank offers a mechanism to assist teachers in stating more
specifically the goals of their instructional program and further provides the
means to determine the extent to which the objectives are accomplished. The
specification of goals assists the teacher in discovering whether favored acti-
vities advance learning, or are merely time fillers; whether they get the "mate-
rials"™ across, or are merely perfunctory exercises.

ii
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' Much discussion s veen :devaic. (o wne ueple oo Ui wotividuallsed instruction??
and occasionally some diclogus has even cenlcroa on the "how."™ But an even more

basic question is one thal is often ipnoved: “Irdividualize what?"

Many school districts menbicn tieir individunliizad programs in reading or mathe-
matics, What is individualized within thes: pregrasms? Are certain skills defi-
nitely identified? Is the pr.ctiet of pratesting to determine the child's level
of proficiency when he enters the rregren a puidaline!

The Objective-~It.em Bank i:.as two pobential contribubicas to make to all school dis-
tricts embarking on or pre,entlf enzaged in individurlized instruction programs,
These contributions are: 1. 4 growp of will—spocified objeetives which could
form the "what" of *he pvcw‘am 2. A sob of iteas ducigned to provide informa-
tion on the degree of mastary of tho obvjeetive

APPLICATIONS AND TEGHNIRJs3

The vereatlllt“ of the ObjJeetive=ito Jerl L svituat fa the value and usabd?luy
by both teachers ond aGuinistra lors.

To the Administration the Qbjoctivi--rtow D
1. Provider an initial stariing polit Lo, svecfie lun Gevelopaent,  The

exigvence of mary objectivas "va" <5 thi necessity of each district
duplicating the efforts or another.  The tosk of th2 curriculum com-

Ki

ety

- mittee beceues one of celect unw unu./Ol" rejerting ohjzctives from tha
Objective ~ Item Lank and thon suugleventing thom with objectives
develoned ot the lozel level, 1'@:t.—~jr~xr--tic:ip:-.nts cf the BEvaluation

Project workshops weould be valugkle resourso 2zop” 2 in this endesvoi

2. Provides the instrumensaticn for peopten evaluation. The selection
of items from thosc Obj"f'tl""‘- ranrcsentative of the main emphases of
the local district pro-ides the ir.ecwori for tha evaluation of the
stated 2o0als.

Tc the Teacher the Chjrctlreviter Denlis
l. Provides the poolis:g ~f taluni and Chogavedion wl beasners of varied

~<p9rlence and iibevests, thus wrolcins the nresent duplication of
effort,

-

2. Provides rescurces for aore irhly se sloilacd prosran evaluation
b

s

instead of a tattsry of stundercizoed tueils.  Since the objectives
are tsilored %o tLhe progrem, the assceisted test items can be used
to determine preeicely the efTicacy of the instructionzl materials.

(3

3. Provides thz nes’ h w‘r- seelyr e vescher cun beccae move acutely sware
of that which he L. sosidirg wo hevs ocevr in his (lassroom and bhat
which he will a::rs-p\. a5 eviderrs of its oosvrrence. ilopefully, ac

X teachers beeem:? move cuara of their ooals, ®hsoy will share these

ERIC ,
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objectives with children and let the pupils become acutely aware of 3
that which is expected of them, ergo allowing them to seek their own 4
modality of instruction for the realization of the stated goals.

L. Provides the nucleus of an individualized instruction program.

a., It provides for more precise curriculum planning by differen=-
tiating those goals specific to each grade and even to each
student, With the bank at their disposal, teachers are encour-
aged to become aware of their responsibilities in developing a
set of basic objectives which every child must attain and a
further set which can be pursued according to the students'
abilities and interests.

b. It provides several items per objective, some of which may be
used as a pre-test to discover whether a student should under-
take that objective while the remainder may be employed to
measure the mastery of those students who do tackle the objective.

NOTES
Several of the volumes have been reproduced from punched cardsv by the IBM 407,
a machine which does not print all characters exactly as they appear on a type-
writer. Thus:
% is actuall, ( ) )
1 is actually )
O is actually ? or!

Apostrophes cannot be printed.

The number imediétely after the statement of each objective represents the
number of items measuring attainment of that objective.

Information on the EII publications or purchase requests can be directed to:
INSTITUTE FOR EDUCATIONAL RESEARCH

1400 West, Maple Avenue
Downers Grove, Illincis 60515
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CHARACTERISTICS OF BODY SYSTEMS

THE STUDENT WILL DEMONSTRATE AN UNDERSTANDING OF THE DIFFERENCES 0003
BETWEEN ORGANS AND SYSTEMS RY IDENTIFYING CHARACTERISTIC STATEMENTS
APPROPRIATE TO EACH. %4nD

CHOOSE THE CORRECT ANSWER. A 1
AN ORGAN IS MADE UP OF A NUMBER OF 9
Ae SYSTEMS 2400009
Re JOINTS
Co RONES - 2400009
*De TISSUES 2400009
THE HEART AND LUNGS ARE 2400010
*As ORGANS 2400010
‘Be SYSTEMS . 2400010
Ce CELLS . 2400010
De TISSUES _ 2400010
A NUMBER OF ORGANS WORKING TOGETHER FORM A 2400011
Ae CELL 2400011
Bs TISSUE 2400011
#Co SYSTEM 2400011
De SKELETON 2400011
»THE STOMACH 1S ONE OF THE ORGANS OF YOUR DIGEST IVE 2400012
™ Ae GLAND
Re SET
*Ce SYSTEM ’ . 2400012
De CELL 2400012

LR 222 S a2 L 222 RS TR R EILIELLILELE LS LRSI L LI ELTETE LI TTT LTINS X TR R S

THE STUDENTS SHOULD IDENTIFY ANY OF THE SIX SYSTEMS FROM A nons
DESCRIPTION OF THE SYSTEM, %4n
CHOOSE THE CORRECT ANSWERS _ 1
NUTRIENTS AND OXYGEN ARE CARRIED BY WHICH OF THE FOLLOWING 0015
SYSTEMSO 2400015
Ae NERVOUS 2400015 -
Re RESPIRATORY 2400015
#Ce CIRCULATORY 2400015
De SKELETAL 2400015
THE TWO SYSTEMS WHICH ASSIST *MOST# IN THE PROCESS OF MOVEMENT ARE 0016
Ae CIRCULATORY AND RESPIRATORY : 2400016
*Be MUSCULAR AND SKELETAL 2400016
Ce MUSCULAR AND CIRCULATORY 2400016
. De SKELETAL AND RESPIRATORY 2400016
WHICH SYSTEM IS ENTIRELY MADE UP OF RONED 0017
¥Ae SKELETAL SYSTEM. . 2400017




Be MUSCULAR SYSTEM 24U Ll

FLoMTmUNpE SVOTEN 2400617
De RESPIRATORY SYS TEMe | 2400017
THE MOUTH, THROAT AND ABDOMINAL REGION OF THE BODY COMPRISE A 0018
PART OF THE : 13
As NERVOUS SYSTEM 2400018

Be EXCRETORY SYSTEM,

#Ce DIGESTIVE SYSTEM. 2400018

e 2T E TS EL IXT LSRRI R RS LIELL NS SE S LRSI L 2 222 S RS ST L PSR X S e L LI 2 kg Yy

EE XIS LSS LR LIS ESTL S LSS L SIS S LLILE ESOSE L2t E ST L SIE LT Y 2 8L B Ly

THE STUDENT WILL RECOGNIZE THE INTER-RELATEDNESS OF HUMAN SYSTEMS 0281
BY DETERMINING CAUSATIVE RELATIONSHIPS. %3n
CHOOSE THE CORRECT ANSWER. b 1
A MALFUNCTION OF THE EXOCRINE GLANDS WOULD MOST AFFECT 2400622
*Ae DIGESTICN. - 2400622
Re HEART RATE. | 2600622
Ce HEARING 2400622
Ds GROWTHe 24600622
WHICH TWO SENSES ARE MOST CLOSELY RELATEDO 2400524
As SIGHT AND HEAR IHG 2600624
*Bs TASTE AND SMELL. 2600624
Ce TOUCH AND FFFL 2600624
D+ SIGHT AND TASTE 2400624
E. HEARING AND TOUCH 2400624
YOUR SENSE OF BALANCE WOULD MOST LIKELY BE HURT IF WHICH OF 2400625
THESE SENSES WAS DAMAGEDO 2400625
A+ HEARING 2600625
Re SIGHT 2600625
*Cs TOUCH 2600625
De SMELL -

e A 2222 L2 RIS SIS XSS TSI E LIS LTI XTSI L L LTS T 2L R kRl

DIGESTIVE SYSTEM™_

THE STUDENT WILL KNOW THE ACTION OF THE TEETH AND SALIVA UPON 0019

FOOD IN THE MOUTH BY SELECTING THE CORRECT ACTION OF THE TEETH
AND SALIVA. %3n

CHOOSF THE CORRECT ANSWER. - 1
SOLID PIECES OF FOOD ARE BROKEN UP BY THE ' 2600073
 Ae TONGUE s 2400077
Ba JAWSe 240007°
#Ce TEETH. 2400073
Do THROAT. 2‘?0007"‘;
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FOODe THESE ARE CALLED THE esoes GLANDSe ' 24000 (4

AL (..!.‘.”:‘-’.‘T "7(,0:\“.‘;
*Be SALIVARY 2400074
Ce THYROID 2400074
De ADRENAL ‘ 2400074
THE FLUID SECRETED BY THF GLANDS WHICH MOISTEN THE FoOD 1S CALLFD 0075
As PERSPIRATION. 2600075
Be THYROXING 2600075
Ce ADRENALIN : 2400075
*¥De SALIVA,. 2400075

HW NN IEH NN I NN K K NI F RN H I H NN TN E N RN IR RN RSN RN R X RRY
THE STUDENT wWilLL DEMONSTRATE AN UNDERSTANDING OF THE DIGESTIVE 0021
PROCESS BY SELECTING THE SEQUENCE IN WHICH THE BREAKDOWN OF

PROTEINS TAKES PLACE IN THE STOMACH. %lno

CHOOSE THE CORRECT ANSWER. )

PROTEINS ARE TEMPORARILY STORED IN THE STOMACH WHERE FURTHER 26000717
DI{GESTION TAKES PLACE. AFTER THIS 2400077
Ae THE BREAKDOWN OF PROTEINS REGINS WITH THE AID OF THE 2400077
GASTRIC JUICE CALLED PANCRFATIC JUICE. 2400077

#Bes THE ENZYME PEPSIN FOUND IN THE GASTRIC JUICE BEGINS THE 24000717
BREAKDOWN OF PROTEINS. 2400077

Ce THE GASTRIC JUICE CONTAINS AMYLASE WHICH BEGINS THE BREAK- 24600077
DOWN OF PROTEINS, 24000717

De LIPASE AN ENZYMF FOUND IN THE GASTRIC JUICE BEGINS THE 2400077

RREAKDOWN OF PROTEINS. 2400077

**%******************************%*****************%***%***************#***-)l-’l

THE STUDENT WILL DEMONSTRATE HIS ARILITY TO UNDERSTAND THE 0185

PROCESS OF DIGESTION RY SELECTING WHAT HAPPENS IN GIVEN ORGANS
AMD PARTSe %65n

CHOOSE THE CORRECT ANSWER. 1

THE ESGPHAGUS 15 THE 1218
Ae WINDPIPE.
*R, FOOD PIPE,
Coe CELL MEMRRANE .
De SALIVAe

IN THE STOMACH FGOD 1§ 1219
*Ao PARTLY DIGESTED.
Be STORED FOR LATER USE.
Ce COMPLETELY DIGESTEDS
De SENT TO ALL PARTS OF THE BODY.

IN THE SMALL INTESTINE FOOP IS : . . 1226
*Ae COMPLETELY DIGESTEDe *

Re PARTLY DIGESTED.

Ce STORED FOR LATER USE.

De MOISTENED FOR EASIER MOVEMENT.

THE LARGE INTESTINE STORES | 1221
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B« STORED FOR LATER USF,

Lo JUICES 70 AIDE TN DIGESTIONe
#D, FOOD YOU CANNOT DIGFESTe

JUICES WHICH HELP BREAK DOWN FOOD ENTER INTO THE
Ae LIVER AND STOMACH.
Re SMALL INTESTINE AND LARGE INTESTINE.

#Ce STOMACH AND SMALL INTFSTINF,.
De PANCREAS AND LIVERe

PYTEETTEITRR PRSI Eeys R IR FERL L FRIILL L 2RI E LS ILLE L 2228 L bl ik hog sl

THE STUDENT CAN DEMONSTRATE KNOWLEDGE OF THE DIGESTIVE SYSTEM 0206
BY -IDENTIFYING CHANGES WHICH OCCUR IN THE PROCESS OF DIGEST ION.
Q4n

CHOOSE THE CORRECT ANSWER. - 1

TO BE ASSIMILATED INTO THE BLOOD STREAM FOOD MUST 1324
A« BE BROKEN INTO SMALLER PIECESe

*Be BE BROKEN DOWN CHEMICALLY.
Ce BE MIXED WITH WATER
NDe ENTER THE LARGF INTFSTINE.

WHAT ROLE DOES THE SALIVARY ENZYME PLAY IN THE DIGESTIVE 1325
PROCESSO

Ae CHANGES SUGAR TO STARCH

Be CHANGES PROTEIN TO FATS

#Ce CHANGES STARCH TO SUGAR

De CHANGES PROTEIN TO AMINO ACIDS

GASTRIC JUICES OF THE STOMACH BEGIN THE CHANGE OF . 1326
*Ae PROTEINS TO AMINO ACINSe.
Be FATS TO FATTY ACIDSs
Ce STARCH T0 SUGAR.
De CARBONHYDRATES TO PROTEINS,

THE LIVER PRODUCES BILE WHICH START THE DIGESTION OF 1327
Ae PROTEINS TO AMINO ACINSe
Be STARCH TO SHIGAR.
Ce SUGAR TO STARCH.

#¥De FAT TO FATTY ACIDS

EITIE TR SNTIE EESTITTE L ESFL LS ITIT R ST E I TS L 2RI S SIS L 22T L 222 SRR b LRt s

THF STUDFNT CAN DEMONSTRATF KNOWLEDGF OF THE DIGESTIVE SYSTEM BY 0207
DIFFERENTIATING THF VAR1OUS FUNCTIONS PERFORMED BY STRUCTURES
WITHIN THE SIGESTIVF SYSTEMe %10m

DIRECTIONS -~ GIVEN A LIST OF PARTS OF THE DIGESTIVE SYSTEM» 0057
IDENTIFY WHETHER THE PART SERVES A MECHANICAL, A CHEMICAL FUNC-
TIONs 1S A GLANDs OR ACTS TO ARSORB FOOD INTO THE BLOOD STREAM.

PLACE THE APPROPRIATF LETTFR OPPOSITE THE PART LISTED.

Me MFECHANICAL

Ce CHEMICAL

Ge GLAND

Ae ABSORBER OF FOOD

49
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LIvie  ¥*G 1329

PYTALIN *C 1330
E SOPHAGUS *M 1331
PEPSIN xC ,1332
TONGUE  *M 1335
VILLL %A 1334
BILE *=C ' ' 1335
PANCREAS *G | 13136
FRYPSIN #C 1337

LR X2 XSRS RSS2SR RS E E ST S SRS R LSS SR SIS LS RIS LSS SRS SEELLIL L X YT

THE STUDENT WILL DEMONSTRATE AN UNDERSTANDING OF HOW THE SHAPES 0o0ls
OF PARTS OF THE DIGESTIVE SYSTEM REGULATES THE FUNCTIONS OF

THE SYSTFM BY SELECTING THF TERM OR PHRASE WHICH BFEST COMPLETFES
THE STATEMENT. %3no

CHOOSE THE CORRECT ANSWER. 1

Fooos TAKEN INTO THE BODY MUST BE CHANGED TO A SIMPLE FORM 2400070
BECAUSE 70
As THEY ARE TOO LARGE TO MOVE THROUGH THE DIGESTIVE ORGANS. 2400070
*RB, THEY ARY 700 COMPLEX FOR THE CFLLS TO UJSE, 2400070
Co SO THAT PHOTOSYNTHESTS CAN TAKE PLACE . ' 2400070
De SO PERISTALSIS CAN OCCUR IN THE DIGESTIVE ORGANS. 2400070
THE ESOPHAGUS CONVEYS FOOD TO THE STOMACH EASILY DUE TO ITS 0071
SHAPE. WHICH IS
A. CTIRCULAR OPENTNG. 2400071
RBe COILED TUBE. ‘ 2400071
*#Co STRAIGHT TURE, ' 24000
De BAG-LIKF & 2400071
IT WOULD NOT BE POSSIBLE FOR DIGESTION TO OCCUR IF T WERE NOT 2400072
FOR THE MUSCULAR CONTRACTIONS CALLED 2400072
®*A., PERISTAL. SIS, 2400072
Re OSMOSISe & | ‘ ' 2400072
Ces ABSORPTION, 2400072
De REFLEX ACTION 2600072

LA R SRR SR L2 S S IR LR RITES SR EST SR E I TR 2R R R R T 2T TN E L N RO A

THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF THE DIGESTIVE 0020

PROCESS RY SFLECTING THE CORRECT SEQUENCE OF EVENTS IN.DJGESTION.
%10

CHOOSE THFE CORRECT ANSWER e 1




“TTER SOCH HAS BEEN IN THE MOUTH FOR A SHORT TIME« T IS
SWALLOWED AND PUSHED INTO THE ESOPHAGUS, FROM THERE 1T 1S FORCED
#A, BY PERISTALSIS INTO THE STOMACH,
Be INTO THE STOMACH AND THEN PUSHED BY PERISTALSIS "INTO THE
ESOPHAGUS,
Ce DIRECTLY INTO THE LIVER WITH THE AID OF PERISTALSIS AND
THEN INTO THE TRACHEA.
De INTO THE BRONCHTIAL TUBES AND FROM THERE FORCED INTO THE
STOMACH BY PERISTALSIS.

0076

24600076
2400076
240007¢
2600076
2400076
2400076

************%******%****%%*******%***************%%*****%*****%%****%****%%**

THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF THE SENSES'bF
SIGHT AND HEARING, BY COMPLETING SENTENCES ON HOW THE PARTS OF
EACH FUNCTION EFFECTIVELY. %50

CHOOSE THE CORRECT ANSWER

WHEN NERVE ENDINGS OF THE FYE ARE STIMULATEDs MESSAGES OR
IMPULSES ARE SENT ALONG THF NERVE CELLS TO THE
Ae EYE BALL.
Be PUPIL.,
#Co BRAIN,
De EYE LIDe

THE NERVE ENDINGS SENSITIVE TO LIGHT ARE LOCATED AT THE OF
THE EYEe
*Ao BACK
Be FRONT
Ce SIDE
De BOTTOM

WHEN THE BRAIN INTERPRETS IMPULSES FROM THE OPTIC NERVEs YOU ARE
ABLE TO

A+ HEAR.
*Be ScEe

Ce SMELL.,

De TASTE.

A VIBRATING OBJECT PRODUCEQ
*Aes SOUND.
Be SMELL.
Ce SIGHT.
De TOUCH,

THE INNER EAR RECEIVFS SOUND PRODUCiNG VIBRATIONS THROUGH THE
AID OF THE FUNNEL EFFECT OF THE
Ae AUDITORY NERVE.
*B. OUTER EARe
Co OPTIC NERVE,
De EARDRUM,

0016

1
2400060
2400060
2400060
2400060

2400060
26400060

0061
2400061
2400061
2400061
240006)
2400061 .

0062

62
2400062
2400062
2400062
2400062

2400064
2400064
2400064
2400064
2400064

2400065

65
2400065
2400065
2400065
2400065

A R AL Ed R ARt LRSS s ELatsEE R TA LRSI IEIEL IS YR PEEEIETEY PR P ey

SENSES
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THE STUDENT WIiLi DEMONSTRATE HIS UNDERSTANDING OF THE SENSES -
COTHL L TASTE aeD Tyt G T CO G THE RELTTION OF THERE SERSES

TO A STIMULI. 9%3m
CHOOSF THE CORRECT ANSWER.

THROUGH THE USE OF THF FIVF DIFFERFENTY KIMDS OF NERVE ENDINGS IN
YOUR SKINs YOU DEVFLNP THE SENSFE OF

#A. FEELING,

Be SEEING.

Ce HEARINGS

De SMELLING,

AFTER YOU COME IN CONTACT WITH AN ODOR FOR SEVERAL MINUTES, THE
SENSITIVITY OF THE NFRVE FNDINGS INSIDE THE NOSE
Ae REMAINS THE SAMF.
Be BECOMES GREATER.
Ce INCREASES GREATLY.
#De BECOMES LESS.

YOU WOULD NOT BE ABLE TO DIFFERENTIATE BETWEEN FOODS If 1T WERE
NOT FOR THE LOCATED ON YOUR TONGUE.
"~ Ae RIDGFES
Be PORES
#Ce TASTE BUDS
De PAPILLAE

0017

1

26000606

2600066.
24600066
24600066
2600066

2400068
2600068
2400068

NN4%%

24000467

69
2400069
2400069
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RESPIRATORY SYSTEM

THE STUDENT WILL RECALL THE: ORGANS OF THE RESPIRATORY SYSTEM
AND THEIR FUNCTION BY RECOGNITION OF DEFINITIONSe %7nm

CHOOSE THE CORRECT ANSWER.

FILTERING, WARMINGy AND MOISTENING OF AIR ARE THE THREE MAIN
FUNCTIONS OF THE
Ae BRONCHIAL TUBES.
Be ALVEOLUS
*Ce NASAL PASSAGES.
De TRACHEA,

INHALATION BRINGS FRESH OXYGEN INTO THE BODYs WHILF THE PROCESS
OF EXHALATION REFERS TO THE REMOVAL OF WASTE, AND
VAPOR.
A. CARBON MONOXIDE s SULFUR
*Be CARBON DIOXIDEs WATER
Ce CALCIUM HYDROXIDEs WATER
De SODIUM CLORIDEs "WATER

THE TRACHEA MAY ALSO BFE CALLED THE
*Ae WINDPIPE. '
Be BRONCHI.
Ce NASAL PASSAGESS
De PHARYNX,

13
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1

24n0052
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THE TRACHEA BRANCHFS INTO TWO TUBES CALLED
As LUNUDe

#Be BRONCHI.
Ce RASAL PASSAGESS
De LARYNX.

CARBON DIOXIDE THAT IS PRODUCED THROUGHOUT YOUR BODY IS CARRIED
IN THE BLOOD TO YOUR
Ae PHARYNX.
Be LARYNX.
Ce TRACHEA,
#De LUNGS.

YOUR BODY I[S BRINGING IN OXYGEM AND REMOVING CARBON DIOXIDE
Ae "OME OF THE TIME.
*Be ALL THE TIME,
Ce ONLY AS YOU SLEEP.
De WHILE YOU ARE AWAKE,
AS YOU BREATHE OXYGEN INTO YOUR BODY». YOUR RIBS MOVE
#Ae UPWARD AND OUTWARD.
Be DOWN .AND OUT,

Co UPWARD AND INWARD.
De OUTWARD AND INWARD.

CIRCULATORY SYSTEM
THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF BLOOD
BY SELECTING THE CORRECT RFESPONSE IN A GIVEN SITUATIONs %10m

READ THE PARAGRAPHS BELOW. BASED ON WHAT YOU KNOW ABOUT BLOOD
CHOOSE *A% FOR REASONABLEs OR #B* FOR UNREASONABLE

JACK DOES NOT FEEL WELL SO HE GOES TO THE DOCTOR. THE DOCTOR

TAKES A SAMPLE OF JACK+S BLOODe THE DOCTOR FINDS THAT THERE 1S
A LARGE AMOUNT OF WHITE BLOOD CELLS IN JACKsS BLOOD,

JACK 1S NOT SICK. *B

JACK NEEDS MORE PLASMA. #*B

JACK HAS AN INFECTION. *A

JACK NEEDS MORE WHITE BLOOD CELLSe *R
. JACK DOES NOT HAVE RED BLOOD CELLS. ¥B
PLASMA CAN BE EASILY MOVED FROM ONE PLACE TO ANOTHER. - %A
BEFORE 1T 1S USEDs WATER MUST BE ADDED TO PLASMAs  *A
PLASMA CAN SAVE PEOPLES LIVESe %A

PLASMA MUST BE USED QUICKALY CR IT WILL SPOIL. *R
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DRIED PLASMA CONTAINS RED AND WHITE BLOOD CELLS. *B 123¢

*%*%%*%****%*%**%**%¥#%*%***%*E*%********#*%%%**%%%***%%***%*****************

THE STUDENT WILL SHOW HIS UNDERSTANDING OF THE BLOOD BY SELECTING 0190

" THE PROPER RESPONSE TO GIVEN STATEMENTS ABOUT ITS COMPOSITION AND

CHARACTERISTICS. %7m
CHOOSE THE CORRECT ANSWER e | ]

BLOOD CARRIES TO ALL. PARTS OF THE RODY 1263
#A., FOOD AND OXYGEN ’ :
Be FOOD AND CARBON DIOXIDE
Ce OXYGEN AND CARBON DIOXIDE
Des CARBON DIOXIDE AND PLASMA

SOME BLOOD CELLS ARE MADE IN THE 1264
As PLASMA
B. BLOOD VESSELS
Cs HEMOGLOBIN

*De MARROW

THE RED COLOR OF BLOON COMES FROM THE 1265
As PLASMA
B~ BLOOD VESSELS
*Co HEMOGLORIN
Ds MARROW

RED BLOOD CELLS WEAR OUT AT THC RATE OF 1266
Ae 30 MILLION PER MINUTE
Be T THOUSAND PER SECOND
#Ce 3 MILLION PER SECOND
De 5 MILLION PER MINUTE

ONE KIND OF WHITE BLOOD CELL IS A 1267
Ao DRIFTER :
#B« GERM EATER
Co PLASMA GROWER
De MARROW EATER

PUS 1S MADE UP OF 1268
Ae DEFAD RED BLOOD CFEFLLS AND PLASMA '
Re DEAD GERMS AND RED RLOOD CFLLS
Co DEAD PLASMA AND WHITE RLOCD CFLLS
*De DEAD WHITE BLOCY CELLS AND GERMS

PLASMA IS THE '
Ae WHITE COLOR OF WHITE BLOOD CELLS
Be DIGESTED FOOD IN THE RLOOD
¥Co LIQUID PART OF THF ALOOD
Ds TRON IN YOUR RBLOOD

11269
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THE STUDENT CAN DEMONSTRATE UNDERSTANDING OF THE CIRCULATORY 0205

SYSTEM BY IDENTIFYING THE FUNCTION OF VARIOUS PARTS OF THE
~ SYSTEMe  %10m

DIRECTIONS — GIVEM A LIST OF PARTS OF THE CIRCULATORY SYSTEM 0056

15
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TmEnTICY WHMETHER THE PART 1S CONCZERNED WITH THE DISTRIBUTION OF

OXYGENATED BLOOD OR WITH BLOOD CARRYING IMPURITIESs WHETHER IT

ASSISTS IN CLEANING THE BRLOOD OR SERVES AS A CONNECTIVE NETWORK.

PLACE THE LETTER OF THE APPROPRIATE RESPONSE NEXT TO THE PART

LISTED. “

Ae OXYGENATED BLOOD
Be UNPURE BLOOD

Ce CLEANS THE BLOOD
De CONNECTIVE NETWORK

CAPILLARIES *U 1314
LEFT VENTRICLE *A | 1315
RIGHT AURICLE *B 1316
KIDNEY *C | : 1317
VEINS #B | 1318
LEFT AURICLE %A 1319
LUNGS  #C 1320
RIGHT VENTRICLE *B 1321
ARTERIES #A ) 1322
HEMOGLORIN *A 1323
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NERVOUS SYSTEM

THE STUDENT CAN APPLY KNOWLEDGE OF THE ACTION OF A STIMLUS ON 0194
THE SENSORY, CONNECTINGs OR MOTOR NEURONS BY IDENTIFYING THE
FUNCTION OF EACH IN A UNIQUE SITUATION. %3no

THE ACTION OF A STIMULUS ON A CONNECTING NEURON IS #*MOST#* LIKE 1277
Ae A RECEIVER ACCEPTING THE INITIAL STIMULUS.
Be A TRANSMITTFR SFNDING OUT THE INITIAL STIMULUS,
*Ceo A SWITCHROARD DIRECTING THE STIMULUS TO A MUSCLE OR GLAND.
De AN AMPLIFIER WHICH STRENGTHENS THE ORIGINAL STIMULUS.

DAMAGE TO THE SPINAL CORD MAY RESULT IN PARALYSIS BECAUSE 4 1278
As THE SENSORY NEURONS ARE DAMAGED AND CAN NO LONGER RECEIVE
A STIMULUS.

*Ae THE CONNECTING NFURONS ARE DAMAGFD AND CANNOT DIRECT A
STIMULUS FURTHER.

Ce THE MOTOR NEURONS ARE DAMAGEDs AND WILL NOT PERMIT THE
MUSCLES TO FUNCTIONe

De ALL REFLEX ACTIONS OF THE BODY CEASE TO FUNCTION.

A CHEMICAL SUBSTANCE 1S SECRETED INTO THE BODY BY GLANDSs THE 1280
o ADRENALS. THE ADRENAL GLANDS INCREASE THEIR ACTION WHEN
: Ae WE ARFE NERVOUS
ERIC ' ' o
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Re WE ARE STIMULATFDa
Lo DTN HEUR D LARRIES AN IMPULSE 16 THE GLAHDS.
Do THE SENSORY NEURON CEASES TO FUNCTION.
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THE STUDENT WHEN PRESENTFD WITH AN EXAMPLE, WILL BE ABLE TO
IDENTIFY WHICH TYPE OF LEARNING IS INVOLVED BY CLASSIFYING
SITUATIONS AS INSTINCTs REFLEXs CONDITIONED RESPONSE; OR GOAL
INSIGHT. %7m

A YOUNG CAT WAS PLAYING WITH A BALL OF YARN IN THE YARD WHEN
“A SOUIRREL RAN UP A TREEs THE CAT RAN AFTER THE SQUIRREL. THE
CATsS OWNER CALLFD HIM, TOLD HIM TO COMFE DOWN AND HE DID,

THE CAT CLIMBING P THE TREE. IS AN EXAMPLE OF WHICH KIND OF
LEARNINGO
A. CONDITIONED RESPONSE
Bse GOAL-INSIGHT
*Co INSTINCY
D. REFLEX

THF CAT COMING BACK DOWN IS AN EXAMPLE OF
Ae INSTINCT.
#By CONDITIONED RESPONSE «
+ Co REFLEX

A FIRST GRADER WAS WATCHING HIS BROTHER PLAYING BALLe HIS
"RBROTHER HIT A HOME RUN AND WAS GIVEN A TROPHY., THE LITTLE BOY
OFCIDED HE WANTED TO BE A RASEBALL PLAYER TOO.

THE OLDER BROTHERS HITTING THE BALL IS AN EXAMPLE OF
#3, CONDITIONED RESPONSE .
Ce GOAL - INSIGHTS
De REFLEX.

THE LITTLE BOY DECIDING TO BECOME A BALL PLAYER 1S AN EXAMPLE
OF :
#As GOAL - INSIGHTe

Be REFLEXS

De INSTINCT.

Fe CONDITIONED RESPONSE.

SUIE HAS AN AQUARIUM IN HER ROOM WITH THREE GOLDFISH IN. IT. SHF
WANTED TO TRAIN THE FISH TO COME TO THE TOP RUT COULDMT. ONE DAY
SHE TAPPED THE TANK WHILF FEEDING THE FISH AND THEY CAME T0 EAT.
AFTER - THAT» SHE ALWAYS TAPPED THE TANK WHEN SHE -FED THEM.

READ THE PARAGRAPH BELOW AND CHOOSE THE MAIN IDEA FROM THE
ALTFRNATIVE% GIVEN.

THE FISH COMING TO EAT WHEN SUE TAPPFND THE GLASS IS AN EXAMPLE OF
Ae GOAL - INSIGHT.
Bse REFLEX
Co INSTINCT.
#De CONDITIONED RESPONSE.

‘SUE #*DECIDING* TO TAP THE GLASS WHEN SHE FED THE FISH 1S

1¢

e
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e DEELEX 2400571

Re INSTINCT, 2400571

Ce CONDITIONED RESPONSE, 2400571
*De GOAL =~ INSIGHTe 24005714‘
SUE SHAKING HER HAND AFTER ACCIDENTALLY HITTING THE TANK THE 0572”§
FIRST TIME IS AN EXAMPLE OF

Ae INSTINCT, ‘ 2400572
*B e REFLEX. 2400572

Ce CONDITIONED RESPONSF. 2400572

De GOAL = INSIGHT. 2400572
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SKELETAL SYSTEM

THE STUDENT WILL COMPREHEND THE NEED FOR RIBS BY STUDYING THE 0008
LOCATION OF THE HEART AND LUNGS IN A DIAGRAM OF BASIC BODY ORGANS
AND SELECTING THE POSSIBLE FUNCTIONS OF THE RIBS. %2n

CHOOSE THE CORRECT ANSWER. : ]
THE RIBS AND BREASTBONE FORM A CAGE AROUND THE 2400026
*As HEART AND LUNGS . 2400026
Be HEART AND LOWER INTESTINE. 2400026
Ceo LUNGS AND BRAINS 2400026 &,
De LUNGS AND STOMACH. 240002
THF BACKRONE AND RREASTRONE ARE CONNECTED THROUGH PAIRS OF 0027
RIBS. 2400027
Ae 8 2400027
*B. 10 2400027
Ceo 12 - . 2400027
De 14 2400027

*********************%*******************************************************

THE STUDENT WILL ANALYZE HOW CLOSELY THE ARM, HAND AND SHOULDER 0009

WORK TOGETHER BY SELECIING (HE MO$1 PROBABLE OUTCOME OF HYPOTHE-
TICAL VARIETIES IN A BONE. %lno

CHOOSE THE CORRECT ANSWER. . : 1
IF YOUR ARM JUST RFLOW THE FELBOW 1S RROKFNs A CAST WILL RE 2400028
PLACED ON THE BODY ' 2400028
A« ABOVE THE ELBOW ONLY., 2400028
R« ON THE WRIST ONLY. 2400028
*Ca AROVE THE ELBOW TO THE WRIST, 2400028
De ON THE SHOULDER BLADE. 2400028

**%*#*****%**************************************************************%**i;}

THE STUDFENT WILL DFEMONSTRATE AN UNDERSTANDING OF THE PROTECTIVE 0006
FEATURES OF THF SKULL RY SFLECHING {HE FEAIURES (HA| WOULD PRO-
I:R\(: TECT AGAINST INJURY IN A GIVEN SITUATION. %2n

18
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CHOOSE THE CORRECT ANbwEite

THE SKULL PROVIDFS A DEFINTTE SHAPE TO THE

3 Ae FOOT.

‘J*Be HEAD.
Co HANDe.
De CHEST.

SHOULD THE PERSON BE HIT ON THE EAR OR NOSE HIS SKULL WouLD BE
PROTECTED BY A FLEXIRLE SURSTANCE CALLED

*Ae CARTILAGE.

Be CARPALS.

Ce. BONE.

De VERTEBRA.

i
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THE STUDENT WILL APPLY HIS UNDERSTANDING OF THE FUNCTION OF THE
ENT IRE SKELETAL SYSTEM By SELECTING THE PROBABLE FUNCTIONS
RELATED TO THE BONES OF IHE HIPs LEGs AND FOOl. %3mD

CHOOSE THE CORRECT ANSWER.

THE ENTIRE SKELETON PROVIDES OVER-ALL SUPPORT OF THE BODY WHILE
THF BOWL-LIKE SHAPE OF THE HIP BONES SERVES AS A SUPPORT FOR
THE '

Aes ORGANS IN THE CHEST CAVITY.

Be RESPIRATORY ORGANS.
#Ce ABDOMINAL ORGANS.

Ds CIRCULATORY ORGANS.

THE GENERAL SHAPE OF YOUR RODY IS PRODUCED BY THE SKELETONS
WHILE THFE WIDTH OF YOUR HIPS IS PRODUCED BY THE WIDTH OF WHICH
BONESO

A. COLLAR

Be RIBS

Ce FOOT

*De HIP

WHILE THF HANDS AND ARMS MAY SWING FREELY FOR A PERSON STANDING
UPRIGHT « THF NUMFRO!NS BONFS FOUND IN THE FEET #AND TOFS® MUST
BF PLACED ON IHE GROUND COMPLEIELY WHILE WALKING IN ORDER 10
MAINTAIN .
#As BALANCE

Re DIRECTION

Ce FLEXIBILITY

D» SPEED

nntio

1
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AS A RESULT OF EXPERIMENTING WITH AND EXAMINING BONES, THE

STUDENT WILL DEMONSTRATE AN UNDFRSTANDING OF THE CHARACTERISTICS

- OF BONE 11SSUE AND SIRUCIURE By sELECH ING CORRECI OuiCOMES FROM
EXPFRIMFNTAL SITUATIONS. %3n

CHOOSF THF COPRFCT ANSWFR,

IN ITS NATURAL STATEs A BONE WHEN RENT wILL o

o011

!

2400034



“A mpepe TN P NP PTECES 2600034

Be CURVE 10 A 1 SHAPE 2400034
Ce RETURN TO ITS ORIGINAL SHAPE. 2400034
De REMAIN RENT. :
AFTER PLACING A BONE IN THF DILUTED HYDROCHLORIC ACIDs IT 2400035
NO LONGER CONTAINS THE HARD SUBSTANCE CALLED o 2400035
o LEAD : 2400035
Be IRON 2400035
*¥Ce CALCIUM 2400035
De COPPER . 2400035
WHEN A BRONE IS BROKEN THE HARD OUTSIDF LAYER BREAKS VERY EASILY 0036

WHILFE THE INSIDE HAS

¥Ae A SOFTER MATERIAL THAT REQUIRES A GREAT DEAL OF PRESSURE TO
BREAK « )

Be A HARD MATERIAL THAT REQUIRES A LIGHT TAP TO BREAK.

Ce A HARD MAIERIAL THA! REQUIRES A GREA! DEAL OF PRESSURE TO
BREAK o

De A SOFT MATERIAL THAT WILL BREND RATHER THAN BREAK INTO
SEVERAL PIECES.
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THE STUDENT WILL DEMONSIRATE AN UNDERSIANDING OF IHE KINDS OF 0012
BONE FRACTURES AND THEIR TREATMENT BY CHOOSING FROM A LIST THE
TREATMENT OR IYPE OF INJURYe %30

CHOOSE THE CORRECT ANSWER. 1
A FRACTURED LIMB CAN BE IMMOBILIZED THROUGH THE USE OF 2400037
Ae STILTS., 2400037
*Be SPLINTS. 2400037
Ce A TOURNIQUET. _ 2400037
‘De ANTISEPTIC. 2400037
A FRACTURED RONE MAY BE DETECTED WHEN A DOCTOR TAKES 2400038
*he AN X-—RAY. . 2400038
Be A PICTURE. 2400036
Ce A SLIDE. ' 2400038
De A SPECIMEN. 2400038
FRACTURE TYPES MAY EITHER RE - 2400039
Ae SIMPLE 0OR COMRINATION, e 2400039
Be COMPOUND 0OR COMPLEX, o 2400039
Ce COMPLFX OR SIMPLE. : 2400039
*De SIMPLE OR COMPOUNDS 4 2400039

#********************************************************(}******************

THE STUDENT WILL DFMONSTRATE HIS KNOWLEDGE OF BONES BY SELECTING 0189
THF CORRECT FUNCTION FOR GIVEN RONES. %8n

CHOOSE THE CORRECT ANSWER.
ONE FUNCTION OF RONES IS TO 1255

Ae GROW SKIN.

Re CARRY FOOD TO ALL PARTS OF THE BODY.
#Ce PROTECT DELICATE ORGANS IN THF RODYe

'R0 g
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Ds PROTECT YOUR SKiLLe

THE VERTEBRAE OR SPINAL COLUMN IS MADE TO PROTECT THE 1256
#Ae NERVES.

Be PELVIS.

Ce POINTS.

De HINGE.

BONES ARE CONNECTED SO THAT THEY CAN BEND AND MOVE AT 1257
A« NERVES.
Be PELVIS.
#Co JOINTS.
De HINGE.

BNANES MANUFACTURF %MAKEn ‘ 1258
*Ae BLOOD CELLS.
Be NERVE CFLLSa
Ce BRAIN CELLS,
De MUSCLE CELLS,

THE TYPE OF JOINT AT THE KNEE IS 1259
Ae BALL~AND-SOCKET-e
*Be HINGE .
Ce PIVOTe.
De SLIDING.

THE TYPE OF JOINT AT THE SHOULDER IS 1260
Ae SLIDING.
Be PIVOT.
Ce HINGE,

*De BALL~AND-SOCKET.

THE BONES ARE NECESSARY TO 1261
Ae CARRY FOOD TO CELLSe.
Be BREATHE OXYGEN,
Ce CARRY OXYGEN TO CELLS.
- #De SUPPORT YOUR BODY. -

THE HEART AND LUNGS ARE PROTECTED BY THE ' 1262
" Ae SKULL.
'*Bo RXRS.

Ce PELVIS.

De VERTEBRAE.

LA 22 2 2 X 22T *****************************l*****-I-********i******************‘****

REPRODUCTION

THE STUDENT CAN SHOW HIS KNOWLEDGE OF REPRODUCTION [N PLANTS TO 0191
REPRODUCTION IN MAMMALS BY IDENTIFYING THE FUNCTION OF PLANT AND
ANIMAL REPRODUCTIVE STRUCTURES OR CELLSe. %2n

CHOOSE THE CORRECT ANSWER. o1

WHICH OF THE FOLLOWING SERVES THE SAME FUNCTION IN PLANT AND 1270
ANIMAL REPRODUCTIONO

Ae PISTIL
*Be SPERM CELL

r-i |




cy POLLFN
De STAMEN

THE FUNCTION OF THE EGG CELL IN REPRODUCTION OF PLANTS OR ANIMALS 1271
Is 710

A« PRODUCE A HEALTHY PLANT OR ANIMAL.

Be SUPPLY FOOD TO THE EMBRYC.

Ce PRODUCE A SEED IN THE OVARY.

*De SUPPLY HALF OF THE CHARACTERISTICS FOR THE OFFSPRING.
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HEALTH

THE STUDENT WILL ANALYZE THE KINDS OF IMMUNITIES TO DISEASES BY 0117
SELECTING WHETHER THEY ARE ACTIVE IMMUNITIES, PASSIVE IMMUNITIES,
DOP CAMNsT BE DETERMINEDe %4n

THOOSE THE CORRECT ANSWER. 1

LONGTIME [IMMUNITY FROM SMALLPOX RESULTS FROM HAVING HAD THE : 0451
DISEASEe THIS IMMUNITY IS

#Ae ACTIVE

Be PASSIVE

Ces CAN NOT BE DETERMINED

LONGTIME IMMUNITY FROM YELLOW FEVER RESHULTS FROM HAVING HAD THE 0452
DISEASEe THIS IMMUNITY IS

*Ae ACTIVE

Be PASSIVE

Ce CAN NOT BE DETERMINED

IMMUNITY FROM GERMAN MEASLES RESULTS FROM GAMMA GLOBULIN WHICH 0453
IS A PROTEIN IN BLOOD PLA%MA. THIS IMMUNITY IS

Ae ACTIVE

#Be PASSIVE

Ce CAN NOT BE DETERMINFD

SHORT TIME IMMUNITY FROM DIPHTHERIA RESULTS FROM ANTIBODIES PASS— 0454
ED FROM MOTHER YO NEWBORN. THIS IMMUNITY IS
Ae ACTIVE

*Be PASSIVE
Ce CAN NOT RE DETERMINED
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THE STUDENT CAN APPLY HIS KNOWLEDGE OF MICROORGANISMS BY o o118
CHOOSING REASONS WHY MAN CAN SURVIVE IN A WORLD OF MICROORGANI~-
15MS. %2O

CHOOSE THE CORRECT ANSWER. ‘ I

SINCE BACTERIA HAVE A FAST RATE OF MULTIPLICATIONs THE REASON o 0455

THFY DONT TAKE OVER THE WORLD IS C 2400454
Ae THE PEOPLE KILL THEM AS QUICKLY AS THEY MULTIPLY. ' 2400454
*Be THE CONDITIONS FOR GROWTrH ARENsT ALWAYS IDEAL.

)




Ce BALILRIA ESCAPE 1THRUIIGH irl ATMOSPHER!:z e

CHOOSE THF INCORRECT RFSPONSE.

«» WHEN A MICROORGANISM 1S FOUND TO BE RESPONSIBLE FOR A DISEASE,
i,ONE WAY TO PREVENT SPREAD OF THE DISEASE ON A LARGE SCALE IS TO
#Ae LET THE DISEASE RUN ITS COURSE AND HOPE FOR THE BEST.
Re TRY TO DEVELOP A VACCINE TO PREVENT THE SPREAD OF THE
DISEASE.
Ce ISOLATE THOSE WITH THF DISFASE SO THEY CANT CONTAMINATE
FVERYONF,

Fa004by
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THE STUDENT WILL APPLY THE PRINCIPLES INVOLVED [N THE BODY,S
FIGHT AGAINST INFECTION RBY IDENTIFYING CAUSATIVE RELATIONSHIPS IN
A HYPOTHETICAL SITUATIONe %5u

SEVERAL ROYS WERE PLAYING RASEBALL IN THE SCHOOL PLAYGROUND.
WHILE ONE BOY WAS RUNNINGs HE FELL AND SCRATCHED HIMSELF

BADLYs HE GOT UP AND HURRIED TO SECOND BASE,s BRUSHED HIMSELF
OFF s AND CONTINUED WITH THE GAME. TWO DAYS LATER HIS LEG BECAME
INFECTED. :

WHAT IS THE FIRST THING HE SHOULD HAVE DONF:TO PREVENT THISO
Ae CALL A DOCTOR

*¥Be WASH THE WOUND
Ce POUUR ON IODINE
De SPIT ON IT TO CLEAN IT

( WHAT 1S THE REAL CAUSE FOR THE INFECTION, -
*Ao BACTERIA
Be DIET
Ce PLAYING RALL

THE TWO DAY LAPSE PERIOD BEFORE THE INFECTION APPEARED PROBABLY 15
DUE TO
Ae WEAK BACTERIA
*Be BACTERIA GROWTH
Ce WHITE BLOOD CELLS
"NDe POOR CIRCULATION

THE INFECTION
*Ao BACTERIA.
Be WHITE BLOOD CELLSe
Ce BOTH A AND Be
De NEITHER A NOR B

IS MADE OF

WOULD YOU HAVE BFEN SURPRISED THAT THE BOY GOT THE INFECTlONO'WHY
Ae YES

Be NO
Ce MAYBE
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( THE STUDENT WILL DISTINGUISH BETWEEN ANTIBODIES -AND ANTISEPTICS,

AND ANTIBIOTICS BRY MATCHING THE WORD WITH ITS CORRECT DEFINITION,.
%30

X4
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TIGERE THE TOPRECT ANSWER. 1

3ERM KILLERS PRODUCED INSIDE THE BODY ARE CALLED 2400591
Ae ANTISEPTICS. 2400591
Be ANTIBIOTICS. 2400591

#Ce ANTIBODIES 2400591

SERM KILLERS PRODUCED BY LIVING MATERIALS OUTSIDE THE BODY ARE 2400592
Ae ANTISEPTICS. 2400592

#*Ba ANTIBIOTICSe. 26400592
Ce ANTIBODIES 2400592

3ERM KILLERS MADE FROM NON-L IVING CHEMICALS ARE 2400593

#Ae ANTISEPTICS. 2400593
"Be ANTIBODIES. : 2400593
Ce ANTIBIOTICS. ' 2400593
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THF STUDENT WILL APPLY HIS KNOWLEDGE OF THE BODYsS DEFENSE . 0277

AGAINST INFECTION BY IDENTIFYING WAYS THAT BACTERIA ARE DESTROYED'
BY THE BODY. %3n

CHOOSE THE CORRECT ANSWERs . o 1
BACTERIA ARE IN THF AIR ALL AROUND YOUe THEY LAND ON YOUR SKINs 2400594
AND ARE TAKEN IN WHEN YOU FAT AND WHEN YOU BREATHE, 2400594

THE PRIMARY REASON THAT YO!!R LUNGS ARE NOT FILLED WITH DEADLY
BACTERIA IS DUE TO .
Ae WHITE BLOOD CELLS 2400594
¥*Be MUCUS CELLS | 2400594
Ce ANTIBODIES
. De DIGESTIVE JUICES

AS YOU EAT,s BACTERIA FROM THE AlR, YOUR SKINs AND YOUR MOUTH 2400595
INFECT YOUR FOODe THE PRIMARY REASON THAT FOOD DOES NOT PUT
MORE BACTERIA IN THE BODY IS DUE TO THE WORK OF

Ae MUCUS CELLS 2400595
Be WHITE BLOOD CELLS 2400595
*Ce DIGESTIVE JUICES 2400595
De ANTIBODIES 2400595
WHENEVER YOU CUT OR SCRATCH YOURSELF, BACTERIA GET INTO YOUR 2400596

BODYe THE PRIMARY RFASON THAT CUTS OR SCRATCHES DO NOT CAUSE
MORE INFECTION IS DUE TO THE WORK OF

Ae ANTIBIOTICS : 2400596
Be MUCUS CELLS
*Ce WHITE BLOOD CELLS ' 2400596

De DIGESTIVE JUICES
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CHARACTERISTICS OF ANIMALS

<4
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THE STUDENT WILL DESTINGUISH BETWEEN VERTEBRATES AND INVERTEBRATES n038
Ay CORPECTLY CILACCSIFYING A GIVEN 1L1ST OF CHARACTERISTICS, %4

CHOOSE THE CORRECT ANSWER. 1
ALL VERTEBRATES HAVF ' 2400169
*Ae BACKBONES, 2600169
RBe ANTENNAE , 2400169
Cs HAIR® 24600169
De LUNGSs . 2600169
ALL ANIMALS WITH BACKBONES ARE 2600170
Ae INVFRTFRRATES. 2400170
*Re VERTERRATES. 2400170
C. PEOPLE. 24600170
Ne SKINNY. - 2400179
EMPTY SPOOLS ARE STRUNG ON A PIECE OF ROPE TO MAKE A MODEL OF A 2400171
BACKBONE. THE SPOOLS STAND FOR 2400171
Ae THE BRAIN. 2400171
Bo NERVESS 2400171
#Co VERTEBRAE. 2400171
Ds RIRS. 2400171
EMPTY SPOOLS ARE STRUNG ON A PIECE OF ROPE TO MAKE A MODEL OF A 0172
BACKBONE. THE ROPE STANDS FOR ’
Ae THE BRAIN. 2400172
*Be THE NERVE CORD. ' 2400172
Ce BONESS . 2400172
De THE NERVOUS SYSTEM. 2400172

X Y Y TR PE TS TR AT TR TR TR X ST R R R ETEETE Y T T S A T X 2 X 2 ¥

THE STUDENT WILL DEMONSTRATE AN UNDERSTANDING OF THE CLASSIFICA- 0033
TION OF ANIMALS AS VERTEBRATES OR INVERTEBRATES BY PUTTING
ANIMALS INTO THEIR PROPER CLASS. %5m

CHOOSE THE CORRECT ANSWER., ‘ 1
WHICH OF THESE 1S AN INVERTEBRATEO 2600173
Ae TURTLE ' 2400173
Re SMAKE . | 2400174
%#Co CATERPILLAR | 2600173
De LIZARD : 2400173
ALL OF THE FOLLOWING ARF VERTEBRATES %EXCEPT# THE - 2600174
" Ae DINOSAURS - 2600174
Be MOUSE. 2400174
%Co BEETLE, ' 2400174
De MAN - , 2600174
ALL OF THE FOLLOWING ARE INVERTEBRATES *EXCEPT# THE 2400176
As STARFISHe | . | 2400176
*Re SFA GULL. | 26400176
Ce TAPE WORM, 4 2400176
De SAND DOLLAR. ‘ | 2400176
ALL OF THE FOLLOWING PAIRS OF ANIMALS BELONG TOGETHER *EXCEPT# 2400177
As RABBIT AND MOUSE. 2400177
#B+ TURTLE AND CLAM. . 2400177
%5 |
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Ce i Ssh LEARE AND LTZARD. 400177
De ROBIN AND OWL. ' 2400177
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THE STUDENT WILL DEMONSTRATE A KNOWLEDGE OF THE FIVE CLASSES OF 0040
VERTEBRATES BY SELECTING THE CHARACTERISTICS FOR EACH CLASS. %5n
CHOOSE THE CORRECT ANSWER 1
ANIMALS THAT LIVE PART OF THEIR LIVES IN WATER AND THE REST OF 2400178
THEIR LIVES ON LAND ARE 2400178
As BIRDS, _ 2400178
Re FISH, ' 2400178
Ce REPTILES 2400178
#De AMPHIRIANS., o 2400178
Ee MAMMALS 2400178
ITS BODY 15 COVERED WITH SCALES OR PLATESe IT LAYS ITS EGGS 2400179
ON LANDe THE EGGS HAVE SOFT SHELLSe IT LIVES ON LANDe IT HAS 2400179
LUNGSe IT IS 2400179
As A BIRDs ’ 2‘000179
Bo A FISH. : ) . 2‘000179
#Co A REPTILE, : 2400179
Ne AN AMPHIBIANe . 2400179
Fo A MAMMAL . 2400179
A IS THE ONLY KIND OF ANIMAL THAT HAS HAIRe 2400180
A« BIRD 2400180 .
As FISH 2400180
Ce REPTILF . 2400180
Ne AMPHIBIAN 2400180
*Fo MAMMAL . , 2400180
N
WHICH OF THE FOLLOWING IS %NOT* TRUE OF ALL BIRDSO ALL BIRDS 2400161
*As CAN FLY. 2400181
Be HAVE FEATHERS e 2400181
Ce HAVE ONE PAIR OF LEGS. . 2400181
De HAVE LUNGS,. , 2400181
WHICH ONE OF THE FOLLOWING IS #NOT*# A CHARACTERISTIC OF MAMMAL SO 2400182
- WA, THEY LAY EGGS 2400182
Be THEY HAVE HAIR 2400182
Ce THEY HAVE A BACKBONE 2400182

De CAN NURSE THEIR YOUNG

»
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THE STUDENT CAN APPLY THE CONCEPT THAT LIVING THINGS ARE INTERDF- 0064
PENDENT WITH THEIR ENVIRONMENT BY SELECTING EXAMPLES WHICH
SHOW THE RELATIONSHIPe %4n

CHOOSE THE CORRECT ANSWER. 1

AS FAR AS WE' KNOWs THE MOON HAS NO ATMOSPHERE, SURFACE WATER OR 0273

O PLANTS. THE BEST REASON WHY MAN CANNOT LIVE ON THE MOON AS IT 2400272
ERICISy 1S THAT - 2400272
= #As ALL LIVING THINGS DEPEND UPON THEIR ENVIRONMENT. - . 2400272

Be ALL LIVING THINGS HAVE { IFF ACTIVITIFC e THAT 1C. THFY MOVE . 20007



w

GROWs AND SO ONa 2400272

T NMAMOTSTE OO DooanTr A AMTMALS, 2600272
De LIVING THINGS INHERIT CERTAIN CHARACTERISTICS. 2400272
IN ORDER TO STAY ALiVE ON THE MOONs SPACE EXPLORERS MUST TAKE 0274
CERTAIN THINGS WITH THEM FROM IHE EARTHe WHICH OF THE FOLLOWING 2400273
WOULD THEY *NOT#* TAKEN 2400273
Ae AIR TO BREATHE 24002773
Be WATER TO DRINK : 24002773
®Ce SEEDS TO PLANT 2400273
De FOOD TO EAT 2400273
Ee SPECIAL CLOTHES T0O PROTECT THFEM FROM THE EXTREME HEAT AND 2400273
COLD - 2400273

A PLANT THAT GROWS IN A HOTs MOIST JUNGLE IS MOVED TO A COLDys 0275
DRY PLACEe THE PLANT PRCBABLY 2400274
Ae GROWS BIGGERs 2400274
Be GROWS MORE LEAVES. ' 2400274
Ce NEEDS MORE AlIR. 2400274
¥De DIES. 2400274
ALL OF THE FOLLOWING SHOW THAT LIVING THINGS DEPEND UPON THEIR 0276
ENV IRONMENT *EXCEPT* ‘ 2400275
Ae DINOSAURS HAVE BECOME EXTINCT. 2400275
Be FISH MUST LIVE IN WATFR. ) 2400275
*Ce THE EARTHsS SURFACE HAS CHANGED. 2400275

De SOME PLANTS ARE NOT GREEN, 2400275
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;( THE CHILD WILL SHOW AN UNDERSTANDING OF LIVING AND NONLIVING 0065

THINGS BY IDENTIFYING THE FSSENTIAL WAYS IN WHICH LIVING THINGS
DIFFER FROM NONLIVING THINGS. %&4n

GHOOSE THE CORRECT ANSWER. 1

WHICH OF THE FOLLOWING IS TRUE ONLY OF LIVING THINGSO 0277
A« CHANGE IN SHAPE 24600276 -
Re MOVE ' 2400276
*Ce REPRODUCE THEIR OWN K IND : 2400276
De CHANGE IN SIZF 2400276
WHICH OF THFSE [TEMS DOFS ®NOT* COME FROM A LIVING THINGO 0278
Ae BONES 2400277
Re LEAVES 2400277
Ce WOOD : : 2400277

*D.« IRON ‘
Fe FEATHERS | 2600277
WHICH OF THE FOLLOWING *CANNOT* REPROPUCED : 0273

*Ae SEA SHFLLS :

Ae ROSEBUSHES C 2400278
Ce ROBINS | | 2400278
De SNAILS . 2400278
T ALL OF THE FOLLOWING ARE CHARACTERISTICS OF LIVING THINGS 0280
< *FXCEPT* 2400279
Ae THEY ARF DIFFFRFNT FROM THINGS THAT ARE NOT AL IVE. S 26400279
RBe THEY USE AIRs WATERy AND FOOD. © 2400279

Co THEY INCLUDE PLANTS AND ANIMALS, 2400079




ADe VHEY CAN LIiVE iiv ARY KIND OF ENVIRONMENT o

2400277
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THE STUDENT CAN RELATE THE FUNCTIONS OF A LIVING CELL T0
THE STRUCTURE OF A STANDARDIZED PICTURE OF A CEilLe. %100

CHOOSE THE CORRECT ANSWER WHICH DESCRIBES THE STRUCTURE OF A
TYPICAL ANIMAL CELL.

THE LIOQUID CONTENTS OF AN ANIMAL OR PLANT CELL EXCLUDING THE
NUCLEUS 15

Ae CELL MEMBRANE.

Be CELL WALL,

Ce PROTOPLASM.

*De CYTOPLASMe

THE THINs SEALED COVERING OF AN ANIMAL CELL IS
#As CELL MEMBRANE.

Re CELL WALLe
- Ce PROTOPLASM.

De CYTOPULASM.

THE BUILDING UNIT OF ALL PLANTS AND ANIMALS 1S THE
Ae CELL MEMBRANES.
Be CELL WALL.
Ce PROTOPLASM.

*De CELL

A SMALL, DENSE BODY WHICH CONTROLS THE ACTIVITIES OF A LIVING
CELL IS THE

Ae CELL MEMBRANE.

Be CELL WALL.

#Co NUCLEUS.

De CYTOPLASM.

Fe PROTOPLASM.

- THE CONTROLLERS OF CELL DIVISION ARE
Ae CELL MEMBRANES

*8, CHROMOSOMES.
Ce NUCLET.

* De VACUOLES.
Es CELL WALLS.

THE LIVING MATERIAL OF A CFLL WHICH INCLUDES CELL MEMBRANE
CYTOPLASM AND NUCLEUS 1S

Ao CELL MEMBRANC,
R% CELL WALLe

¥Co PROTOPLASMe

De CYTOPLASMe

ALL LIVING THINGS, BOTH PLANT AND ANIMAL s ARE MADE OF
Ae CELL WALL.

#Be PROTOPLASMe
Co CELLULOSE.

THE.MOST ACTIVE PART OF A CELL IN CELL DIVISION IS5 THE
Ae CELL MEMBRANE,
Be CYTOPLASM.

0079

0008

0340
2400339
2400339
2400339
2400339
2400339

0341
2400340
2400340
2400340

. 2400340

0342
2400341
2400341
2400341
2400361

03413

2400342
2400242

2400342
2400342

344

0345
2400344
2400344
2400344
2400344
2400344

N346
2400345
2400345

2400345

0347
2400346
2400346
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¥D. NUCLFELUIS, 2400346

THE STRUCTURE FOUND IN THE PLANT CELL BUT NOT THE ANIMAL CELL N348

IS THE

*Ae CELL WALLe : 2400347
‘Be NUCLEUS. 26400347
Ce CELL MEMBRANFE, 2400367
De PROTOPLASMa 2400347

A GROUP OF CELL TISSUES MAKE UP AN ‘ 349
Ae SYSTEM, 2400348
*B. ORGAN. 2400348
Ce ORGAN ISM, 2400348
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THE STUDENT WILL KNOW THE MEANING OF MICROORGANISM BY SELECTING 0111

[TS CORRECT DIFINITION. %1nO

CHOOSE THE CORRECT ANSWER. 1

A MICROORGANISM CAN BE DEFINED AS A LIVING ORGANISM THAT ‘ n428
Ae CAN RE SEEN RY THE NAKED EYE. ' 2400427
¥Be IS -ONLY VISIRLE WITH THE USE OF A MICROSCOPE, 2400427
Ce IS ONLY VISIBLE DURING CERTAIN STAGES OF GROWTH. ' 2400427
De CAN BE SEEN ONLY DURING THE DAYTIME. _ 2400427
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THE STUDENT CAN APPLY HIS KMNOWLEDGE OF MICROORGANISMS BY nile
SELECTING THE EFFECTS OF MICRORGANISMS ON THE BODY. %2n 4
CHOOSE THE CORRECT ANSWER. 1
IF BACTERIA ARE ALLOWED TO GROW WITHOIT CLEANSING A WOUNDs IT IS 0449
LIKFLY THAT 2400448
Ae THE WOUND WILL HEAL QUICKLYe 2400448
#Be THE WOUND WILL RECOME INFECTED. - 2400448
Ce THE BACTERIA WILL DIE QUICKLY. 2400448
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THE STUDENT CAN APPLY HIS'KNOWLEDGE ON THE MA INTENANCE OF LIFE 0130
AND HOW TT RELATES TO THE FOOD CYCLE OF FISHs BY SELECTING THOSF

CONDITIONS THAT ARE NFECESSARY FOR THE EXISTENCE OF THIS CYCLE,.
%30

CHOOSE THE CORRECT ANSWER. - - Y
ONE CONDITION NECESSARY FOR FISH TO LIVE 15 Lo 2400481
*Ae THEY MUST EAT. | 2400481
Be THEY MUSY BF MORTILF. 2400481
Ce THEY MUST REPRODUCE. | 2400481
De THEY MUST LIVE IN FRESH WATER. 26400481
FISH CAN CARRY ON ALL OF THE FOLLOWING FUNCTIONS *EXCEPT* 2400482

A+ BREATHING
*¥R s MANUFACTURING 1TSS OWN FOOD. PaTal
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s REPRODUCENG

. SYTMMING
“Z REMAINS OF DEAD AMIMALS AND PLANTS FALL TO THE BOTTOM OF THE 2400483
2C s ANIMALS FEED ON THESE REMAINS AND RELEASE MINERALS e 2400483
I CH OF THE FOLLOWING EXPLAINS HOW THESE MINERALS ARE PASSED TO 2400483
" 5HO 2400483
A. THE FISH OBTAIN MINFRALS BY SWALLOWING THE OCEAN WATER., _ 2400483
*i3¢ THE FISH OBTAIN MINFRALS BY EATING SEAWEED WHICH HAS FED ON 2400483
THE REMAINS., 2400483
£+ THE FISH OBTAIN MINERALS BY EATING THE REMAINS OF DEAD 2400483
ANTIAALS s 24004873
Ds NOGNE OF THE ABOVE. 2400483
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THE STUDENT WILL DEMONSTRATE COMPREHEMSION OF PLANT AND ANIMAL 0271

Ol CHARACTERISTICS BY IDENTIFYING STRUCTURES THAT PERTAIN TO
TACH TYPES %3m .

CF 208F THE CORRECT ANSWER. _ 1
THE FOLLOWING STRUCTURES ARE FOUND IN ROTH PLANT AND ANIMAL CELLS = 2400545
TXCEPT® . 2400545
A e CIHROMOSOMES, 2400545
B~ VACUOLES. 2400545
e NUCLEUS, 2400545
*Da CHLOROPHYLLe 545
HIMAL CELLS #DO NOT* HAVE A ' 546
*A, CELL VWALL . ' 2400546
e ColLb MEMBRANE, _ - 2400546
Ca NUCLEUS
SLANT CELLS ARE ABLE TO MAKE THEIR OWN FOOD BECAUSE THEY POSSESS 2400547
© TUNOMOSOME S, 2400547
8. CELL WALL S 2400547
+“Co CHLOROPHYLLe 547
D. CYTOPLASM ¢ 2400547
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THE STUDENT WILL DEMONSTRATE KNOWLEDGE OF THE PARTS OF THE CELL 0272
CLTTHIMG A FUNCTION WITH A CORRESPONDING CELL PART. %4n
CHOO0SE THE CORRECT ANSWER. ' 1
IVERY CELL HAS PARTS FOR STORING MATFRIAL. THESE ARE 2400549
“vs MITOCHONDRIA 2400549
Ae NUCLEI, ' g 2400549
HC 5 VICUOLFSe : , 2400549
D MEMBRANES e 2400549
FHE PART OF PLANT CELLS WHICH GIVTS IT SHAPE IS THE 0550 .
Po- CELL WALL 26400550
"R CYTOPLASMe 2400550
£Coe CHROMOSOMES, o 2400550

De VACUOLES 430 © 2400550

,};




° Be MAGGOT ' :

THE CHROMOSOMES ARF FOHIND TN THE
Ae PROTOPLASM
*Be NUCLEUS.
Ce GENESe
De VACUOLES.,

THE PART OF THE CELL WHICH DETERMINES THE CELLS HEREDITY IS

Ae CELL WALL.

Re PROTOPLASM,.

Ce NUCLEUS,
*Ne GFNF,

sannn
240059
2400551
2400551
2400551

2400552
2400552
2400552
24006557
2400552
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INSECTS

THE STUDENT WILL DFEFMONSTRATE A KNOWLEDGE CF INSECTS BY SELECTING

FACTS PERTINENT TO THEIR PARTSs GROWTHs AND ADAPTABILITY. %9n

CHOOSE THE CORRECT ANSWER.

WHICH OF THE FOLLOWING IS *NOT* ONE OF THE PARTS OF AN
Ae HEAD
*¥Re FINS
Ce THORAX
De ABDOMEN

" WHICH OF THESE 15 AN INSECTO

Ae SPIDER

Be CENTIPEDE
*¥Co CRICKET
De TICK

WHICH OF THE FOLLOWING IS *NOT® TRUE OF *ALL* INSECTSD
ALL INSECTS HAVE
Ae SIX LEGS.
Re THREE BRODY PARTS.
Ce OUTSIDE SKELETONS
*De WINGS,

THE BUTTERFLY IS AN [NSECT THAT GROWS IN FOUR STAGES.
STAGESs *IN ORDER®s ARF

*¥Ae EGGSy LARVAEs PIPAEs ADULTS.

Re EGGSy NUMPHSy PUPAEs ADULTS,

‘Ce ADULTSs EGGSs PUPAE, NYMPHS.

De EGGSs PUPAEs LARVAEs ADULTS.

THE GRASSHOPPER GROWS IN THREE STAGES.
IS *NOT* ONE OF THE STAGESO
Ae NYMPH
*Be PUPAE
* Ce ADULT
Pe EGG

INSECTO

THESE

WHICH OF THE FOLLOWING

NHICH OF THESE IS #NOT* ANOTHER NAMF FOR THE LARVAL STAGEN

As WORM

nnagy

-

2400198
2400198

2400198
2400198

2400199
2400199
2400199
2400199
2400199

2400200
2400200
2400290
2400200
24600209
2400200

2690201
2400201
2400201
2400201
2400201
2400201

24002n2
2400202
2600202
2400202
2400202
2400202

26002073
2400203




Ce WATELRFILLAK
¥De NYMPH

THE RESTING STAGF OF AN INSECT [S CALLED THE STAGE.
*Ae PUPAF

Be EGG

Ce LARVAL

De ADULT

WHAT 15 THE *MAIN* REASON WHY A NYMPH MOLTSO
Ae TO PREPARE TITSELF FOR THE MATING SEASON.
BRe IT DOES NOT HAVF WINGSe
Ce TO MAKE MOVEMFNT FASIFR,

*De IT IS STILL IN THE GROWING STAGF,

WHICH OF THESE IS #*NOT* A SPECIAL WAY INSECTS HAVE FOR SURVIVINGO
Ae EYES

Be CAMOUFLAGE

Ce SENSE OF SMELL
De OFFENSTVE GASES
#*Fa INSECTICIDES

2400203
2400203

2400204
2400204
2400204
2400204
2400204

2400205
2400205
2400205

2400206
2400206
2400206
2400206
2400206
2400206
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THE STUDENT WwILL SHOW A KNOWLEDGE OF SOCIAL INSECTS BY SELECTING

CHARACTERISTICS THAT PERTAIN TO THEIR FUNCTIONS AS A SOCIAL
INSECT. %10n

CHOOSE THE CORRECT ANSWER,

WHICH OF THESE IS *NOT# A SOCIAL INSECTO
¥Ae BEETLE

Be WASP

Ce HORNET

De HONEYREF

F e ANT

THF BEE THAT CANNOT STING IS THE
Ae QUEEN.
Be WORKER.

*Ce DRONE S

THE LAYS THE FGGSe
*Ae QUEFN

Re WORKER

Ce DRONE

De LARVA

THE BEE THAT DOES *NOT#* WORK IS THE
Ae QUEENS
Be WORKERS
¥Co NRONF o : K

SOFTBODIEDs HELPLESS WHITE GRURS THAT CANNOT FEED THEMSELVES
ARE :

Ae QUEENSe.
Be WORKERS.
Ce DRONES.
#De LARVAE,

o<

0045

1

2400207
2400207
2400207
2400207
2400207

2400208
2400208
2400208
2400208

2400209
2400209
2400209
2400209
2400209

2400210
2400210
2400210
2400210

2400211
2400211
2400211
2400211
2400211
2400211




WHTCH OF THE FOULLOWIMNG 1S #NAT* A JOR OF THE WORKFR BEEN 2unnprn
Ae GATHER NECTAR : 2400212

Bs CONSTRUCT THE HONFYCOMA 2400212

Ce ACT AS A NURSE 2400212

? *De LAY EGGS 2400217
WHFN THF OLD GUEFN AND HER FNLLOWERS LFAVE THE HIVF T0 FSTARLISH 264002113

A NEW SOCIETY, IT 1S CALLED 2400217
*A. SWARMING. 24002173

Re MIGRATING 2400213

Ce POLLINATING, 24002113

i De SEARCHING 2400213
THE MAIN *DIFFERFENCE# RFTWFEN SOCIAL INSECTS AND PEOPLE IN OUR 24600214
SOCIETY 1S THAT 2400214

Ae PFOPLF WORK TOGFTHFR. 2400214

Be PEOPLE SHARE TASKS. 2400214

*Ce PEOPLE CAN CHOOSE THE WORK THEY WANT TO DO AND CAN CHANGFE 2400214
THEIR MINDS. 7an0214

De PEOPLE HAVE SOLDIERS TO HELP PROTECT THEM. : 2400214

THE MAIN REASON WHY RFES TRAVEL FROM FLOWFR TO FLOWER 1§ 2400215

Ae TO CARRY POLLENS 2400215

#Be TO GATHER FOOD FOR THFMSELVES, 2400215

Ce TO GET A VARIETY OF NFCTAR. 2400215

De TO MAKE HONEY FNOR PEOPLE, ' 2400215

BEES LIVE IN HIVESs ANTS LIVE IN 2400216

Ae NESTS. 2400216

- *B. COLONIES. 2400216
( ~ Ce DENS. 2400216

De HIVES, ' 24002164
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CHARACTERISTICS OF PLANTS

THE STUDENT wiLbL COMPREHEND THE TwO FUNCTIONS OF THE PLANT ROOT n001

BY CHOOSING THESE CORRECTLY FROM INCORRECT STATEMENTS ABOUT ROOT
FUNCTIONSes %4nD

" CHOOSE THE CORRECT ANSWERe 1
THE STRUCTURF GF SUPPORT THAT FMERGES FROM A SFED 1S THF 0001
Ahe STEM. ‘ 2400001
Be LEAVESS : 2400001 )
; #Ce ROOTe 2400001
; De FLOWERS . _ 2400001
THE *PRIMARY# FUNMCTION OF THE PLANT ROOT IS TO eceecsese 0002
WATER AND MINERALS NFEDFD FOR THE PLANT TO LIVE, 2400002
, Ae. LEAVE OUT 2400002
tﬁi Re STORE 2400002
Ce RELEASE 2400002
*Do TAKE 1IN 2400002

AS THE SEEDLINGS GROWs STUDENTS WILL NOTICE THE




UF ROOT HAIRS ON FACH ROOT. 2400001

*As AM TNCRFASE 2400003
Be A DECREASE 2600003
Ce NO CHANGE 2400001
De NONE OF THESE 2400003 7

THE SUPPORTING SOURCFE OF A PLANT 1S FORMED BY THE 04
Ae BUDS ‘ , 2400004

*Be, ROOT, _ 2400004
Ce STEM, 2400004
De LEAVESS 2400004
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THE STUDENT SHOWS HIS KNOWLEDGE OF THE FIVE TYPES OF TISSUE BY 0002
IDENTIFYING FACTS ABOUT THFIR STRUCTURE AND FUNCTION. %4n
CHOOSE THE CORRECT AMSWER. , 1
A SINGLE TYPE OF TISSUE IS COMPRISED OF A GROUP OF 05
*A. CELLS.
Be MOLECULES.
Ce ORGANS.
De SYSTEMS,
FACH TISSUE HAS A TASK o 6
Ae MULTIPLE 2400006
*Be SPECIAL 2400006
Ce INDIVIDUAL 2400006
De GENERAL 2400006
THE FIVE TYPES OF TISSUFE ARE - 2400007
Ae DIGESTIVE, SKELETALs NERVEs EPITHELIALs BLOOD 2400007
Re EXCRETORY, BLOODs NERVE, MUSCLEs DIGESTIVE 2400007
*Co BONEs MUSCLEs NERVEs FPITHELIAL, BLOOD 2400007
De MUSCLEs» BONEs NFRVEs RBLOODs EXCRETORY 2400007
YOUR SKIN IS MADE UP OF WHICH TYPE OF TISSUED 8
A« BLOOD 2400008
Ae BONE 2400008
Ce MUSCLE o 2400008
*De FPITHFLIAL . 2400008
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THE STUDENT WILL COMPREHEND THE FOUR PARTS OF A PLANT STEM 00904
SCAMBIUMy XYLEM» PHLOEM AND VASCULAR BUNDLESH BY POINTING TO THE
CORRECT LOCATION ON THE CROSS SECTION OF A STEM CHART., %2n

CHOOSE THE CORRECT ANSWER. ‘ 1
THE. PHLOEM AND XYLEM MAKE UP THE OF THE STEM, 2400013
*Ae VASCULAR BUNDLE : - 2400013
Be FIBROUS RQOOT 246000113
Ce PLANY LFAF 24000113
- De FOOD CONDUCTING TISSUF 2400017

THE CAMBIUM IS A LAYFR OF CELLS THE PHLOEM AND XYLEM. 2400014
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B, ARNIND R YY)
*Coe BETWEFN 2400014
De HINDER ?Qﬂﬁﬁlh
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THE STUDENT WILL DEMONSTRATE A KNOWLEDGE OF CLASSIFICATION OF 0027
PLANTS RY SELECTING THE CORRECT CLASSIFICATION FOR GIVEN
PLANTS. %4n

CHOOSFE THE CORRECT ANSWFR. ]

FERNSs HORSETAILS AND CLUB MOSSES ARE 2600105
Ae THALLOPHYTES. 26400105
Re BRYOPHYTES. 2400105

*Ce PTERIDOPHYTES 2400105
NDe SPERMATOPHYTES, ' 2400105

WHICH OF THESF IS ®*NOT* A SPERMATOPHYTEOD . 2400106
A. ROSE 7400106
Be EVERGREEN 2400106
Ce CUCUMBER 2400106

*De LICHEN 2400106

THE THALLOPHYTES ARE THE SIMPLEST PLANTSe THEY INCLUDF 26400197
Ae GARDEN FLOWERS. 2400107
Be FERNSs HORSETAJLSs CLIR MOSSESe 2400107

*Ce ALGAE AND LTCHENS 2400107 -
(m De MOSSES AND LIVERWORTS, 2400107
‘~ AMONG THE BRYOPHYTES ARE 2400108
As VEGETARLES AND SHRUBS., 2400108
Be GARDEN FLOWERS, 2400108
*Co MOSSES AND LIVERWORTS, 2400108
Ne FERNSs HORSETAILS AND CLUB MOSSES. 2400108
Fe ALGAE, FUNGI AND LICHFNSe. 2400108
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THF STUDENT CAN RECALL THE PARTS OF A FLOWER BY SELECTING THE 0028
CORRFCT PART FROM [TS DESCRIPTION OR LOCATIONe. %10nm
CHOOSE THE CORRECT ANSWER. ]
ONE OF THE GREEN, LEAFLIKE SECTIONS AROUND THE PETAL IS CALLED 2400105
*¥Ae SEPAL o 2400109
Be COROLLAS 2400109
Coe CALYXe )
NDe ANTHFR. 2400109
ALL OF THE PETALS TOGETHER FORM THE ' 2400110
Ae CALYXe : 2400110
Be STYLE 2400110
4> *Co COROLLA. 2400110
: @: De STIGMA 4 _ 2400110
o : |
ERIC ALL OF THE SFPALS TOGFTHER 'ARF KNOWN AS THE 2400111
i *As CALYXe 2400111

Re PETALS, 2400111




Ce wiuitrullme
De OVARY
Fe STYLES

THE STROCTURE THAT SFRVES AS A PROTECTIVE RING AROUND THE FLOWER
IS THE

*¥A, CALYXs
Be PETAL.
Ce COROLLA
Ds OVARY.
Ee STYLES

THF BULR AT THF RNDTTOM OF THF FLOWFR 1S THE
Ae PISTIL.
*e OVARY.
'Ce ANTHERS
De COROLLA
Ee CALYX

KNOB AT THE END OF EACH STAMEN IS CALLED THE
~ Ae FILAMENT.

Be OVARY.

*Ce ANTHERS

De PETUNIA.

Ee PISTIL

THE FEMALE PART OF THE FLOWER IS
Ao FTLAMENT.,
Be ANTHER.
Ce STIGMA.
*De PISTILS
Ee STAMENS

THE MALE PART OF THE FLOWER IS
*Ae ANTHER.
5. OVARY.
Ce STIGMAS
De POLLENS
Eeo PISTIL.

WITHIN THE ANTHER ceasseea DEVELOPS
As THE OVULE,.
-Be A PETAL
Ce THE SYTLE,
De THF PISTIL.
¥Fe PGULLEN,

THE PARTS THAT DEVELOP INTO SFEDS ARE_THE
Ae STAMENS.
Be OVULES.
Co PETALSS
Ds OVARIES.
*Fe POLLFNe

240011}
2400111
2400111

nilz

2400112

2400112
2400112
2400112
2400112

2400113
2400113
2400113
2400113
2400113
2400113

2400114
2400114
2400114
2400114
2400114
2400114

2400115
2400115
2400115

2400115 ..

2400115

2400115 -

2400116
2400116
2400116
2600116
2400116
2400116

2400117
2400117
2400117
2400117
2600117
2400117

2400118
2400118
2400118
2400118
2400118
2400118
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THE STUDENT wWILL SHOW A KNOWLEDGE OF FOOD SOURCES BY IDENTIFYING

p THE FOODS WHICH ARE LEAVESs STEMSs ROOTSs SEEDSy OR FRUITS OF
. PLANTSe. %4np

0073




CHOOSE THE CORRECTY ANSUYFR,

WHEN WE EAT CARROTS OR BEETS WE ARE EATING THE

PLANTY.

. Ao
¥ -
Co
Do

Ee

WHICH OF THE FOLLOWING

Ae
Re
*¥Co
De

LEAF
STEM
SEED
ROOT
FRUTT

ORANGES
PEACHES
CORN

PUMPK I N

OF THE

IS #NOT* THE FRUIT OF THE PLANTO

BROCCOL! SPEARS ARE CONSIDERED THE

°
*Be

Coe
De
Ee

LETTUCE AND CABBAGE ARE COMSIDERED THE

*Ae
Be
Ce
De
Ee

LEAF
STEM
SEED
ROOT
FRUIT

LEAVES
STEMS
SEEDS
ROOTS
FRUITS

OF THE PLANT,

OF THE PLANTS.

A
t

0295
2400294
24002%4
2400294
2400294
2400294
2400294

0296.
2400295
2400295
2400295
2400295

n297
2400296
2400296
2400296
2400296
2400296

0298
2400297
2400297
2400297
2400297
2400297
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§rik STUDENT WILL DEMONSTRATE AN UNDERSTANDING OF THE NITROGEN

CYCLE BY SELECTING THE CHANGES THAT OCCUR AT A PARTICULAR POINT

IN THE CYCLE. %8no

USING THE NI TROGEN CYCLEs CHOOSE THE CORRECT RESPONSE.
GREEN PLANTS MAKE THEIR OWN

¥As FOOD,

Be NITRATE S,

Ce. WATER®

De OXYGENe

WHEN PLANTS AND ANIMALS DECAY: THE PROTEIM IS CHANGED INTO
As HYDROGEN,
*Be NITROGEN,
Cs CARBONe
De OXYGEN.

THE SOIL SUPPLIES WHAT AGENT TO CHANGE THE WASTE PRODUCT INTO A
MITRATES AND OTHER CHFMICALSO

Ae SUNLIGHT

Be OXYGEN

Ce CARBON

¥Ds BACYERTA

IN THE COURSE OF MANY YEARSy THE SURSTANCE WHICH EVENTUALLY IS
USED BY PLANTS TO FORM PROTEINS, RECOMES PART OF A

Ae SULFATFE «

Be SULFIDF .

*Cse NITRATE

De OXIDEs

THE GREEN PLANT PRODUCES FOOD BY THE PROCESS OF
Ae RESPIRATION.
*Be PHOTOSYNTHESIS
Cs TRANSPIRATION.

NITRATES ARE USED RY THE PLANT 10 FORM
Ae STARCHES.
Be SUGARSe
Ce FATSe
*De PROTEINS.

THE BY-PRODUCT OF PHOTOSYNTHESIS IN GREEN PLANTS 1S
Av CHLOROPLASTS. :
#Be SUGAR CHANGED T0O CARBOHYDRATES %STARCHESH
Ce MINERAL S,
De PROTEIN,

THE WASTE PRODUCT PRODUCED BY ANIMALS ARE CHANGED TO
Ae STARCHES.
Ce OXIDESa
Be SUGARSe
¥De NITRATES.

0081

0009
360
2400359
2400359
24001359

0361

2400360

2400360
2400360

0362

24001361
2400361
2400361

0363

2400362
2400362
2400362
2400362

0364
2400363
2400363
2400363

365
2400364
2400364
2400364
2400364

0366

2400365
2400365

0367
2400366
2400366
2400366
2400366
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l(rAFTER STUDYING THE CHARACTERISTICS OF THE LOWER FORMS OF PLANT
mmmm AND ANIMAL CELLSe THE STUDENT CAN APPLY THIS INFORMATION TO

0107

N

DA

DISTINGUISH WHETHER A GIVEN ORGANISM - 1S A PLANT OR ANIMAL CE1 _ M




%30

CHOOSE THE CORRECT ANSWER. 1
A CELL CONTAINS CHLOROPHYLL AND MANUFACTURES ITS OWN FOOD. 0414
THIS CHARACTERISTIC 15 TYPICAL OF THE CELL OF 2400413
Ae AN ANIMAL. . 2400413
*RBe A PLANT, 2400413
Ce BOTH. 2400413
De NEITHER 2400413
PROTOPLASM IS FOUND IN A CELLe THIS CELL 1S CHARACTERISTIC OF 0415
Ae A PLANT. 2400414
Be AN ANIMAL. . 2400414
*Ce BOTH. 2400414
De NEITHER _ 2400414
THE SIZE OF A CELL IS USUALLY UNLIMITEDe THIS CHARACTERISTIC 0416
IS FOUND IN THE CELL OF 2400415
*Ae AN ANIMAL., 2600415
Be A PLANT. 2400415
Ce NEITHER 2400415
De BOTH. 2400415
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AFTER STUDYING THE CHARACTERISTICS OF BACTERIA AND MOLD, THE 0109
STUDENT CAN APPLY THIS INFORMATION TO DISTINGUISH WHETHER A GIVEN
MICROORGANISM IS A BACTERIA OR MOLDe %3m

CHOOSE THE CORRECT ANSWER. ' 1
IF THE MICROORGANISM GROWS BEST UNDER MOIST CONDITIONS, IT IS 0421
TYPICAL OF
Ae MOLD. 2400420
Bse BACTERIA. 2400420
*Ce BOTHs 26400420
De NEITHFR, 2400420
IF A MICROORGANISM RFPRODUCES ITSELF BY CELL DIVISIONs IT IS 0422
TYPICAL OF
Ae MOLD. 2400621
*Be BACTERIA. 2400421
Ce BOTH. 2400621
De NEITHER. 2400421
A MICROORGANISM BOTH HARMFUL AND HFLPFUL TO MANs 1S5 TYPICAL OF 0423
Ae MOLD. 26400422
Be BACTERIA. 2400422
*Co BOTH. 2400422
De NEITHER, _ 2400422
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THE STUDENT WILL KNOW THREE TYPES OF RACTERIA BY SELECTING ni1z
EACH TYPE FROM A GROUP OF TERMS. %3n

CHOCSE THE CORRECT ANSWER. ' 1




L

I TVAT Ar naArTEpIA 10 fApOED

425

Ae MOLD. 26006428

Be PENICILLIN, 2400428
#Coe BACILLI, 2400428
ONE TYPE OF BACTERIA IS 430 “)

Ae sSQUARE IN SHAPE

Be TRIANGULAR IN SHAPE.
*#Ce RODLIKE IN SHAPF.
De RECTANGULAR IN SHAPE.
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THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF MONOCOTS AND 0179
DICOTS BY SELECTING THE REASON FOR CLASSIFYING EACH AS SUCHe %6n

CHOOSE THE CORRECT ANSWER. 1
JOHN WAS STUDYING A CORN PLANT AND DECIDED IT WAS A MONOCOT.WHY? 1160

Ae IT HAD NET VEINS.

Be THE ROOTS WERE NOT WOODYe
#Ce THE VEINS WERE PARALLEL.

De THE STEM WAS CIRCULAR.

A SEED IS A DICOT IF IT HAS _ 1161
A« AN OVAL SHAPE,
Be ONE FOOD PART.
Co A HARD COVERING. -
#Ds TWO FOOD PARTS.

FLOWERS THAT ARE MONOCOTS HAVE : 1162 ,)
- #A. PETALS IN GROUPS OF FOUR OR FIVE.

Be PETALS IN GROUPS OF THREEy S1X OR NINEe

Ce STAMENS IN GROUPS OF TWO OR FOUR. -

Ds ANTHERS THAT ARE YELLOW.

THE TULIP TREE IS A DICOT BECAUSE THE 1163
#Ae BUNDLES OF TURES ARE ARRANGED IN A RING.

Be BUNDLES OF TUBES ARE NOT ARRANGED.

Ce LEAVES ARE PARALLEL VFINED ‘

De FLOWERS HAVE THREEs STX OR NINE PETALS.

“ONOCOTS AMND DICOTS ARE 1164
A. SPORE MAKERS., ‘
Be MOSSES,
#Ce SEED MAKERS.
De FERNS.

SOME EXAMPLES OF DICOTS ARF 1165
Ae ROSESs GRASSy AND APPLE TREESe
Be GRASSs CORNs AND WHEAT.
Ce TULIPSs FERNSs LILY.

#De ROSESs ELM TREES, AND LILACS.
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“U'E O STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF PLANT 0180
ADAPTATION BY SELECTING THF %#MOST* APPROPRIATE REASON WHY THE
GIVEN PLANTS HAVE ADAPTED THEMSELVES. %4n

o




3

CHOOSE THE CORRECT ANSWER. i

SOME PLANTS PRODUCE MANY SEEDS BECAUSE 1167
Ae THERE ARE NOT ENOUGH PLANTS.
Be ONE SEED IS PRODUCED FOR EVERY PETAL.
Ce ALL PLANTS DIE DURING WINTERS

*De NOT ALL OF THE SEEDS WILL GROW.

CACTI HAVE THICK wAXY LEAVES BECAUSE 1168
¥Ae IT HELPS KEEP MOISTURE IN THE PLANT.

Be SEVERAL LEAVES GROW TOGETHER

Ce REES PUT WAX ON THE LFAVES.

De IT ATTRACTS ANIMALS TO IT.

CACTI HAVE THORNS TO PROTECT THEM BECAUSE 1169
Ae ANIMALS LIKE TO LIE IN THEIR SHADE.
Be THORNS HELP BLOCK THE SUN.

#Ce ANIMALS TRY TO GET THFIR STORED WATER.
De ANIMALS WILL CHEW ON THE THORNS INSTEAD OF THE LEAVES.
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THE STUDENTY wILL SHOW HIS ABILITY TO DRAW CONCLUSIONS ABOUT 0181
PHOTOSYNTHESIS BY SELECTING THE CORRECT CONCLUSIONe %6mn

SFLECT THE ANSWER WHICH IS *NOT* CORRECT. 48
SEED MAKERS 1172

Ae ELM TREES
Be PETUNIAS
¥Ce MUSHROOMS

De ASTERS

SPORE MAKERS 1173
Ae FERNS

*¥Be ALGAE
Ce MOSSES
De MUSHROOMS

MAKES SEEDS FROM FLOWFRS 1174
A+ ROSES '
Be TULIPS
Ce MAPLE TREE

#De PINE TREF

MAKES SEEDS FROM (CONES 1175
*pe ELM TREE
Re CEDAR
Ces BALSAM FIR
De SPRUCE

PLANTS THAT DO *NOT* MAKE SEEDS 1176
Ae FUNGI
Be MOLD

*Cae GRASS
De ALGAE

PLANTS THAT DO *NOT* MAKE SPORES 1177
%Ae MOLD :



-

Q

ERIC

oe Acakl
Cs YEAST
De BACTERIA
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THE STUDENT WILL DEMONSTRATE HIS KNOWLEDGE OF THE FLOWER PARTS BY 0182
IDENTIFYING FACH PART IN A DIAGRAMe %71 ¥NEED DIAGRAM OF FLOWER®M

CHOOSE THE CORRECT ANSWER. 1
THE OVARY 1S NUMBER 1188
Ae TWO,. '
Be FIVE.
Cs SEVEN,
De THREE,

THE STAMEN IS NUMBER 1189
Ae THREE.
B« FOUR,
Ce OME.
De TWO

THE ANTHER IS NUMBER : 1190
Ae ONE.
Be TWOe
Ce THREE.
De FQURe

THE PETALS ARE NUMBER : 1191
Ae SEVEN.
Re THREE
Coe FIVE,
De FOUR.

THE PISTIL IS NUMBER 1192
Ae ONE.
Be FIVE,
Ce THREE.
De SIXe

THE OVULE IS NUMBER 1193
Ae TWO.
Be S1Xos
Co FOUR,
De FIVE.

THE SEPALS ARE NUMBER 1194
Ae ONF. '

Re THREE,

Ca SEVEN.

De FOURe
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THE STUDENT WILL DEMONSTRATE H1S UNDERSTANDING OF PLANTS BY 0187
SELECTING THE RELATIONSHIP I1DENTICAL TO A GIVEN RELATIONSHIP.
%1l0u



CrAmAT THE LETTER OF THE ITEM WHICH HAS THE SAME RELATIONSHIP
AS THE GIVEN PAIRe.

SFEDS ARE TO TULIPS AS SPORES ARE TO

’ Ae YEAST.
% Be FERNe
Ce MONOCOT,

*De SUNFLOWERS

SUNFLOWER 1S TO ROSE AS PINE TREE 1S TO
Ae MAPLE TREE.

*Re LILY.
Ce ELM TREFe |
De SPRUCE TREE.

-

DICOT IS TO ROSE AS MONOCOT IS TO
*Ae GRASS.,

Be WILLOW TREE.

Ce TULIP.

De DAISY.

GRASS IS TO CORN AS MONOCOT IS TO
Ae ELM TREE.
Be DICOT.

*Ce MONOCOT.
De MUSHROOMS.

YEAST IS TO MOLD AS MOLD IS TO
Ae DAISY.
Be MOSSESe

*Ce MUSHROOMS,.
De FERNS

[

pEsy

v

DICOT IS TO SEEDS AS MONOCOT IS TO
Ae FERNS.
Re FLOWERS.
Ce SPORES.

*Das SEEDS.

MOSS IS TO ROBIN AS FERN IS TO
Ae ROSEe.

*Be OSTRICH.
Ce CACTUS.
De MOSSe

FUNGI IS TO MUSHROOM AS MUSHROOM IS TO
Ae MOLDe
Be MOSSe
Ce FERN

*De POISON AMANITA.

COoCCl 1S TO BACTERIA AS MOLD IS TO
Ae FERNe
Be ALGAE.

#Ce FUNGUSe

f De MOSSe

1 FLOWERS ARE TO MONOCOTS AS CONES ARE TO
o *Ae CONIFERS.

ERIC Re DICOTS.

Ce MOSSESs

0057

1238

1239

1249

1241

1242

1243

1244

1245

1246

1247




De ALGAL.
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THE STUDENT WILL DEMONSTRATE HIS COMPREHENSION OF CELL DIVISION 0273

BY MATCHING A SPECIFIED FUNCTION WITH THE STAGE OF MITOSIS IT
DESCRIBES. %5n

CHOOSE THE CORRECT ANSWER. 1

' IN ONE CELLED PLANTSs MITOS1S 1S MAINLY FOR 24005573
Ae GROWTH. 2400553
*B. REPRODUCTION. 2400553
Ce HEALING, 2400553
De HEALTH. 2400553
HOW MANY STAGES OF MITOSIS ARE THEREO 2400554
Ae 1 2400554
Be 2 2400554
Ce 3 2400554
De 4 2400554
MITOSIS 1S CELL DIVISION FOR 2400555
Ae GROWTH. : 2400555
Be REPRODUCTION. 2400555
Ce HEALING. 2400555
#De ALL THREE. 2400555
DURING MITOSIS, THE CHROMOSOMES SPLIT DURING THE STEP CALLED 2400556
Ae PROPHASE. 2400556
Be METAPHASE. . 2400556
*Ce ANAPHASE. 2400556
De TELOPHASE. 2400556
IN MULTI-CELLED ORGANTISMS, MITOSIS IS *MAINLY* FOR 0558
Ae HEALING. 2400558
*Be GROWTHe 2400558
Ce REPRODUCTION. 2400558
De HEALTHe 2400558
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THE STUNPENT WILL ANALYZE THE PROCESS RY WHICH PLANTS MANUFACTURE 0288
THEIR OWN FOOD BY IDENTIFYING SUBSTANCFS AND CHEMICAL CHANGES
THAT MAKE UP THE PROCESS. %9n
CHOOSE THE CORRECT ANSWER. 1
PLANTS NEED SOILs WATER AND AIR FOR GROWTHe THE NAME OF THE 2400657
COLORLESS GAS THE PLANT ABSORBS FROM THE AIR 1S '
Ae OXYGEN. ' 2400657
*Be CARBON DIOXIDE, < 2400657
Ce NITROGEN, 2400657
: A TREE MAKES ITS OWN FOOD RY 2400658 ;)
' *Ae COMBINING CARBON DIOXIDE AND WATER TO MAKE SUGARS AND 2400658
Q STARCHES. 2400658
Be COMBINING OXYGEN AND WATER TO MAKE FOOD SUBSTANCES. 2400658

Ce COMBINING NITROGEN AND WATER TO MAKE SUGARS AND STARCHES, 2400658




HOW DUES Tet PLART OB TA&IR THE MINERALS FROM TiE 5O1LO 0&6LY
A. THE MINERALS ARF TAKEN IN BY THE ROOTS. : 2400659
Be THE MINERALS ARE TAKEN FROM THE AIR. 2400659

%*Co THE MINERALS ARE DISSOLVED IN WATER AND ABSORBED BY THE ROOT 2400659
HAIRS. ' 2400659

A FARMER PLANTED CORN FOR TWO YEARS IN A ROW. CORN TAKES NITRAT- 2400660

ES OUT OF THE SOILe IN ORDER TO REPLACE THE NITRATES, THE FARMER 2400660

SHOULD ' 2400660
Ae REPLANT THE CORN NEXT SPRINGs BUT NOT HARVEST IT. 2400660

i Be LET THE FIELD STAND IDLEs IN THIS WAY NO MORE NITRATES WOULD 2400660
BE TAKENe. 2400660
#Ce PLANT A BEAN CROP OR ALFALFA TO REPLACE THE NITRATES. 2400660
WHAT NAME IS GIVFN TO SUBSTANCES THAT PUT NITRATES AND N661
PHOSPHATES BACK IN THE SOILO
*#Ao FERTILIZERS 2400661
Be MINERALS 2400661
Ces COMPOUNDS 2400661
GREEN PLANTS CAN MANUFACTURE THEIR OWN FOOD UNDER CERTAIN 2400662

CONDITIONS. IF THEY ABSORR THE DISSOLVED MINERALS FROM THE SOTIL
AND CARBON DIOXIDE FROM THE AIRs PLANTS STILL NEED

Ae COOL TEMPERATURE AND WATER. 2400662
*Re HEAT AND SUNLIGHT. : 2400662
Ce DARKNESS AND HUMIDITY . 2400662
HEATING SUGAR SHOWS THAT SUGAR IS A COMBINATION OF CHEMICAL 0663
SUBSTANCES. THESE SUBSTANCES ARE 2400663
{" *Ao, CARBON AND WATER VAPOR. 2400663
Be OXYGEN AND WATER VAPOR. 2400661
Ce NITROGEN AND WATER VAPORe. 2400663
NOW THAT WE KNOW SUGAR 1S MADE OF CARBON AND WATER VAPOR, WE CAN 2400664
SAY SUGAR IS MADE OF - 2400664
#A., CARBONy OXYGENs HYDROGEN. 2400664
Be CARBONs NITROGEN: AND WATER. 2400664
Ce HYDROGENs OXYGEN AND MITROGEN. 24004564
JOHNNY WAS EXPERIMENTING WITH CARBONy OXYGENs AND HYDROGEN. SOME 2400665
OF THE SUBSTANCES HE MADE RY COMBINING THESE ELEMENTS WERE 2400665
Ae SUGAR AND STARCH. 2400665
*Be WATER VAPOR, AND CARBON DIOXIDEe 2400665
Cs HYDROGEN PEROXIDE. 2400665
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THE STUDENT WILL ANALYZE AN EXPERIMENT INVOLVING THE USE OF 0289
STORED PLANT FOOD BY IDENTIFYING THE CAUSE FOR CONTINUED PLANT
GROWTHe %1D

CHOOSE THE CORRECT ANSWER ‘ 1

JANE MEASURED THF THICKEST PART OF AN ONION BULS AND RECORDED ITe 2400668
> 2400668
SHE THEN PLACED IT IN A GLASS OF WATER SO THAT THE BOTTOM JuST 2400668

2400668
TOUCHED THE WATERe FINALLY SHE PLACED IT IN A DARK CLOSET. 2400668

2400668

s




AarTER 4 Few Witk kbs SHE (GOK 11 OUT OF THE CLOSET AND FOUND IT HAD 2400668

2400668

GROWN ROOTS AND A STEMe SHE MEASURED THE ONION AGAIN AMD IT WAS 2400668
2400668

SMALLER. WHICH OF THE FOLLOWING STATEMENTS BEST EXPLAINS HER 2400668
2400668

FINDINGS. 2400668
Ae THE DARKNESS OF THE CLOSET CAUSED IT TO SHRINK,. 2400668
*¥Re SOME OF THE FOOD STORED IN THE RULB WAS USED FOR GROWTH. 2400668
Ce NOT ENOUGH INFORMATION GIVEN, 2400668
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THE STUDENT WIL! BE ARLE TO APPLY HIS KNOWLEDGE OF PLANTS AND 0290
FUNGI BY SELECT (NG DISTINGUISHING CHARACTERISTICS OF GREEN PLANTS
AND FUNGI. %an

CHOOSE THF CORRECT ANSWERe 1
. ONE 0F THE MAIN REASONS WHY FUNGI PLANTS CANNOT MANUFACTURE THEIR 2400669
OWN FOOD IS THAT THEY LACK ' 2400669
#Ae CHLOROPHYLLS : 2400669
Be CYTOPLASM. ) 2400669
Ce PROTOPLASMS : 2400669
WHAT ARF SOME OF THE SOIRCFS FROM WHICH FUNGI PLANTS CAN OBTAIN 0670
FOODO
Ae SOIL AND ROCK 2400670
*Be DEAD PLANTS AND ANIMALS 2400670
Ces ATMOSPHERE AND WATER 2400670
AN EXAMPLE OF A FUNGUS PLANT WOULD BE A 671
Ae GREFN PLANT. 2400671
*Be BREAD MOLD» 2400671
Ce DEAD PLANT. 2400671
YEAST IS CALLED A FUNGUS BECAUSE 2400673
Ae IT CAN MAKE ITS OWN FOOD. 2400673
Bs IT HAS A GREEN COLOR. 2400673
#Ce IT CANNOT MAKE ITS OWN FOOD. 2400673
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THE STUDENT WILL ANALYZE DIFFERENT PLANT ENVIRONMENTS AND SELECT 0291
THE BEST ENVIRONMENT FOR A PARTICULAR PLANT« %2n
CHOOSE THE CORRECT ANSWER. 1
SUGAR BEETS AND VIOLFTS WERE PLACED IN SANDY SOIL AND IN DIRECT 2400676
SUMLIGHT. BOTH WERE WATERFD EVERY OTHER DAY. THE VIOLEYS DID 2400676
NOT GROW VERY wELL BECAUSE THE ENVIRONMENT 2400676
Ae WAS LACKING SUFFICIENT SUNLIGHT FOR THE VIOLETS. 2400676
#Be DID NOT SATISFY THE NEEDS OF THE VIOLETS. 2400676
Ce LACKED SUFFICENT WATER FOR THE VIOLETSe 2400676

I H IR H A I T I F KA SN TSI K H A IR H K I W I IS NN

THE STUDENT WILL AMALYZE DIFFERENT GROWING SITUATIONS FOR PLANTS 0292




RY INDFNTIFYING THE MATN CONDITION THAT CAUSED LACK OF PLANT
GHUWIHe %2u

LHOOSE THE CORRECT ANSWERe . 1

) PLANT A HAS AN UNUSIALLY #{ONG* STEMs LIGHT GREEN COLOR, AND 24600678
" ®VERY®* FEW LEAVESe PLANT A WAS MOST LIKELY GROWN [N 2400678
#Ae A %*DARK¥* PLACE. 2400678

Be *DIRECT* SUNLIGHT. : 2400678

Ce *GOOD* SOILe 2400678
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AFTER STUDYING THE TYPES OF BACTERIAs THE STUDENT WILL DEMON- 0108
STRATE AN UNDERSTANDING OF THE TYPES OF BACTERIA BY MATCHING
CHARACTERISTICS OF MICROBES WITH THE PROPER KIND OF BACTERIA. %3n

CHOOSE THE CORRECT ANSWER. 1

WHAT TYPE OF BACTERIA WOULD BE GROWING ON A PIECE OF CLOVERD 0418

Ae SPIRILLA 2400417

Be BACILLI, 2400417

Ce COCCI 2400417

#De NOT ENOUGH INFORMATION GIVEN. 2400417

WHAT TYPE OF BACTERIA ARE SPHERICAL LIKE TINY MARBLES UNDER A 0419
MICROSCOPED

Ae SPIRILLA 2400418

Re BACILLI 2400418

gt #Co COCCl, 2400418

& De ALL OF THE ABOVE. 2400418

WHAT TYPE OF BACTERIA ARE SHAPED LIKE LITTLE RODSO 0420

*Ae. BACILLI 2400419

Be SPIRILLA. 2400419

Ce COCClo 2400419

De ALL OF THE ABOVF 24600419
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NATURE OF MATTER

THE STUDENT WILL DEMONSTRATE A KNOWLEDGE OF MOLECULES BY SELECT~- 0023

ING THE PROPERTIES OF THEM FROM A SERIES OF QUESTIONS. %5m
CHOOSE THE CORRECT ANSWER. | 1
WHICH OF THE FOLLOWING IS *ALWAYS* TRUE OF MOLECULESO ‘ 2400085

¥A. THEY NEVER STOP MOVING. 2400085 ;
Be THEY MOVE IN ONLY ONE DIRECTION. |

. Ce THEY ALWAYS MOVE VERY SLOWLY., 2400085
;%; De THEY ALWAYS MOVE AT THE SAME RATE. 2400085
o MOLECULES ARE MADE UP OF 2400086
ERIC Ae MODELS. 2400086
ek Re MOTION 2400086

A7 EE———




“Co ATOMS : 2400086
D. BUBBLES., 2400086
HEAT ENERGY 1S PRODUCED WHEN MOLECULES 2400087
Ae STOP. 2400087
*Be MOVE FASTER. 2400087
Ce MOVE SLOWER. 2400087
De SPREAD OUT. . | 2400087
WHEN HEAT ENERGY IS APPLIED TO MOLECULES THEY 2400088
, *Ae MOVE FASTER. 2400088
Be EXPAND. 2400088
Ce CONTRACT. : 2400088
De DISAPPEAR. - 2400088
WHEN MOLECULES ARF COOLED THEY ' 2400089
Ae STOP MOVING. _ 2400089
Re MOVE FASTER. 89
#Ce MOVE MORE SLOWLY. 2400089
De SHRINK. 2400089
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THE STUDENT WILL DEMONSTRATE A KNOWLEDGE OF MATTER BY SELECTING - 0024
THE CHARACTERISTICS FROM A SERIES OF QUESTIONS. %5n
CHOOSE THE CORRECT ANSWERe 1
WHICH OF THE FOLLOWING IS *NOT* A CHARACTERISTIC OF MATTERO 2400090 -
*Ae ITS STATE ALWAYS REMAINS THE SAME. )
Be IT IS MADE UP OF MOLECULES AND ATOMS. 2400090
Coe IT TAKES UP SPACE. 2400090
De IT HAS WEIGHT. 2400090
WHICH OF THE FOLLOWING IS *NOT* A STATF OF MATTERO 2400091
Ae GAS 2400091
Be LIQUID 2400091
*Co ATOM 2400091
De SOLID 2400091
MOLECULES VIBRATE IN A FIXED POSITION IN 2400092
*Ae A GASe 2400092
Be A LIQUID. 2400092
C. AN ATOM, 2400092
*De A SOLID,. 2400092
IN WHICH STATE OF MATTER ARE THE MOLECULES FARTHEST APARTO 2400093
*A. GAS 2400093
Re LIQUID 2400093
Coe ATOM 2400093
De SOLID ' 2400093
TN esesces THE MOLECULES ARE FRFE TO MOVE OVER AND AROUND EACH 2400094
OTHER 2400094
Ae A CRYSTAL : 2400094") <
%Be A LIQUID ' . 2400094 _
Ce AN ATOM 24600094
De A SOLID 2400094

ERIC

IToxt Provided by ERI
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THE STUDENT CAN DISTINGUISH BETWEEN AN ELEMENT AND A COMPOUND BY
SELECTING EXAMPLES AND DFFINITIONS FOR EACH. %4n

@ CHOOSE THE CORRECT ANSWER.e

A SURSTANCF COMPOSED OF ONLY ONF KIND OF ATOM IS
A. A MIXTURE,
#Re AN ELEMENT.
Ce A COMPOUND.

De A SOLUTION.

WHICH OF THE FOLLOWING IS NOT A COMPOUNDO
A+ SOAP
Re STARCH
Cs SALT
*#De SILVER
Ee ALCOHOL

THE SMALLEST PART OF SUGAR IS A SUGAR
Ae ATOM,
ABe ELEMENT,

#Ce MOLECULF.
De SOLUTION.

WHICH OF THE FOLLOWING SENTENCES IS ®*NOT* ABOUT A COMPOUNDO
A« IRON AND OXYGEN FORM IRON OXIDEe.
He THE CHEMICAL SYMBOL FOR WATER IS H Q.

2

vg‘ Ce SUGAR MOLECULFS ARE MADE UP OF CARBONs HYDROGEN AND OXYGEN
L Ve ATOMSe. '
*De THE CHEMICAL SYMBOL FOR OXYGEN IS O .
‘ 2

noav

1

2400222
2400222
2400222
2400222
2400222

2400223
24002272
24N022%
24002273
2400223
2400223

2400224
2400224
2400224
2400224
2400224

2400225
24900225

2400225
2400225

********************************************************************I‘**** ¥* % %%

THE CHILD CAN DISTINGUISH RETWEFN A PHYSICAL CHANGE AND A
CHEMICAL CHANGE RY SFLFCTING EXAMPLES FOR EACHe %3n

CHOOSE THE CORRECT ANSWER.

WHICH OF THE FOLLOWING IS A CHEMICAL CHANGEO
Ae MELTING
Be FREEZING
*Ce BURNING
Ne, FVAPORATING

WHICH OF THE FOLLOWING SFENTENCFS DESCRIBES A PHYSICAL CHANGED
Ae GASOLINE BURNS IN A MOTOR.

*Be SALT DISSOLVES IN WATER.
Ce A CANDLE BURNS.

" De IRON RUSTS.

. A CHANGE IN A COMPOUND IS PHYSICAL IF
fi: Ae THE MOLECULES OF A SURSTANCE CHANGE.
* #Re THE MOLECULFS OF A SURSTANCE DO NOT CHANGE.
Ce THE ATOMS ARE ARRANGED DIFFERENTLY.
De SOME OF THE MOLECULES ARE LOST.
~ka;41£)

Y - Sl LR o

nose

1

2400230
2400230
2400230
2400221
2400230

2400231
2400231
2400231
2400231
2400231

232
2600232
2400232
2400232
2400232
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THE STUNFNT WILL KNOW THE MEANING OF MIXTURE, ELEMENT, AND nlzn
© COMPOUND RY SELECTING THE CORRECT DEFINITION FOR EACH TERM,
%20
CHOOSE THE CORRECT ANSWER. 1
MIXTURE 15 DEFINED AS 459
Ae TWO OR MORE ELEMENTS THAT COMBINE.
Be THREE OR MORE SUBSTANCES THAT ARE CHEMICALLY BONDED. 2400458
#Ce TWO OR MORE SUBSTANCES COMBINED BUY NOT CHEMICALLY RONDED.
COMPOUND IS DEFINED AS ' 460
Ae TWO OR MORE SUBSTANCES THAT ARE PHYSICALLY UNITED. '
¥Be A NEW SUBSTANCE DIFFERENT FROM THE SUBSTANCES FROM WHICH 2400459
IT WAS ORIGINALLY MADE. 2400459
Ce A SUBRSTANCE THAT 15 MADE uP OF ONLY ONE GENERAL TYPE OF 2400459
ATOMo 2400459
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GIVEN A STATE OF MATTERs THE STUDENT CAN COMPREHEND THE : 0121
DIFFERENCE BETWEEN SOLIDs LIQUIDs AND GAS BY SELECTING WHICH
FORM OF MATTER IS REING DESCRIBED. %3mD

CHOOSE THE CORRECT ANSWER. 1
WHEN WATER IS FROZEN 14 A BOXs THIS NEW STATE OF MATTER IS A 2400461
Ae GAS, ‘ 2400461
Be LIGUIDS ' 2400461
#Ce SOLIDe 2400461
WHEN WATER 1S CONVERTED TO STCAM VAPORs THIS NEW STATE OF MATTER 2400462
1S A 2400462
*he GASe 2400462
Be LIOUID, . 2400462
Ce SOLIDG 2400462
WHEN HEATING AN TCECHBE, A NEW STATE OF MATTER IS FORMED. THIS 2400467
NEW STATE OF MATTER IS A 2400463
Ae GASe 2400463
¥Re LIQUIDS 24004673

Ce SOLID. 2400463
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GIVEN-A LIST OF DEFINITIONSs THE STUDRFNT WILL SHOW THAT HE CAN 0208
ncCALL THE STATES OF MATTFR BY MATCHING THE STATE WITH ITS
CORRECY DEFINITIONs %3n

MATCH THE WORD WITH THE CORRECT DEFINTION. ' 58
As SOLID ,
Be LIOUID
Ce GAS
TAKES THE SHAPE OF ITS CONTAINER BUT CANNOT EXPAND FREELY TO FILL 1338
1T *B

4444______________________;;;_E!l______;____________________________4----
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TALES THE SHAPF OF 175 CONTAINER AND FXPAND FREELY TO FILL IT *C 1340
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GIVEN A LIST OF OBJECTSs THE STUDENT WILL DEMONSTRATE HIS 0209
UNDERSTANDING OF THE THREE STATES OF MATTER BY IDENTIFYING
EXAMPLES OF EACH STATE FROM A LISTe %10D

CHOOSE THE CORRECT ANSWER. 1

AN EXAMPLE OF A SOLID IS 1341
Ae OXYGEN.

*Ba METAL.
Ces ROOT BREERe
De COFFFEE,

AM EXAMPLE OF A SOLID IS 1342
As WATER.
Be MILK.
Cs HEL TUMe

*De TINe

OF THE FOLLOWING FXAMPLFES,s ONLY IS A SOLID, 1343
*Ae GOLD
Be OXYGENS
Ce CARBON-DIOXIDEL.
~ De INKe

OF THE FOLLOWING EXAMPLES, ONLY 1S A LIQUID. 1344
Ae COPPER
Ba ZINC
*Co LIME JUICE
De HELTUM

ONE EXAMPLE OF A LIQUID IS 1345
*¥Ae WATER.
Re IRON.
Cs FREON,
Da SILVER.

OF THE FOLLOWING EXAMPLES, ONLY IS A GASe 1346
Ae TEA
Be SOUP ‘
Ce. COAL - )
tDe OXYGEN :

OF THE FOLLOWING EXAMPLESs ONLY 1S A GAS. 1347 1
Ae COPPER
*Re HELTUM
Ce ZINC
NDe WATER

4> OF THE FOLLOWING EXAMPLESs ONLY IS A LIQUID. . 1348
R he TIN FOIL

*RB. ORANGE JUICE

Cs ALUMINUM FOIL

NDe CARBON-~MONOXIDE

. s s: ‘ _
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Al EXAMPLE OF A GAS IS 1349
*As NEON.
B. 'ICEO
Ce GRANITE.
De LAVA.

AN EXAMPLE OF A SOLID 1S ' 1350
Ae GRAPE JUICE.
Be CREAMS
Ce HELIUM

*De LIMESTONE.
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THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF THE 0210
DEFINITIONS OF THE THREE STATES .UF MATTER BY APPLYING THE
DEFINITIONS TO NEW SITUATIONS. %10o

CHOOSE THE CORRECT ANSWER. 1

BILL WAS GIVEN A CLOSED JAR OF *HELIUM#*, A GLASS OF ®WATER¥* AND A 1351
BRICK AND TOLD TO USE ONE OF THESE REPRESENTATIVES OF EACH
STATE OF MATTER TO GET A BOOK JuST BEYOND HIS REACHs HE
wouLD USE TO GET THE BOOK.
Ae THE HEL UM
*Be THE BRICK
Ce THE WATER

MARY WAS GIVEN A CUP OF MILK, A BALLOON FILLED WITH HYDROGEN, 1352
AND A BAR OF ALUMINUM AND TOLD TO USE ONE OF THESE REPRESENTATIV-
ES OF EACH OF THE THREE STATES OF MATTER TO SUPPORT THE CORNER OF
A COFFEE TABLE WHICH WAS MISSING A LEGe SHE WOULD USE T0
SUPPORT THE CORNER.
A= THE MILK
Re THE HYDROGEN
#C» THE ALUMINUM

JOHN WAS GYVEN A PINT OF WATER, A PINT OF HELIUM, AND A PINT OF 1353
TALCUM POWDER AND TOLD TO COMPLETELY FILL A GALLON CONTAINER
WITH ONE OF THE [HREE REPRESENIAIIVES OF IHE S{ATES OF MATTER.

JOHN WOULD USE THE TO COMPLETELY FILL THE GALLON
CONTAINEKe.

*Ae HELIUM
Be WATER
Ce TALCUM POWDER

GEORGE wWAS GIVEN A BAR OF LEADs A QUART OF OIL AND A QUART JAR 1354
OF OXYGEN AND TOLD TO USE ONE OF THE REPRESENTATIVES OF THE :
THREE STATES OF MATTER TO FILL THE BOTTOM ONE-FOURTH OF A

GALLON CONTAINER. GEORGE USED TO FILL THE BOTTOM ONE-
FOURTH OF THE GALLON CONTAINER.
“*Aa THE OIL

Bs THT LEAD
Ce THE OXYGEN

JANE WAS ASKED TO COMPLETELY FILL HER CLASSROOM WITH ONE OF THE 1355
FOLLOWING REPRESENTATIVES OF THE THREE STATES OF MATTERe SHE

WAS GIVEN A GALLON OF COFFEEs AND ONE OQUART OF CHLORINE GASs AND

FIVE POUNDS OF SALTe JANE USED 10 COMPLETELY FILL HER

o

~,
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Ae ibvn Lurdod
Re THE SALT
#Co THE GAS

- ANN WAS ASKED TO KEEP A FISH TANK OFF THE TABLE BY USING ONE 1356

OF THE REPRESENTATIVES OF THE THREE STATES OF MATTER GIVEN TO
HERe SHE WAS GIVEN A BLOCK OF WOODy A JAR OF MUSTARD, AND A JAR
OF QOXYGEN AND WAS TOLD MOT TO USE THE CONTAINERS THEY WERE INe
ANN USED 10 ¥EFp THE FISH T1ANK OFF THE 1ABLE,

Ae THE MUSTARD

*Be THE WOOD

Ce THE OXYGEN

JAMES WAS GIVEN A PINT OF MOLTEN COPPER THAT HAD HARDENED INTO 1357
A BALLs A PINT OF TEAs» AND A PINT OF HYDROGEN, AND ASKED TO FILL
THE BOTTOM OF A SNUAREs GALLON CONTAINER SO THAT THF BOTTOM 15
COMPLETELY COVEREDe JAMES USED 10 FILL THE BOTTOM OF THE
CONTAINER SO THAT THE BOTTOM WAS COMPLETELY COVERED.
As THE COPPER
Re THE HYDROGEN
*Ceo THE TEA

DANIEL WAS ASKED TO COMPLETELY FILL A 50 GALLON RARREL WITH ONE 1358
OF THE THREF STATES OF MATTERe HE WAS GIVEN A GALLON JAR OF
HFLIUMs A GALLON JAR NF MILK, AND A PIECE OF ZINC EQUAL TO ONE
GALLON. DANIEL USED To COMPLETELY FILL THE 950 GALLON
BARKKEL &
*As THE HELIUM
Bs THE ZINC
Ce THE MILK

BARBARA WAS GIVEN AN EMPTY 1n GALLON JAR AND ASKED TO FILL THE 1359
BOTTOM HALF USING ONE OF IHE fHREE STAIES OF MATTER. THE THREE
REPRESENTATIVE SAMPLES OF MATIER GIVEN TO HER WERE 5 GALLONS
OF CARBON-DIOXIDE, A BALL OF LEAD EQUAL 10 5 GALLONS WHEN MELTED,
AND 5 GALLONS OF INKe. BARRARA USED TO FIuL THE BOTTOM HALF
OF THE 10 GALLON JAR, :

Ae THE LEAD

*Bo THE INK

Ce THE CARBON-DIOXINE

JILL WAS GIVEN A BAR OF JRON, A PINT OF ORANGE JUICEs AND A - 1360
GALLON OF OXYGEN AND wAs> ASKED 1U usE UNE OF 1HESE REPRESENIATIV-
ES OF EACH OF tHE (HREE SIAIES OF MATIER 10 KEEP A WINDOW UPe
SHE WAS INSIRUCIED nNUt 10 USE 1HE CUNIAINERS IN WHICH IHE MAITER
WAS KEPTe JILL USED TO KEEP THE WINDOW UP,. -
As. THE OXYGEN
Be THE JUICE
*Coe THE IRON
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THE STUDENT WILL ANALYZE GIVEN SITUATIONS RELATIVE TO THE THREE 0211
STATES OF MATTER BY CORRECTLY IDENTIFYING WHICH STATE OF MATTER

"18 BEING DISCUSSEDe %10m

CHOOSE THE CORRECT ANSWER. 1

JOHN FINISHED TELLING HIS STORY BY SAYINGy WHEN JT HIT THE 1361

e g —




e U A AN R e THE STETT ONE pATTIE
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Ae GAS,

Re LIOUID.

*Ce SOLID

AFTER SCREAMING THAT IT HAD SPLASHED ALL OVER THE FLOOR., MARY
RAN OUT OF jHE KUUMe THE STATE OF MATTER BEING DISCUSSED IS A
#¥As LIQUID
H5¢ GAS,
Ce SOLID

AFTER BREAKING THROUGH THE PLATE GLASS WINDOW IT HIT THE METAL
WASTEBASKET AND LEFT A DENT IN ITy EXCLAIMED GEORGE.
THE STATE OF MATTER BEING DISCUSSED IS A

*As SOLID,

Re GAS.

Co LICUID

THE CONTENTS OF THE JAR QUICKLY FILLED THE ENTIRE ROOM AFTER THE
TOP WAS REMOVED BY NANCY« THE STATE OF MAYTER BEING DISCUSSED 1S
A

Ae LTQUIDS

Re SOLIDe

*Ce GAS,

JIM GRARRBED THE GLASS CONTAINER AND THREW IT AS HARD AS HE
COULD INTO THE EMPTY OIL DRUM AMD SLAMMED THE CLFEAR PLASTIC
LID ON THE DRUMe THE OlL DRUM WAS COMPLETELY FILLED IMMEDIATELY.
THE STATE OF MATTER BEIMG DISCUSSED IS A
Ae SOLID
*B. GASO
Ce LIQUID.

THE CONTAINER STRUCK THE GROUND AND THE LID FELL OFF, AFTER THE
LID FELL OFF, THE CONTENTS SLOWLY SPREFAD ACROSS THF FLOOR.
THE STATE OF MATTER BEING DISCUSSED IS A .

¥Ae LIQUID

Be GAS.

Cs SOLID.

JOHN THREW THE CONTAINIR AGAINST THE WALL AND LAUGHED AS THE
CONTENTS RAN DOWN THF WALL AND ONTO THE FLOOR, THE STATE OF
MATTER BEING DISCUSSFD IS a

Ae GAS,

Be SOLID

#Co LIQUID

BETTY CAUTIOUSLY LIFTED THF TOP OF THE CONTAINER AND ALMOST
IMMEDTATELY THE ENTIRE LUNCHROOM WAS FILLED WITH A HORRIBLE
STINKe THE STATE OF MATTER BEING DISCUSSED IS A

A, S50L 1D

*Re GAS,

Ce LIQUID

ADRIENNE CONTINUED TELLING ABOUT HER FAMILY VACATION BY
SAYINGs AS WE WERE DRIVING THROUGH THE MOUNTAINSs IT ROLLED
DOWN THE SIDE AND CRASHED INTO THF SIDE OF OUR CAR, LEAVING A
Q {UGE DENT IN THE DOOR.
EMQHE STATE OF MAJIER REING NDISCUSSED IS A
CEEETE A, | IQUID

1362

1363

1364

1365

1366

1367

- 1368

1369
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vw.o SOLID.

AS USUAL. DAVID AND HIS SISTER NANCY WERE GOOFING OFF AT THFE 1370
PICNTCe MANCY GRABHED THE CONTAINERS, PUT HER THUMB QOVER THE
OPENTNGy SHOOK TTs AND POINTED THE CONTAINER AT HER BROTHER.
JUST AS DAVID JUMPED BFHIND HIS FATHFERs NANCY TOOK HER THUMB
OFF THE OPENING AND THE CONTENTS SQUIRIED ALL OVER HER FATHER,
THE STATE OF MATTER BEING DISCUSSED IS A
*Ao LIQUIDS
Be GAS.
Ce SOLIDS

T XTI E YR Y AR RSN L RS2SR R RT S Y LRSS S ST ETL SR TSI ISR SRS E AR R AL R

SUSAN WALKED INTO THE DYNAMITE STORAGE ROOM AND TO HER 1378
HORROR SAW THAT THE CFILING WAS BURNING FIERCELY. IN
THE CENTER OF THF ROOM WAS A CRATE FILLED WITH ONE
HUNDRFED STICKS OF DYNAMITES. n% SHE [URNED TO RUN FROM
THE ROOMs THE DOOR WAS SLAMMED SHUT BRY THE WIND.
FRANTICALLY s SHt LuuxbD ArkuvunD 1HE wkuum AnD DISCUVERED
THREE LARGE CON1AINERSe SUSAN DASHED OVER AND QUICKLY
READ IHE LABEL UN EACH CONtAINEKRe tHE FIRS! ONE WAS A
ONE HUNDRED GALLON CONTAINER FILLED WITH WATER. THE
SECOND CONTAINER WAS FILLED WITH ONE HUNDRED POUNDS OF
BAK ING SODA WHICH COULD BE USED TO PUT OUT FIRES. THE
THIRD ONE HUNDRED GALLON CONTAINER wAS FILLED WITH AN
INERT GAS THAT ALSO COULD PUT 0OUT FIRESe SHE HAD ONLY
ENOUGH TIME TO OPEN ONE CONt AINEK BEFORE THE BURNING
CEILING WOULD COLLAPSE ON THE C(RATE OF DYNAMITE., SHE
TORE THE TOP FROM ONE CONIAINER AND FIVE SECONDS LATER
THE FIRE WAS COMPLETELY OUTe THE STATE OF MATTER SUSAN
USED WAS

AAs THE INERT GAS,

Be THE WATER.

Ce THE BAKING SODA
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THE STUDENT 'WILL RECALL THE PROPERTIES OF MATTER BY IDENTIFYING A n2la
PROPERTY WHEN GIVEN A LIST OF ALTERNATIVESe. %10n

(HOCSE THE CORRECT ANSWER. 1
OF THE FOLLOWING ITEMS, ONLY IS A PROPERTY OF H#ALL* 1391
MATTER.

*A. TAKES UP SPACE
He HAS COLOR
Ce SMELLS BAD
De IS HARD

OF THE FOLLOWING ITEMS ONLY IS A PROPERTY OF *ALL* MATTER. 1392
A« BOUNCES
Be CAN BE SEEN

*Ce HAS WEIGHT
De 15 -ST

JIM READ THE LIST OF ITEMS AND SAwW THAT ONLY 1S A PROPERTY - 1393
OF =ALL* MATTER.
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Ce IS WHITE
*N. TANES P SPACE

ANN READ THE FOLLOWING LIST AND SAW THAT ONLY WAS A
PROPERTY OF *ALL* MATTER.

*Ae MADE UP OF TINY PARTICLES

Be HAS FOUR CORNERS

Cs MADE UP OF WATER

De KEEPS ITS OWN SHAPE

OF THE FOLLOWING ITEMS, ONLY IS A PROPERTY OF #ALL#*
MAT TER.

As TAKFS A LONG TIME TO MOVE

*Be TAKES UP SPACE

‘Ce HAS TWO ENDS

Oa USES OXYGEN

OF THE FOLLOWING ITEMSs ONLY 1S A PROPERTY OF *ALL®*
MATTER.
¥Ae HAS WEIGHT
Re HAS TWO FEET
Ce IS LONG
De HAS HAIR

OF THE FOLLOWING ITEMSs ONLY IS A PROPERTY OF %ALL* MATTER. 1397

A+ MADE OF WOUD

Be 15 SLIPPERY

Ce MADE OF BRICKS .
¥De MADE UP OF TINY PARTICLES )

JOYCE SAW THAT ON THE FOLLOWING L IST ONLY WAS A PROPERTY 1398
GF  *ALL*¥ MATTER
A+ MADE UP OF SMALL MARBLES
Be MADE UP OF TINY BRICKS
*Ce MADE UP OF TINY PARTICLES
De MADE UP OF TINY PINS

JEAN SAW THAT ON THE UIST GIVEN TO HERs ONLY WAS A 1399
PROPERTY OF *ALL#* MATTER.

As HAS EYES
"*Be HAS WEIGHT
Ce HAS CLAWS
De HAS SMOOTH EDGF S

ANDREA SAW THAT ON THE FOLLOWING LIST ONLY WAS A PROPERTY 1400
OF *ALL* MATYER.
Ae TAKES UP A COUNTRY
Be TAKES UP A ROOM
Cs TAKES UP A BUILDING
*¥De TAKES UP SPACE
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GIVEN A LIST OF STATEMENTSs THE STUDENT WILL DEMONSTRATE HIS 0215 ;}
UNDERSTANDING OF THE PROPERTIES OF MATTER BY IDENTIFYING THE
STATEMENT WHICH APPLIES TO *ALL¥* MATTER. %8n

CHOOSE THE CORRECT ANSWER. . 1
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ThE STATEMUND Wil rdabics A PauecRITY THAT A PLIES 1O YALL¥ 1401
MATTER IS .
Ae JILL SAID THE PIF SMELLED

Be ANDREW EXCLAIMED THAT MOSS 15 GREEN
*¥Co JIM SAID THAT HYDROGEN HAS WEIGHT
Ce JOHN SATD THAT IRON 15 HARD
HANK SATD THAT STATEMENT APPLIES TO *ALL* MATTER, 1402
¥Ao IRON 15 MADE UP OF TINY PARTICLES
Be STEEL IS SHINY
Cs BUTTER IS SOFT
De SUGAR I8 SWEET
THE STATEMENT APPLIES TO *ALL* MATTERO 1403
Ae WATER IS WET
Be MILK IS WHITE
Ce SYRUP IS SWEET
*De WATER TAKES UP SPACE
WHY DOES THE STATEMENT, APPLY TO *ALL* MATTERO s ASKED THE 1404
TEACHER «
A+ WOOD BURNS
*Re TURPENTINE 1S MADE UP OF TINY PARTICLES
Ce CREAM 18 WETI
Y¢ ROCKS ARE HARD
THE STATEMENT, APPLIES TO *ALL* MATTER. 1405
‘Ae A BRICK IS HEAVY
Be A BRICK TAKES UP SPACE
Ce+ SOME RRICKS ARE RED
De BRICKS KEEP THEIR OWN SHAPF
THE STATEMENT, APPLIES TO *ALL* MATTER. 1407
Aes HEL TUM HAS A BAD SMELL
Be HELTIUM IS COLURLESS
*Ce HELIUM IS MADE UP OF TINY PARTICLES
Do HEL TUM HAS NO TASTE
THE STATEMENT, APPLIES TO *ALL™ GASES, 1409
A., THE OXYGEN COULD NOT RE SFEN,
Bas THE OXYGEM HAD NO SMELL.
*#Cs THE OXYGEN TOOK UP ALL THE SPACE.
De THE OXYGEN HELPED IN BURNING THE wW0OD.
THE STATEMENT APPLIES TO *ALL® MATTER. 1410

¥Ae HYDROGEN 18 MADE UP OF TINY PARTICLES.
Be HYDROGEN H*5 A BAD SMFLL.

Ce HYDROGEN TS NOT HARD

"De HYDROGEN CANyT RE SFEN
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GIVEN A LIST OF SITUATIONS INVOLVING THREE CONDITIONS 0216
OF MOLECULAR ACIHIVITY, THE STUDENT WILL SHOW HIS UNDERSTANDING
OF MOLECULAR ACTIVITY RBY SFLECTING THE CORRECT CONDITION. %10n

SELECT ONE OF THE THREE CONDITIONS FOR THE FOLLOWING SITUATIONS. 0060
Aes MOLECULAR ACTIVITY HAS STAYED THE SAMEe
Be MOLECULAR ACTIVITY HAS INCREASEDS C?é




E

Ce MOLECULAR ACTIVITY HAS DECREASED.

A BTEEL PIPE HAS BEEN HiT WITH A HAMMER FOR 20 MINUTESL, *B
A BALLOON EXPANDS AFTER SITTING IN THE SUN. ¥B

A TRAY OF WATER FREEZES. *C

A TARBLE IS MOVED FROM THE FRONT OF THE ROOM TO THE BACK. #A
A FINGER RING BECOMES TIGHTER [N THE WINTERe *C

TELEPHONE WIRES SAG IN THE SUMMER. #B

RUBBING YOUR HANDS TOGETHER TO GET THEM WARM. B

THE GAP IN A RAILROAD EXPANSION JOINT WIDENS. *C

A SIDE WALK BUCKLES IN THE SUMMER. *B

THE MERCURY IN A THERMOMETER DROPSe *C

1411
1412

1413

14186
1417
1418

1419

1420
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GIVEN THE CHARACTERISTICS OF THE THREE STATE OF MATTER,s THE
STUDENT WILL DISTINGU!SH BFETWEEN KMOWN MATTER BY CORRECTLY
IDENTIFYING ITS NATURAL STATE. %10n
DIRECTICNS ~ READ YTHE FOLLOWING PARAGRAPH, IHEN PICK THE CORRECT
STATE OF EACH MATTER. INDICATE YOUR ANSWER BY THE FOLLOWING KEY.
Ae SOLID
Be LIQUID
Cs GASEOQUS

THERE ARE THREE STATES OF MATTER, SOLIDy LIQUIDSs AND
GASESs A SOLID IS DEFINED AS MATTER THAT RETAINS ITS OWN SHAPE.
LIQUID TAKES ON THE SHAPE OF ITS CONTAIMER., A GAS ALSO TAKES ON
THE SHAPE OF ITS CONTAINERs BUT THE MOLECULES SPREAD OQUT AND FILL
UP THE *WHOLE* CONTAINER.
[CE #A
OXYGEN #*C
MERCURY *8
STEAM *C
WATER *B
CLAY *#A
SNOW =A

GLASS *A

Q TLIuM  #C

RIC

Aruitoxt provided by Eric

GASOLINE  #B
e g~

0223

0064

1447
1448
1449
1450
1451
1452
1453
1454
1455

1456
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THE STUDENT WILL APPLY HIS (UNDERSTANDING OF THF EXPANSION OF 0226

- CHARACTERISTICS OF STATES OF MATIER BY IDENVIFYING THF STATE IN

GIVEN EXPERIMEMTSe =»lln

A BRASS BALL ONE INCH ACROSS WItL PASS THROUGH A RING WHICH IS ' 0111l
A'LITTLE MORE THAN OME INCH ACROSSe THE BALL 15 HELD OVER A
FLAMEy UNIIL VERY HO! o

IF THE BALL IS PUT [HROUGH THE RING AGAIN IT WILL 1468
PRORABLY
Ae GO IHROUGH [HE RINGe.
#Be NOT FIT THROUGH THE RING.
Ce GO THROUGH MORE EAsILY 1HAN BEFORE 1) wAs HEAIED.

- THE FLAME CAusED (HE MOLECuLE> OF IHE BRA>> BALL 10 1469

Ae MOVE CLOSER (OGE 1 HER

Be 10 DECRFASE IN MOvEMEN,,
¥Ce MOVE FURIHER APARI

De GEt LARGER.

THE EXPERIMENT PROVED ALL OF THE FOLLOWING *EXCEPT# 4 147p
Aes SCLIDS EXPAND WHEN HEATED.

. Be BRASS MOLECULES MOVE FURTHER APART WHEN HEATED.

*#Ce SOLIDS BUT NOT LIQUIDS EXPAND WHEN HEATED.
De MOLECULAR ACTIVITY 1S INCREASED BY HEAT.

FROM THE DIAGRAM ONE CAN ASSUME THAT i471
Ae THE LIQUIDS MOLECULAR MOVEMENT DECREASED,
*Be THE LIQUIDS ALL EXPANDED
Ce THE MOLECULAR MOVEMENT .INCREASED BUT THE TEMPERATURE
DECREASED

THE EXPERIMENT PROVED EVERYTHING *EXCEPT* 1472
Ae LIQUIDS EXPAND IN DIFFERENT AMOUNTS.,
Be MOLECULAR MOVEMENT INCREASED AS HEAT WAS APRLIED.
Ce ALCOHOL EXPANDS MORE THAN MERCURY .
*#De ALCOHOL HALS THE GREATEST AMOUNT OF EXPANSION OF *ANY* GIVEN
LIQUID.

THE BALLOON 1S FILLED WITH A 1473
Ae LIQUIDS
*Be GAS,
Ce SOL 1D

AN I IR KIS T RN MM IN I I KR I KT T I3 NI 30 362 H 36 202 3090 3 330 2 306
THE STUDENT WILL BE ABLE TO DEMONSTRATE A KMNOWLEDGE OF THE 0233

CHARACTERISTICS OF STATES OF MATTER RY DISTINGUISHING THE STATE
THAT HAS A PARTICULAR CHARACTERISTICa %3n

CHOOSE THE CORRECT ANSWER. 1
ELASTICITYs DUE TO THE GREAT MOVEMENT OF MOLECULES, IS A 1586
CHARACTERISTIC OF WHICH STATE OF MATTERO '

‘Ae SOLID

Bse LIQUID

#Ce GAS

o 53




ine STATL OF MATTER THAT HAS A GREATER DENSITY OF MOLECULES IS
WHICH ONEO

*Ae SOLID

Be LIQUID

Ce BAS

THE STATE OF MATTER THAT TAKES THE SHAPE OF ITS CONTAINER 1S
WHICH ONEO

As SOLID

*Be LIQUID

Ce GAS
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GIVEN INFORMATION ABOUT MATTER OF DIFFERENT DENSITIES, THE
STUDENT WILL ANALYZE AND SELECT A CORRECT INFERENCE FROM I1Ts %10

CHOOSE THE CORRECT ANSWER.

WHAT INFERENCE CAN BE MADE FROM THE FOLLOUING
%A COLD ATR IS MORE DENSE THAN WARM AIR,

%80 MATTER OF GREATER DENSITY WILL TEND TO DISPLACE MATTER OF
LESSER DENSITYe

A« WARM AIR WILL MOVE COLD AIR
¥Be COLD AIR WILL MOVE WARM AIR
Ce COLD AIR AND WARM AIR HAVE NO EFFECT UPON THE QTHER

STATEMENTS -

0240

1602
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THE STUDENT CAN IDENTIFY THE COMPOSITION OF SUBSTANCES BY
SELECTING WORD EQUATIONS WHICH DESCRIBE THE DECOMPCSITION OR
SYNTHESIS OF SUBSTANCES. %5u

CHOOSE THE CORRECT ANSWER.

WHICH OF THE FOULLOWING WORD EQUATIONS DESCRIBES THE
*DECOMPOSI TION¥ OF MERCURIC OXIDED
*Ae MERCURIC OXIDE BMERCURY & OXYGEN
Be MERCURY & OXYGEN -———3» MERCURIC OXIDE
" Co MERCURY ——s—ePp MERCURIC OXIDE & OXYGEN

WHICH WORD EQUATION DESCRIRES THE #SYNTHESIS* OF IRON OXIDED
*Ae IRON & OXYGEN ——3» JRON OXIDE

Be IRON & OXYGEN & CARRON -~=~——3> [RON OXIDE

Ce IRON OXIDE w—=——>3 [RON & OXYGEN

WHICH WORD EQUATION DESCRIBES THE #DECOMPOSITION® OF WATERO
Ae WATER ———> CARBON & HYDROGEN & OXYGEN

*B3e WATER ———3> HYDROGEN & OXYGEN
Ce HYDROGEN & OXYGEN & CARBON =~=—--3 WATER

WHICH WORD EQUATION DESCRIRES THE FORMATION OF CALCIUM CARBONATED
Ae CALCIUM HYDROXIDE & WATER —=—== CALCIUM CARBONATE & CARBON

DIOX IDF

Be CALCIUM CARBONATE & WATER ~——3>» CALCIUM HYDROXIDE & CARBON
DIOX I DE

#Ce CALCIUM HYDROXIDE & CARBON DIOXIDE 2 CALCIUM CARBONATE 6
WATER

"GO

0267

1

2400509
2400509
2400509
2400509
2400509

2400510
2400510
2400510
2400510

2400511
2400511
2400511
2400511

2400512
2400512
240051:
2400512
2400512
2400512
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WHICH WORD EQUATION DESCRIRES THE TEST FOR TABLE SALTO 2400513

Aa SILVER CHLORIDE & SODIUM MITRAYE ~——3 SODIUM CHLORIDE & 2400513

SILVER NITRATE © 2400513

%¥Be SODIUM CHLORIDE & SILVER NITRATE -~ SILVER CHLORIDE 6 2400513
SONDITUM NITRATE 2400513

Ce SODTUM CHLORIDE & STLVFR CHLORIDE =w=~ip SODIUM NITRATE & 24005173

STLVER NETRATE 2400513
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COLOR

THE STUDENT CAN DEMONSTRATE KNOWLEDGE OF THE SPECTRUM | 0199
BY RECALLING INFORMATION RELATING 70 WAVES PER INCH OF
COLOR AND VISIBILITY. %5n

CHOOSE THE CORRECT ANSWER ]
THE HIGHEST FREQUENCY LIGHT‘WAVF ON THE VISIBLE SPECTRUM IS 1292
Ae BLUE « '
Bs YELLOW.
Ce REDe

*De VIOLET.

WHICH OF THE FOLLOWINMG 1S *NQOT* SEEN BY THE NAKED EYE WHEN WHITE 1294
LIGHT PASSES THROUGH A PRI SMO

*Aes INFRARED
Ba YELLOW
Co ORANGE
D« GREEN

THE RETINA OF THE EYE RECEIVES AND INTERPRETS COLOR. WHICH OF 1295

THE FOLLOWING CANNOT RBE SEFN WHEN SUNLIGHY IS PASSED THROUGH A
PRI SMO

Ae RED
*Be ULTRAVIOLET LIGHT
Ce ORANGE

De YELLOW

R L L L e A TP P e e e e e s vy A F R S S e L
THE STUDENT CAN SHOW HIS tJNDERSTANDING OF THE DOPPLFER 0200

EFFECT BY IDENTIFYING CHANGES IN COLOR AND/OR WAVE LENGTH OF
LIGHT AS STARS MOVE IN THE GALAXY. %3O

CHOOSE THE CORRECT ANSWER. 1
(. AS A STAR MOVES TOWARD THE EARTH A COLOR CHANGE SEEMS TO OCCUR 1296
"BECAUSE

A. THE STAR BECOMES COOLER.

Bs THE STAR BECOMES HOTTFR.

Ce PARTICLES 1IN THE AIR REFLECT THE LIGHT.
#De LIGHT WAVES ARE CROWDED TOGETHER 61

~
'




WHEN LIGHT WAVES ARE CROWDED TOGETHER AS A STAR MOVES TOWARD THE 1297
EARTH WE COULD EXPECTY

Ae THE SURFACE TEMPERATURE OF THE STAR 7O INCREASE,
Be THE SURFACE TEMPERATURE OF THE STAR TO DECREASE.
#Ce THE WAVE LENGTH OF LIGHT TO DECREASE.

Do THE FREQUENCY OF LIGHT WAVES TO BECOME LOWER.

WHAT 1S THE EFFECT OF A STAR MOVING AWAY FROM EARTH AS 1298
DETERMINED BY A SPECTROSCOPED '

Ae THE FRFQUENCY OF LIGHT BECOMES HIGHER

Be THERE IS A COLOR SHIFT TO THE VIOLET END OF THE SPECTRUM

Ce THERE 15 NO NOTICEABLF EFFFCT

*Ds THE FREQUENCY OF LIGHT BECOMES LOWER WITH A SHIFT TO RED
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EARTH SCIENCE

THE STUDENT WILL DEMONSTRATE KNOWLEDGE OF THE GEOLOGICAL CLASSIFICA- 0074

TIONS 'OF ROCKS BY IDENTIFYING THE CATEGORY OF SEVERAL COMMON ROCKSe
%9n A :

CHOOSE THE CORRECT CATEGORY IN WHICH EACH ROCK WOULD BE 0003
CLASSIFIFD.

Ae IGNEOUS

Be SEDIMENTARY

Ce METAMORPHIC

BLACK MARBLE BELONGS TO WHAT GEOLOGICAL GROUPO *C 0299
PUMICE BELONGS TO WHAT GEOLOGICAL GROUPD *A 0300 .
SANDSTONE BELONGS TO WHAT GEOLOGICAL GROUPD *B 0301
LIMESTONE BELONGS TO WHAT GEOLOGICAL GROUPO *B 0302
BASALT BELONGS TO WHAT GEOLOGICAL GROUPO *A 0303
SHALE ‘BELONGS TO WHAT GEOLOGICAL GROUPO A 0304
GIIARTZ BELONGS TO WHAT GEOLOGICAL GROUPO *C | 0305
LAVA BELONGS TO WHAT GEOLOGICAL GROUPQ *A o 0306
COAL BELONGS TO WHAT GEOLOGICAL GROUPO %O 0307

R L AR LS SR RIS R 2SRRI IS ST LTS R EET R Ry R N s P T R R TR R RV

AFTER STUDYING THE DEFINITIONS OF THE LAND SURFACE AND THE OCEAN 0129
FLOORs THE STUDENT CAN APPLY THIS KNOWLEDGE BY CHOOSING WHETHER A

GIVEN CONDITION IS CHARACTERISTIC OF THE OCEAN FLOOR, THE LAND

SURFACEs OR BROTHe %4nD

CHOOSF THE CORRECT ANSWER. 1

LI

MINERAL PRODUCTS CAN BFE FOUND 2400477

L



{

. STMILARITY,

Ao ONLY IN THt UCEANS FLOUR.
B. ONLY IN THE LANDS SURFACE.
#C, BOTH OF THE ABOVE.

THE FORMATIONS WHICH
FORMED ON _
Ae THE FLOOR OF THE OCEAN.
#8¢ THE SURFACE OF THE LAND.
Ce BOTH OF THE AROVE.

SHOW S1IGNS OF WIND AND SOIL EROSION ARE

IF WE DESCRIBED A SURFACE»>S CONDITION AS HAVING BASINSs TRENCHES,
AND SLOPESs WE WOULD BE DESCRIBING

Ae THE FLOOR OF THF OCEAN.

Be THE SURFACE 0OF THE LAND.
#Ce BOTH OF THE ABOVE,

GIVEN INFORMATION ON OCEANOGRAPHY THE STUDENT WILL APPLY HIS

UMDERSTANDING OF EROSION By SELECTING THE LOGICAL EXPLANATION
FOR GIVEN PHENOMENON. %ln

READ THE FOLLOWING STATEMENT, THEN CHOOSE THE LOGICAL EXPLANA-
TION FOR THIS OCCURENCE FROM THE FOLLOWING L 1ST,

THE OCEAN FLOOR IS

VERY SIMILAR TO THE SURFACE OF THE LANDs ONLY
THE OCEAN FLOOR

IS COVERED WITH WATERs. CONTRARY TO THIS

EROSION HAS ALTERED LAND FEATURES TO A GREATER DEGREE
THAN THE OCEAN FLCOR.

THE REASONS FOR THIS BEING JUSTIFIED ARE
Ao THE EROSION FORCTES OF WIMD AND SUN ARE WASHED AWAY ON THE
FLOOR OF THE OCHYAN LEVELING ITS SURFACE. THIS MAKES THE
EFFECTS OF EROSITON UNNOTICEABLE.

Be THE OCEAN FLOOR 1[5 FRFE FROM ANY FORCES OF EROSIONs AND,
THEREFORE, HAS A NATURAL PROTECTION AGAINST ALTERATION OF
ITS SURFACE FEATURES.

THE EROSIOCN FORCES OF WINDs SUNs AND FALLING WATER ARE ONLY
CONNECTED WITH LAND EROSIONs WHEREASy THE SEA HAS TO ONLY
CONTEND WITH WATER EROSION

#Coa

2400477
2400477
2400477

2400478
2400478
2400478
2400478
2400478

0479
2400479
2400479
2400479
2600479
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0132

0089

0487

2400487
2400487
2400487
2400487
2400487
2400487
2400487
2400487
2400487
2400487

*******%***********%*%*******************************%***********************

THE STUDENT CAN RECALL DEFINITIONS OF WEATHERING AND EROSION BY
SELECTING THEM FROM A LIST. %5m T

CHOOSE THE CORRECT ANSWER

WEATHERING IS CAUSED Ry
As WATER AND WINDe
Be HEATe COLD AND FREEZING WATERS
Ce PLANTS,
*Deo BOTH B AND (.,

EROSION IS CAUSED BY
A« HEATs COLD AND
%¥Be WATER AND WINDa

Ce PLANTS,

FREEZING WATER,

- 63

2400488
2400483
2400488
2400488
2400488

2400489
2400489
2400489
26400489




WEATHERING CAN BE DEFINED AS THE

*Ae BREAKING DOWN OF ROQCK.
Be WEARING AWAY OF THE EARTHsS SURFACE.
Ce CARRYING AWAY OF THE EARTHyS SURFACE.

EROSION CAN BE DFEFINED AS THE
Ao BREAKING DOWN OF ROCK.
. Be WEARING AWAY OF THE EARTH,S SURFACE
Ce CARRYING AWAY OF THE EARTHyS SURFACE.
*De BOTH 8 AND C.

THE DOME SHAPE OF A MOUNTAIN IS PROBABLY CAUSED BY
Ao WEATHERING
Be FROSION,

¥Ce BOTH A AND R
De NONE OF THE ABOVE .

2400490
24004590
0490
0490

2400491
2400491
0491
0491
2400491

2400492
2400492
2400492
2400492
2400492
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GIVEN PICTURES OF GEOLOGICAL FORMATIONSy THE STUDENT CAN APPLY N34
THE DEFINITIONS OF EROSTON AND WEATHERING TO PREDICT THEIR
PROBABLE CAUSES.e %5n
i %NEED DIAGRAMS OF THE FOLLOWINGO
bl STUDY THE FOLLOWING PICTURES AND THEN ANSWER THE QUESTIONS WHICH - 0090
FOLLOW.
PICTURE A - RIVER VALLEY
B -~ DESERT
C ~ CRACKED ROCK %NO PLANTS ON OR NEAR ROCKkD
D - GULLY
E -~ LICHEN COVERED ROCK
IN PICTURE A , PROBABLY THE MAIN FORCE WHICH SHAPED THIS LAND 2400493
WAS ‘ 2400493
Ae WIND 2400493
Re PLANT GROWTH. 24004913
*Co WATER 2400493
Ds ICE. 2400493
IN PICTURE B : PROBARLY THE MAIN FORCE WHICH SHAPED THIS LAND 2400494
WAS - 2400494
‘Ao ICE. 2400494
¥Bse WIND« 2400494
Co PLANT GROWTH. 2400494
De WATER 2400494
IN PICTURE C + PROBABLY THF MAIN FORCE WHICH CRACKED THIS ROCK 2400495
WAS 2400495
( *As FREEZING WATER . 2400495
Be PLANT GROWTHe 2400495
Ce WIND, 2400495
‘De A SMALL. ANIMAL .« 2400495
IN PICTURE D 4 PROBABLY THE MAIN FORCE WHICH CHANGED THIS L AND 2400496
WAS 2400496
As WINDe 2400496
¥Be PLANT GROWTH. 2400496
Ce ICE. 2400496
Ne WATFER. 2600496
IN PICTURE E y PROBARLY THE MAIN FORCFE WHICH CHANGED THIS ROCK 2400497
WAS 2400497
Ae WATER 2400497
Be PLANT GROWTH. 2400497
Co WIND. 2400497
#¥De ICE. 2690497
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THE STUDENT CAN APPLY INFORMATION ABOUT SEDIMENTARY ROCK
FORMATION BY CHOOSING FROM A LISTs, THE PROBABLE CAUSES AND

EFFECTS OF SEDIMENTATION

IN SITUATIONS. %3n

CHOOSE THE CORRECT ANSWER.

THERE ARE FOUR LAYERS OF

BOTTOMs LAYER X IS ON TOP OF We Y IS ON TOP-OF X AND Z 1S THE TOP

MOST L AYER.
#As LAYER W

WHICH LAYER

SEDIMENTARY ROCKs LAYER W 1S ON THE

IS THE OLDESTO

59, 6O

0135

1

26400498
2400498
2600498
2400498




Be LAYER X
Ce LAYER Y
De LAYER 7

SOME SEDIMENTARY ROCK IS MADE OF VERY FINE SEDIMENTSs WHAT KIND
OF RIVER BROUGHT THE FINE SENDIMENTSO
#Ae ONE THAT WAS MOVING SLOWLY.
Be ONE THAT WAS MOVING MODERATELY.
Ce ONE THAT WAS MOVING FASTs

2400498
2400498
2400498

2400500

2400500
2400500
2400500
2400500
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THE STUDENT WILL DEMONSTRATE AN UNDERSTANDING OF EARTHQUAKES BY
SELECTING THE CAUSESs LOCATIONSs AND SIGNIFICANCE OF THEIR
OCCURRENCE. %5mn

~
CHOOSE THE CORRECT ANSWER.

WHAT IS THE MAIN CAIISE FOR AN EARTHQUAKED

*Ae ROCK LAYERS SHIFTING TO A NEW POSITION
Be THE CORE OF THE EARTH PUSHING ON THE MANTLE.
Ce SOND WAVE S

IN WHAT LAYER OF THE EARTH DO EARTHOUAKES OCCURO
Ao CORE
Ro MAMTLF

#Co CRUST

SE I SMOGRAPHS MEASURE EARTHQUAKE WAVES WHICH TRAVEL
A« AROUND THE EARTH.
*Be THROUGH THE EARTH.

Cs ALONG THE SUFACF OF THE EARTHS CRtJSTs

SF I SMOGRAPHS ARE IMPORTANT BECAUSE THEY
*Ao TELL US ABOUT THE INSIDF OF THE FARTH.
Be PREDICT WHEN FARTHQUAKES WILL OCCUR.
Ce PREDICT WHERE EARTHQUAKES WILL OCCURe

WHERE WOULD BE THE SAFEST PLACE TO BUILD A HOUSE IN AN EARTHQUAKE
RELTO

A« AT THE SEACOAST
*Be ON AN INLAND PLAIN

Ce IN A VALLFY

De ON A HILLSIDE

0136

2400501
2400501
2400501

2400502
2400502
24005072

26400502

24005013
24005013
2400503

2400503

2400504
2400504
2400504

0504

2400505
2400505
2400505
2400505
2400505
2400505
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THE STUDFNT wiLL SHOW HIS UNDERSTANDING OF THE ROCK CYCLE BY
ANSWERING. CORRECTLY A SFRIFS OF QUESTIONS CONCERNING THE
DIFFERENCES AND RELATIONSHIPS BETWEEN THE ROCKSe %8n

(HOOSE THE CORRECT ANSWERS

STNCE WE HAVE NO WITNESSES TO THE BEGINNING OF THE EARTH, WE

CANNOT BE SURE OF WHAT KINDS OF ROCK WERE FIRST FORMEDs. USING

WHAT YOU KNOW ABOUT THE CONDITIONS UNDER WHICH ROCK FORMS, WHAT
liBCDE OF ROCK WAS PROPABLY THE FIRST KIND FORMED ON EARTHN

A IGNFOUS ki
B+ SEDIMENTARY

-
a

0149

\\../




Cs METAMORPHIC
De A AND C

IN THE ROCK CYCLEs WHAT 1S5 THE RELATIONSHIP BETWEEN MAGMA AND

..IGNFOUC, ROCKO

MAGMA CONTAINS ALL THF MINERALS FOUND IN TGNEOUS ROCKe
Bs MAGMA AND IGNEOUS ROCK ARE BOTH FOUND UNDERGROUND.
%#Ce MAGMA COOLS AND HARDENS INTO IGNEOUS ROCKe. ‘
De MAGMA AND TGNEOHS ROCK HAVE TREMENDOUS PRESSURE ON THEM.

WHICH OF THE FOLLOWING IS *NOT* AN AGFENT OF WEATHERINGO
Ae WATER
#Ra HEAT
Coe WIND
Do ICE

WHILE DRIVING IN A HILLY AREAs YOU COME UPON A VALLEY WHOSE SIDES
FORM A VALLEY» YOU NOTICE HOWEVER THAT THERE IS *NO* STREAM IN
THE BOTTOM OF THE VALLEY. YOU HIKE DOWN YO THE BOTTOM TO TAKE A
CLOSER LLOOKe YOU DISCOVER SAMD, PEBRLESs AND LARGE BOULDERS AT
THE BOTTOM OF THF VALLEY. THE PEBBLES AND BOULDERS ARFE MADE OF

GRANTITE BUT THE VALLEY WALLS ARE MADE OF LIMESTONE. THF VALLEY
IS A RESULT OF

4he GLACIAL EROSION
Be TEMPERATURE VARIANCE.,
Ce EARTHQUAKE ACTIVITY.
¥De STREAM EROSION.

THE DEPOSITION OF THF SAND, PERRLES AND LARGE BOULDERS UPON
LITHIFICATION WILL BFCOMFE wHAT *TYPF# OF ROCKO
#Ae SEDIMENTARY

3s IGNEQUS
Ce METAMORPHIC

OF THE TWO TYPES OF WEATHERIMGy WHICH TYPE PLAYED A GREATER PART
IN CREATING THE VALLEY AND DEPOSITING THE SEDIMENTN
Ae CHEMICAL WEATHERING RFCAUSF THE SEDIMFNTS WFERE SPLIT
ORIGINALLY FROM A SOLID CLIFFe. '
Ba MECHANITCAL WEATHERING BECAUSE ARRASTION SMOOTHED THE SEDIMENT
SHAPE o
Ce CHEMICAL WEATHERING BECAUSE THc STREAM WHICH CUT THE VALLEY
WAS REALLY H CO o
203
*Da MECHANTCAL WEATHERING BECAUSE ARRASION CUT THE VALLEY AND
THE STREAM DEPOSITED THE SFDIMENTS.

I THE ROCK CYCLEs WHAT IS THE RELATIONSHIP BETWEEN IGNEOUS AND
SEDTMENTARY ROCKSO '

Aa IGNECUS ROCKS MELT CAUSING THE HEAVY CRYSTALS TO SETTLE ouTt
AND COOL TO FORM SEDIMENTARY ROCKSe

tBa IGNEOUS ROCKS WEATHFERy ARE DEPOSITED BY WATER, WINDs OR ICE,
ARE LITHIFICATED AND FORM SEDIMENTARY ROCKS,

C- IGNEOUS ROCKS FREEZFy, CRACK APARTs ARE SOLIDIFIED, AND FORM
SEDIMENTARY ROCKS3»

Do IGNEOUS ROCKS DROP TO THE BOTTOM OF THE SEA, RECOME WATER
LOGGED AND ARE CALLFD SEDIMENTARY ROCKS.

YOUR LITTLE BROTHER FINDS A BOULDER. WHICH SEEMS 10 8E MADE OF
SANDSTONE. BUT WHEM LOOKING AT IT YO NOTICE A 4 INCH LAYER .
AROUT IN THE MIDDLE THAT IS DIFFERENT FROM THE OTHER I.AYFRS 1IN

THE BOULDER. THIS MIDDLE LAYER 1S OF THE SAME COLOR AND MATERIAL
6

0952

0953

0954

0955

0956

09

0957
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4% THE REMAINDER OF THE BOULDER #HUTH YOU CANNOT PICK OUT THE
INDIVIDUAL GRAINS OF SAND IN THIS LAYER. WHAT KIND OF ROCK IS
THE MIDDLE LAYEROD

Ao SAMDSTONE WITH TINY GRAINS

Re MARRLE WITH SAND MIXED IN

¥C o PURF QUARTZITE

Ne THF SANDSTONF,S NRIGIMAL GRANITF
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THE STUDENT WILL SHOW HIS UNDERSTANDING OF THE USE OF THE VARIOUS 0151
MINERAL TESTING TECHNIQUES BY JUDGING THE SUITABILITY OF A
TFCHNIQUE N GIVEN STTUATIONS %30

CHONSFE THE CORRECT ANSWER. ' Cl

YD) HAVE BEEN GIVEN A BOX OF UNIDENTIFIED MINERALS AND ARE TOLD 0997
10 IDENTIFY THEMe WHICH OF THE FOLLOWING WOULD *NOT# HELP YOUO

A+ MOHS HARDNESS SCALE

Bo LUSTER OBSERVATION

Ce STREAK TEST

¥De RICHTER SCALF

TWO MINFRAL SPECIMFNS ARE ALIKE IN COLORs WEIGHTy STREAK COLOR» 0998
CLEAVAGE AND LUSTERs ARE THE SPECIMENS THE SAME MINERALO
*#Aes POSSIBLY --—- TRY HARDNESS TESY

Be DEFINITELY -~ HARDNESS CAN VARY IN SPECIMENS

Ce POSSIBLY -— TRY CRACKING SPECIMENS

De DEFINITELY ==~ STREAK TEST (S CONCLUSIVE

THE COLOR TFST 1S OF #LFAST* VALUE IN DETERMINING A MINFRALS 0999
IDENTITY RECAUSE MINFRAL COLOR

Ae CANNOT ALWAYS BE DETERMINED.

¥*Be VARIES IN SPECIMENS DUE TO IMPURITIES,

Ce CHANGES WITH WEATHER CONDITIONS,

Da CAN BE SHARED BY MANY MINERALS,

NS 06303 6 9 36 I K 06 26 6 M 30 3 R RS O 36363 I B 6 T 6 NI e W 36 36 36 36 6 I 36 336 3 6 % N

THE STUDENT WILL SHOW HiS (JNDERSTANDING OF THE USE OF THE MINERAL 0152
IDENTITY TESTS BY CHOOSING THE CHARACTERISTIC A TEST TESTS FROM A
L1ST OF ALTERNATIVES. %2n

THOOSE THE CORRECT ANSWER. 1

CPLITTING A SPECIMEN CAN BF HELPFUL IN IDENTIFYING A MINERAL. 1o00
HAT CHARACTERISTIC IS BFING TESTED IN THIS TESTO
#Ae (LE/\VAGF

Fe HARDNESS

Ce STREAK

De FORM

HrE 1S DROPPEFD ON A SPRCIMEN.  RURRBLFS FORM WHERFE THF DROP WAS 1001
PLACFDs WHAT CAN YOU CONCLUDEO
Ae THF MINERAL HAS NACY IN ITe
B THE MINERAL SHOULD BE TESTED FURTHER.
Ce THE MINERAL IS DIcGOlVJNGa

hLa Yt A1 B8 & ry .
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.M THE STUDENT WILL SHOwW HIS UNDERSTANDING OF MAGMA AND LAVA BY n157

IDENTIFYING THE DIFFERENCES BETWEEN THEM AND THE -CONDITIONS FOR

THEIR EXISTENCE. %3no

CHOOSE THE CORRECT ANMSWER.

-

) THE DIFFERENCE BFTWEFMN MAGMA AND LAVA IS 1028
Ae MAGMA IS PLASTIC ROCK AND LAVA IS LIQUID ROCK.

*Bo MAGMA [S FOUND UNDERGROUND AND LAVA IS FOUND AT THE SURFACE.
Ce MAGMA 1S FOUND AT THE SURFACE AND LAVA IS FOUND UNDERGROUND.
De MAGMA IS5 LIQUID ROCK AND LAVA IS PLASTIC ROCK.

WHERE MAGMA ORIGINATFSs THF TEMPERATURF IS HIGH ENOUGH TO MFELT 1029
MOST ROCK AND YET VERY LITTLE MAGMA [S PRODUCED HERE. WHYO
#Ae THE PRESSURE 15 700 GREAT TO ALLOW LIQUID FORMATION

Be THE HEAT IS *¥NOT#* GREAT ENOUGH TO MELT MAGMA ROCK.

Ce THERE IS *NOT* ENOUGH WATER AT THIS DEPTH TO FORM MAGMA,.

De THERE IS TOO MUCH HEAT CAUSING THE ROCK TO BECOME A GASe.

WHICH LAYER IN THE EARTH TS RESPONSIRLE FOR MAGMA FORMATIONN. 1030
A. INNFR CORE
Be OUTER CNRE
Ce CRUST
*De MANTLE
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THE STUDENT WILL SHOW HIS KNOWLEDGE OF THE PARTS OF A VOLCANO BY 0158
IDENTIFYING EACH IN A MODEL. %6n

1033




-

THE ABOVE IS A CROSS SECTIONAL AREA FROM A VOLCANIC REGIONS on32
MOTICE THE NUMBERED ARFAS. CHOOSE THE NAME FOR EACH NUMBERED
AREA FROM THE POSSIBLE NAMES BELOW.

Ae DIKE

Be PLUG

Co MOLT

Ds VOLCANO
Co BATHOLITH
Fe SILL

s RFSFRVOIS
He GASES

e LAVA FLOW
Je LACOLITH

AREA 1 %A _ 1031
AREA 2 *D 1632
AREA 3 *] , '1033
AREA & *J . ‘ 1034
ARFA & *F . 1035
ARFA 6 %E 1036
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THE STUDENT wWILL SHOW HIS UNDERSTANDING OF THE DIFFERENCES IN 0159
YARIOUS VOLCANIC ERUPTIONS BY MATCHING AN ERUPTION WITH ITS
CHARACTERISTICS. %7n

THE FOLLOWING IS A LIST OF SEVERAL VOLCANIC ERUPTIONS. 0033

BENEATH THIS LIST 1S ANOTHER LIST OF THE PARTS OF AN ERUPTION
WHICH MAKE CERTAIM ERUPTIONS [MPORTANT. MATCH THE NAME OF THE
ERUPTION WITH THE PARY WHICH MAKES IT IMPORTANT.

Ae FIERY CLOUD

Be CINDER CONE

Ce EXPLOSIVE VOLCAND

De SHIELD

Es GAS AND DUST CLOUDS

KRAKATOAs 1883 ¢ , 1037
VESUVIUSs 79 AD *E 1038
PARTCUTINs 1943 *R . 1039
HAWATT ISLAND»S VOLCANOFS  #D 1040
MOUNT FIJIYAMA *B 1041
M7 PELEE %A 1042
SURTSEYs 1963  *C ‘ 1043
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IDENTIFYING THE PARTS OF EARTHQUAKE STUDY. %9n
CHOOSE THE CORRECT ANSWER.

A MOVEMENT ALONG A FAULT IS CALLED A%Nn

#Ao, EARTHQUAKE.
"B NONCONFORMITY.
Ce JOINT.

De ANTICLINE.

A FAULT CAN RE DFFINFD AS A%NN
Ae AREA OF UNCOMFORMITY IN THE CRUST.
Be LOCATION OF VOCANIC ACTIVITY IN THE CRUST.
Ce PLACE VWHERE ROCK LAYERS BEND

#De SECTION OF WEAKNESS IN THE CRUST.

EARTHQUAKES VARY IN INTENSITYe THEIR STRENGTH HAS BEEN PLOTTED
ON A STANDARD SCALE NAMED AFTER

Ae ROSST.

#Be RICHTER,

Ce ROBERTS.

De RICHARDS.

EARTHGQUAKES HAVE BEEN STUDIED BY GEOLOGISTS AND THE SHEAR WAVES
AND PRESSURE WAVES WHICH ARE CAUSED BY EARTHQUAKES HAVE BEEN
CLOCKED ON SEISMOGRAPHS. OF WHAT PURPOSE IS THIS STUDYO
Ae TO PREDICT WHEN EARTHOUAKES WILL OCCUR.
Be TO DETERMINE THE AMOUNT OF ENERGY RELEASED.
¥Ce TO DISCOVER THE COMPOSITION OF THE EARTHS LAYERS,
De TO PREDICT PRODUCTION OF A SEISMIC SEA WAVE,

1054

10595

1056

1058




THE ABOVE ARE ILLUSTRATIONS OF THE 4 TYPES OF FAULTSe ANSWER THE 0035
FOLLOWING QUESTIONS. '

WHICH OF THE ABOVE JS A NORMAL FAULTO *#B 1059
WHICH OF THE ABOVE 1S A STéIKE—SLIP FAULTO #A 1060
WHICH OF THE ABOVE ILLUSTRATE THE HANGING WALL AS HAVING MOVED 1g61

UDOWNWARDO  *C

WHICH OF THE ABOVE IS THE SAN ANDREAS FAULT AN EXAMPLE OFQ #A | 1062
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THE STUDENT WILL SHOW HIS ABILITY TO IDENTIFY THE AGES OF STREAMS 0162
BY CHOOSING THE CHARACTERIST1CS OF EACH AGEs %9n

SYREA 8 BED




THE ABOVE
CROSS SECTION.

AREA

AREA

AREA
AREA
. AREA

CHOO

Il THE ABOVE DIAGRAM,
BIRTHe
YOUTH,.
MIDDLE AGE.

"OLD AGE.

Ao
Be
#Co
Da

1
2

6

SE

*8

*B

*A

*8

*A

*A

1S A DIAGRAM OF A SYREAM VALLEY BOTH AT FACE VALUE AND
NOTICE THE ARFAS LARELED WITH A NUMBER
IF CONSIDERING THE ARFA LARELED BY THAT NUMBER COULD HELP
CETERMINE THE AGE OF THE STREAMa IF YFS CHOOSFE %A%, IF NO,
' ’CHOOSE #B%,

THE CORRECT ANSWER

THE STREAMS AGE IS PROBABLY THAT OF

. . <&
Qé{f?,., t:h’..&é
:! Cn
e F V]

VALLEY g VALLEY
wALL lt § WALL

0036




YHE ABOVE DIAGRAM 1S THAT OF A CROSS SECTION OF A YOUNG STREAM, 1079
THE VALLEY WALLS ARE VERTICAL AND DO NOT FORM THE VvV SHAPE VALLEY
CHARACTERISTIC OF YOUNG STREAMS. WHYO

#Ao MASS MOVEMENT AND SLOPE WASH HAVENST HAD TIME TO SLANT THE

SIDES.

Bs NOT ALL YOUNG STREAMS HAVE V SHAPED VALLEY.

Ce THIS STREAM DQES NOT UNDERCUT THE SIDES CAUSING CAVE INSe.

De .A WATERFALL CUT THIS PARTICULAR AREA OF THE VAILLEYe

ALL THE FOLLOWING ARE CHARACTERISTICS OF OLD AGE STREAMS EXCEPT 1071
Ae WIDER THAN MEANDER BELT FOOD PLANE
Be OXBOW LAKESs MEANDER SCARS

*Cs RAPIDS AND SMALL WATERFALLS
Do CHANGING STREAM COURSE
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THE STUDENTY WILL NDEMONSTRATE KNOWLEDGE OF THE EFFECTS OF GLACIATION 0165
ON LAND +ORMS BY IDENTIFYING THEIR EFFECTSe %3n

CHOOSE THE CORRECT ANSWERS 1
THE KINDS OF CHANGE IN LAND FEATURES CAUSED BY GLACIERS DEPENDS ‘ 10677

JOZM THE GLACIERSS YYPEs VALLEY GLACTERS CUT DEEP, WIDE U-SHAPED
YALLEYSs USE THE ROCK DEBRIS THEY PICK uP 17O GOUGE OUT THE LAND
LND GENERALLY MAKE THE LAND RUGGED. CONTINENTAL GLACIERS
Ae ACT THE SAME AS VALLEY GLACIERS ONLY THEY ARE THICKER.
+3e TEMD TO FLATTEN A{ID ROUMD OFF THE LAND LEAVING MORAINES.
Ce ACT DIFFERENTLY FROM VALLEY CGLACIERS BUT UNKNOWN HOW
CIFFERENT. '
Do TEND TO CUT V-SHAPED WHICH LATER STREAMS FROM THE ALACIER
HiLL USE.

*HORLDWIDE®, GLACIERS ARE RESPONSIBLE FOR ALL OF THE FOLLOWING 1078
TERCEPTH

"X MINERAL PRODUCTIONA

8o SCRATCHED ROCK.

Co HANGING VALLEYS.

De DRUMLINS,

.Ee CTRQUES,

"WORLDWIDE*s GLACIERS ARF RESPONSIABLE FOR ALL OF THE FOLLOWING 1079
TEXCEPT®

Ae ICEBERGS,

Be SOIL TRANSPORT.

Cno MORAINESS

Uw VTTPNES.

“Eo VALLEY TFRRACES.
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THE STUDENT WILL DEMONSTRATE MIS KNOWLEDGE OF THE FORMATION AND 0166
THARACTERISTICS OF GLACIAL MOVEMENT BY IDENTIFYING THE PRINCIPLES

iNVOLVED IN ROTH FORMATION AND MOVEMENT. %3o

CHOOSE THE CORRECT ANSWER. ' 1

AFTER A HEAVY SMOWFALL. YOU AND A FRIEND RUN OUTSIDE AND START 1080

PR




Ae
Be

; 'Co
#De

Ae
b *Bﬁ

Ce

Do

As
B
¥Ce

D

HANDFUL IT TURNS TO ICEe. THIS IS AN EXAMPLE OF

LITHIFICATION.
SEDIMENTATION,
CHEMICAL CHANGE.,
SNOW COMPRESSION.

THE ABOVE SITUATION IS SIMILAR 7O GLACIER FORMATION, BUT WHAT IN
NATURE CONVERTS A SNOwW FIELD YO A GLACIERO

MECHANICAL WEATHERIMG CAUSED THE MELTED SNOW TO BECOME ICE.
WEIGHT OF THE OVERLYING LAYERS CAUSE LOWER LAYFRS TO BECOME
ICE,

ROCKS FALLING FROM CLIFFS ALONG SIDE THE SNOWFIELD CAUSED
THE ICE.

SEDIMENT DEPOSITED BY STREAMS ON THE GLACIER CAUSE THE ICE.

SCIENTISTS TELL US THAT GLACIERS MOVE. HOW CAN A HUGE LAYER OF
ICE MOVED

THE WEIGHY OF THE ICE CAUSES IT TO MOVE IN ANY DIRECTION.
THE SUN MELTS VHE ICE AND MAKES A PUDDLE WHICH FLOWS.

THE PRESSURE OF THE UPPER L AYERS CAUSES THE LOWER LAYERS TO
MOVE IN RESPONSE TO GRAVITY.

THE ATTRACTION BETWEEN THE LARGE MASS OF ICE AND A MOUNTAIN
CAUSED IT TO MOVE.,

1081

1082
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THE STUDENT CAN APPLY CONCEPTS OF ROCK FORMATION BY IDENTIFYING

1

__THE CLASS 70 WHICH SAMPLE ROCKS BELONG. %8n

~- TEACHERS NOTE - NUMBER *ONLY#* THE FOLLOWING ROCK SPECIMENS THE

ROCK
ROCK
ROCK
ROCK

SAME AS BELOW.

1 - SLATE ROCK 5 - PUDDINGSTONE
2 - GRANITE ROCK é -~ MARBLE

3 - LIMFSTONE ROCK 7 -~ CHALK

4 ~ SANDSTONE ROCK 8 -~ SHALE

CHONSE WHICH GROUP EACH OF THE FOLLOWING ROCK SPECIMENS BELONG

INa
Aa
B
Ce
RCCK
ROCK
ROCK

RCCK

IGNECUS .

SEDIMENTARY.
METAMORPHIC.

1 1S CLASSIFIED AS  =C
2 IS CLASSIFIED AS #A
3 1S CLASSIFIED AS #8
&t IS CLASSIFIED AGZ =R
5 15 CLASSIFIED AS =8
6 IS CLASSIFIED AS =C
7 IS CLASSIFIED AS B

8 1S CLASSIFIED AS +#BR

n270

0084

26400535
2400536
2600537
2400538
24600539
2600540
2400541

2400542
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THE STUDENT WILL DEMONSTRATE HIS KNOWLEDGE OF THE RELATIONSHIPS 0153
AMONG. ROCKS BY ANSWERIMG CORRECTLY A SERIES OF RELATTONSHIP
QUESTIONSe %l1m

CHOOSE, THE CORRECT WORD TO COMPLETE EACH RELAYIONSHIP. ' 0030

MAGMA 1S TO IGNEOUS ROCK AS WATER IS TO . 1002
. Ae HOT

*Ba ICE

Co STEAM

De ENERGY

TRTELLIGENCE IS TO MAN AS CRYSTALS ARE TO o : 1003
A IGNEOUS ROCKS

Ba SALT

Ce GEM STONES

De SEDIMENTS

GRAMITE IS Y0 OBSIDIAN A3 A WIFF 15 710 . . 1004
hAe MOTHER
Be LADY
':':'Co A MISS
De GRANDMOTHER

DASALT 1S 70 AS BOY [5 TGO GIRL. 1005
*Aa GRANITE
Re GNEISS
Coa ROCK
s DIAMOND

KAW EGG IS TO BOILING WATER A5 SEDIMENT IS5 TO o 1007
Ao SOFT
#¥Be LITHIFICATION
Cs WEATHERING
De 5AND

CHOLOROPHYLL IS TO PLANTS AS 18 TO SEDIMENTARY ROCK, 1008
Ae GAND
. Bs» CACO
l 3
#Ca LAYERING
De WATER

S0 CRACKS AND RIPPLFE MARKS ARE T0O SEDIMENTARY ROCKS AS ARE 1010
TO A BOOK

As WORDS AND PAGES

*Rs PAGES ANY A COVER

Ce DICTIONARIES AMD BIBLFS

D« READING AND SEEING

BLUE IS5 TO RED AS SLATE 1S 7O . 1011
“ho GNFISS |
Be SHALE
Ce GRAMITE )
Do LIMESTONF

B5G 1% TO ADULT ELEPHANTS AS BANDING OF MINERALS IS TO " 1012
Ae SEDIMENTATION
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THE STUDENT WILL SHOW HIS KMOWLEDGE OF A SOIL PROFILE BY 0154
ANSWERING QUESTIONS CONCERNING THE RATIONALE OF A SOIL PROFILE. %6n

ZONE A REPRESENTS THF TOPSOIL OR UPPERMOST LAYER. NEXT COMES 003v
ZONE B AND SO ONo ANSWER THE FOLLOWING QUESTIONS,.

THOWHAT ZONE WOULD YOU EXPECT TO FIND SANDs GRAVEL AND LARGE 1013
PIECES OF BEDROCKO

Ao ZONE A

Re ZONE R

#Co ZONE C

De ZONE D

WiHAT ZONME WOULD BE MADE OF COHSOLIDATED MATERIALO 1014
Ae ZONE
Bo ZONE

“Ca ZONE
Da ZONE

TSN E >

THE RAGGED LINE AT THE BOTTOM OF ZONE D INDICATES THAT 1015
Ae THE PERSON WHC DREW THE LINE OBVIOUSLY DID NOT KNOW THAT
Z0ME D ENDS SHARPLY,
#Bes THE ZONE DOES NOY END AT THE RAGGED LINE BUT CONTINUES
- DOYNYARD & '
{ Co THERE IS ANOTHER ZONE IN THE PROFILE WHICH 1S NOT SHOWN.
Do ZONE D RLENDS INTO THF ZONE RENEATH ITe

THE SEPARATING LIMES RETWESN ZONES ARF STRAIGHT INDICATING SHARP 1016
DIVISIONS. IH NATURE IS5 THIS FOUNDO

Ae YESs RECAUSE MINFRAL ARE IN LAYERS.

%“}a NOs BECAUSE ONE ZONE RLENDS INTO ANOTHER.

Co YESs AND NDs DEPENDING UPGON THE AREAs

THE FERTILITY OF THE SOIL IS DEFINED AS THE ABILITY TO SUPPORT' 1017
PLANT LIFEs SOTL FERTILITY 15 RORIGINALLY* DEPENDENT UPON

A- THE MINERALS FOUND IN ZONE A,

e THE AMOUNT OF FERTILIZER IM THE SOIL,.

“CTa THE MINERALS FOUND IN THE BEDROCK.

D> THE AMOUNT OF CROPS HARVESTED.

VHE SOIL PROFILE IS THE tLAYERING WITHIN THE 1018
As EARTHo
Bo MANTLE.
Ce CCRES

"De CRUSTe
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UCEANOGRAPHY

THC STUDSNT WILL KNOY THE MEANING OF OCEANOGRADHY RV ¢FI FCTING n)os




ITS CORRECT DIFINITION. %1In

CHOOSE THE CORRECT AMSWER. 1
OCEANOGRAPHY 1§ DEFINED AS 2400470 )
Ae THE STUDY OF QCEANS A& THEY RELATE TO THE LAND FORMS AROUND 2400470
THEM. 26400470
*Be THE SCIENTIFIC STUDY OF OCEANS INCLUDING THEIR HISTORY,
CHEMISTRYs AND ANIMAL L-IFE LIVING IN THEM.
. Co THE SCIENTIFIC STUDY OF OCEANS AS THEY RELATE TO THE 26400470
GLACIAL AGE. 2400470
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WEATHER
THE STUDENT CAN RECALL THE DEFINITION OF THE WATER CYCLE BY 0029
SELECTING IT WHEN GIVEN J1TS DEFINITION. %l1n
CHOOSE THE CORRECT ANSWERS 1
THE PROCESS OF EVAPORATION, CONDENSATION AND PRECIPITATION IS 2400119
KNOWN AS THE 2400119
*Ae WATER CYCLE, 2400119
Boe LIFE CYCLE, 2400119
Ce OXYGEN CYCLE. 24001169 )
De ENERGY CYCLF,. 2400119

*%*%#******#*******ﬁ************%*%****%*****%****%*#************************

THE STUDENT CAN EXTRAPOLATE FROM GIVEN IMFORMATION TO FORM

0041
CONCLUSIONS ABOUT WEATHER., %40
CHOOSE THE CORRECT ANSWER.
IN THE WINTERs HOW WOULD THE AVERAGF TEMPERATURE CLOSE TO A 0184
ILAKE COMPARF WITH THAT OF AREAS FARTHER FROM THE LAKEQ
#Ae 1T WOULD BE HIGHER BY THE LAKE. 2400184
Bsa IT WOULD BE LOWER BY THE LAKF. 2400184
Ce THE TEMPERATURES WOULD BE THE SAME. 2400184
De IT WOULD BE HIGHER BY THE LAKE AT NIGHT AND LOWER DURING 2400184
THE DAY 2400184
IN THE SUMMER, HOW wOULD THE AVERAGE TEMPERATURE CLOSE TO THE 0185
! AKE COMPARF WITH THAT OF AREAS FARTHER FROM THE LAKEQ )
Ae IT WOULD BE HIGHER RY THE (AKE, 2400185
*Re IT WOULD BE LOWER RY THE LAKFEe. 2400185
Ce THE TEMPERATURES WOULD BE THE SAME. 2400185
De IT WOULD BE HIGHER BY THE LAKE AT NIGHT AND LOWER DURING 2400185
THE DAY, 2400185
A SEA BREEZE 1S MOST LIKFLY TO OCCUR 2400186
#Ao ON A SUNMNY DAY 2400186
Be AT HIGHT. . 2400186

Co IN THF WINTFR,




A LAND BREEZE IS #MOST* LIXELY TO OCCUR 0187
As ON A SUMNY DAY 2400187
*Re ON A SUMMER NIGHT
3 Cs IN THE WINTER.
Ds IN THE MORNINGa

2400187
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b THE STUDENT WILL DEMONSTRATE AN UNDERSTANDING OF WEATHER BY é 0052
DISTINGUISHING BETWEFN WFATHER SAYINGS THAT HAVE SOME SCIENTIFIC i
BASIS AND THOSE THAY ARE SUPERSTITIONS. %2n

CHOOSE THE CORRECT ANSWER. : ' 1

WHICH WEATHER SAYING IS A SUPERSTITIONO 2400240

A.

THE NORTH WIND DOTH RLOW
AND WE SHALL HAVE SNOW.

2400240
2400240

#Rs IF THE GROUNNDHOG SFES HIS SHADOW ON FEBRUARY 2, WE WILL 2400240
HAVE SIX MORE WEEKS OF WINTER, 2400240

C. WHEN THE WIND VFERS TO THE EAST 2400240
TIS GOOD FOR NEITHER  MAM NOR BEAST. 2400240

Ds EVENING RED AND MORNING GRAY 2400240
HELPS THE TRAVELER ON HIS WAY 2400240
EVENING GRAY AND MORNING RED 2400240
BRINGS DOWN RAIN UPON HIS HEAD. 2400240

WHICH OF THE FOLLOWING WEATHER SAYINGS IN *NOT* A SUPERSTITIONN

As

IF MARCH COMES TN LIKF A LION, "
IT WwitL GO OUT LIKE A LAMBe

2400241
2400241
2400241

"Be IF IT RAINS ON EASTERS 2400241
IT wILL RAIN THE SCEVEN FOLLOWING SUNDAYS. 2400241

#Co IF THERE IS A RING AROUND THE MOON.» 2400241
IT WILL SOON RAIN OR SNOW. ‘ 2400241

De IF THE GROUNDHOG SEES HIS SHADOW ON FEBRUARY 2, WE WILL 2400241

HAVE S1X MORE WEEKS OF WINTER. 2400241
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THE STUDENT wILL DEMONSTRATE AN UNDEFSTANDING OF VARIOUS WEATHER

0053

INSTRUMENTS RBRY SELECTING THE 1JSES FOR EACH. %60
CHOOSE THE CORRECT ANSWER. 1
A BAROMETER 1S USED 70 MEASURE 2400242
Ao TEMPERATURE., 2400242
Be WIND DIRECTIONG 2400242
Co HUMIDITY, 2400242
#¥De AIR PRESSURE. } 2400242
Eo PRECIPITATIONs . ..° 2400242
TO MEASURE TEMPERATURE, WE USE 2400243
¥Ao A THERMOMETER. > 2400243
o« B. A HYGROMETER, 2400243
% Co K BAROMETER. 2600247
De AN ANEMOMETER. 2400243
A WEATHER VARE TFLLS US ABOUT THE %@) 2400244

Ao HUMIDITY. —m




#Bo WIND DIRECTION. 2600244
Ce WIND SPEED. 2600244
De PRECIPITATION 2400244

TO MEASURE WIND SPEED WE USFE . 2400245
Ae A SPEEDOMETFR, 2400245
*Be AN ANFMOMFTER. 2400245
Ce A BAROMETER. 2400245
Ne A THERMOMETER. 2400245

70 MEASURE THE AMOUNT OF MOISTURE IN THE AIR WE USE 2600246
¥*Aw A HYGROMETER, 2400246
Be A HAROMETFR. 2400246
e A RAIN GAUGF. 2400246

De CLOUNS 2400246

WE MEASHRE WITH A RAIN GAUGE. 26400247
Ae HUMIDITY - 2400247
Be WEATHER ' 2400247

*Ce PRECIPITATION 2400247
De HURRICANES 2400247

***************#***********%*********%**i**********************#*************

THE STUDENT WILL SHOW KNOWLEDGE OF THE TERM METEQROLOGIST BY Q056
SELECTING THE CORRECT AREA OF STUDY. %lno .

CHOOSE THE CORRECT ANSWER. - ‘1

ATMETEOROLOGIST IS A SCIENTIST WHO STUDIES 2400254
Ae SOIL. '

Be METERSe , 2400254
*Co ATMOSPHERE. 2400254

De EARTH, 2400254
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THE STUDENT CAN APPLY THF cONCEPT THAT HEAT IS ABSORBRED BY WATER 0061
AS IT EVAPORATES BY SELECTING THE CONCEPYT THAY 1S RELEVANT 7O A
PRESCRIBED SITUATION. %2m

CHOOSE THE CORRECT ANSWER., 1
A PERSON FEELS COOL WHEN STANDIMG IN A BREEZE IN A WET BATHING 0262
SU1Te  THIS CCCHRRENCE CAN #BEST* BE EXPLAINED BY WHICH OF THE 2400261
FOLLOWINGO 2400261 |
As WARM AIR 1S LIGHTER THAN COLD AIR. 2400261 4
Be THE SUM HEATS THE EARTH UNEVENL Y. 2400261
#Co HEAT IS ABSORBED RY WATER AS IT EVAPORATESS .
De THE RATF OF EVAPORATION INCREASES AS THE TEMPERATURE 2600261
INCREASFS, 2640Q261.
SOME WET COTTON IS WRAPPED OVER THE BULR OF ONE OF TwWO 02673
THERMOMFTERS SHOWING THE SAME TEMPERATURE. BOTH THEFRMOMETERS ARFE 2600262 )
FANNED. WHAT HAPPENSO - 2400262
N Ae THE TEMPERATURE OF THF COTTON THERMOMETER IS HIGHER. 2400262
ERIC #Bs THE TEMPERATURE OF THE COTTON THERMOMETER 15 LOWER. 2400262

Ce THERE IS NO DIFFERENCE IN TEMPERATURE. 2400262

™
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te (A8 TEMPERATURE OF BOTH THERMOMETERS RISES. 2400262
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QTHE STUDENT CAN ANALYZF THE RELATIONSHIPS AMONG A GIVEN SET OF 0068
FACTS BY SELFCTING THOSE MOST RELEVANY FOR THE EXPLANATION OF A
PHENOMENON %DESTRUCTION BY TORNADOESn. %20

‘USE THESE FOUR CHARACTERISTICS OF TORNADOES TO ANSWER QUESTIONS. 0002

-

1. TORNADOES ARE FUNNEL SHAPED.
20 THE WIND SPEED WITHIN THE FUNNEL OFTEN REACHES 500 MILES
AN HOURo

3¢ THE AIR PRESSURFE AT THE CENTER IS LOW. .
4e TORNADOES GFNERALLY MOVE FROM SOUTHWEST 71O NORTHEAST »

WHICH OF THE STATED CHARACTERISTICS ACCOUNTS FOR THE DFSTRUCTIVE 0289
POWER OF TORNADOESO

Ae 1 AND 2. ' 2400288

Bs 1 AND 3. 2400288

#Ca 2 AND 3. R 2400288

De 2 AND 4 2400288

Fe 3 AHD 4, - , . 2400288

LHEM A TORNADO IS APPROACHINGs YOU SHOULD OPEN THE WINDOWS ON THE © 0290

FAST OR NORTHEAST $IDE OF YOUR BUILDING BECAUSE 2400289

Ae 1 AND 2. | 2400289

Be 2 AND 3. . 2400289

. Ce 2 AND 4. | . 2400289

{7 #De 3 AND 4. ) : 2400289

**%*%*****%****%%%%*%%%**%**************************%*************%***%******

THE STUDENT CAN RECCGNIZE THE FACTORS THAT INFLUENCE THE RATE AT 0072
WHICH WATER EVAPORATES BY SELECTING THE FACTOR THAT DOES NOT. %lm
CHOOSE THE CORRECT ANSWER. 1
THE RATE AT WHICH WATER EVAPORATES DEPENDS ON ALL OF THE 0294
EOLLOWING *EXCEPT# 24002973
#Ae BAROMETRIC PRESSUREs 2400293
Be TEMPERATURE, 2400293
Co RELATIVE HUMIDIT. : , 2400293
De WIMNDo 24600293
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THE STUDENT WILL SHOW KNOWLEDGE OF THE TERM ATMOSPHERE BY - 0086
SELECTING ITS CORRECT DEFINITIONs %1m

CHOOSE THE CORRECT ANSWERS | ! |
£~ OF THZ FOLLOWINGs THE ONE WHICH 1S THE BEST DEFINITION OF 0378
4. ATMOSPHERE IS | 2400377
l As THE AIR POLLUTION ABOVE US., 2400377
lERi(f »B. THE ENVELOPE OF AIR AROUND THE EARTH. 2400377
, Ce OUTER SPACE. 2400377

De BALL OF AIR IN SPACE. . 2400377
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AFTER STUDYING THE ATMOSPHEREs THE CHILD WILL KNOW THE LAYERS OF 0087
THE ATMOSPHERE BY IDENTIFYING THEM FROM A LIST. %2n
CHOOSE THE CORRECT ANSWER, 1
OF THE FOLLOWINGy THF ONE WHICH 15 *NOT* A LAYER OF THE 0379
ATMOSPHERE 15§ 2400378
Ao FXOSPHERF o 2400378
*Re HEMISPHFRE 2400378
Cs TROPOSPHERE 2400378
Ce STRATOSPHERE . 2400378
OF THE FOLLOWINGs THF ONF WHICH 1S #*NOT* A LAYER OF THE 0380
ATMOSPHERE IS L 2400379
Ae TONNSPHFRE., ) 2400379
Be TROPOSPHERF, 2400379
Ce STRATOSPHERE ‘ 2600379
#Ds ENVOSPHERE., 2400379
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THE STUNENT WILL SHOW HIS KNOWLEDGE OF THE PRINCIPLES INVOLVED IN 0155
MECHANICAL WFATHERING BY IDENTIFYING THE PRINCIPLE AND/OR ITS
APPLICATION IN A GIVEN SITUATION. %6n

CHOOSE THE CORRECT ANSWER. . 1

SEVERAL ROCK SAMPLES HAVE RFEN HEATED OVER A BUNSEN BURNER UINTIL 1019
THFY ARE VERY HOTe. THE ROCKS ARE THEN DROPPED INTO A BASIN OF
ICE WATERe THE ROCKS CRACK WHEN THEY HIT THE WATER. THIS IS AN
K XAMPLE OF
*Ae MECHANICAL WEATHERING,
Be CHEMICAL WEATHERING
Ce GLACIAL EROSION.
De WEATHER-BEATING.

THE ABOVF EXPERIMENT TOOK PLACE IN A LABORATORY. WHERE IN 11020
*NATURE® COLILD EXAMPLFS OF THIS EXPERIMENT TAKE PLACED
Ae STREAM BED

Be DESERT FLOOR
*Ce MOUNTAIN CLIFFS
De SEA SHORF

WHAT 1S THE REST EXPLANATION FOR WHY THF ROCKS CRACKEDQ 1021
Ae DROPPING THE ROCKS CAUSFD THEM TO CRACK APART.
*He RAPID TFMPERATURE CHAMGE CAUSFD THEM TO CRACK APART.
Ce ICF WATER CAUSES ROCKS TO CRACK APART.
De HEAT CAUSES ROCKS TO MELT AND CRACK APART.

IF I *FILL* AN IRON PIPE WITH WATERs CLOSE BOTH ENDS TIGHTLY 1022

FLACE THE PIPE IN A FREEZER UNTIL THE WATER FREEZESs WHAT
RFSULT MIGHT YOU EXPECTO

Ae THE WATER WILL CRACK.,
Re THE WATER WILL LEAK OUT,

THE END COVFRS WILL EXPLODES
THFE IRON UIDPF Will DiteT . —~an
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IN THE ABOVE EXPERIMENT, WHAT 1S THE BEST CXPLANATION FOR THE 1023
RESULT.
"Ae WATER CRACKS INTO PARTS WHEN 1T FREEZES.
Re COLD WATER EXPANDS TO EXERT PRESSURE ON 175 CONTAINER.
Ce. IRON CRACKS AT TEMPERATURES BFLOW 32 DEG. Fo
#De ICE EXPANDS WHEN [T FREEZES AND EXERTS PRESSURE ON ITS
CONTA INER.

ASSUMING THAT THE ABOVE EXAMPLE IS AN TLLUSTRATION OF MECHANICAL lo2¢
WEATHERING: WHAT PROPERTY OF ROCKS WOULD ENABLE THIS PRINCIPLE 7O
WNRK IN NATURED
*A. POROSTITY
Be SOLIDITY
Ce DENSITY
De PLASTICITY
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THE STUDEMT WILL SHOW HIS UNDERSTANDING OF CHEMICAL WEATHERING. 0156
BY IDENTIFYING SITUATIONS IN WHICH IT IS A FACTOR AND/OR
IDENTIFYING PRINCIPLES INVOLVED IN THE PROCESS. %3m

CHOOSE THE CORRECT ANSWER. , 1

WHEN WALKING THROUGH AN OLD: DESERTED GRAVEYARD, YOU 1025
ORSERVE TOMBSTONFS WHICH CANNOT BE RFEAD AND OTHER
TOMBSTONES WHICH CAN 8F READ., UPON CLOSER INSPECTION
YOl NOTICE THAT THF UNREADABLE TOMBSTONES ARE MADE OF
LIMESTONE WHEREAS THE READABLE TOMBSTONES ARE MADE OF
GRAN!TE. DATES FOUND ON THE GRANITE TOMBSTOMES RANGE
FROM 1829 TO 1900 ~- DATES ON THE LIMESTONES ARE
UNKNOWNs WHAT EXPLANATION FOR THIS VARTANCE IN
RFADABILITY SEEMS RESTO
"Ae THE LIMESTONE TOMBSTONES WERE EXPOSED TO RAIN WATER
MORE THAN THF OTHERS BECAUSE THE OTHERS WERE
' SHELTERED BY TREES,
*B. LIMESTONE READILY DECOMPOSES WHEN COMBINED wITH CARBONIC
ACID WHICH RAIN WATER ACTUALLY ISe
Cwe VANDALS OBVIOUSLY DEFACED THE UNREADABLE TOMBSTONES.

De EXPLAMNATIOM IMPOSSIBLE UNLESS FURTHER INFORMATION IS
GIVENS

YOU HAVE RUBBLED SOMF OF YOUR EXHALED AIR INTO A JAR 1025
OF WATER BY BLOWING THROUGH A STRAWe YOU THEN PUT A
PIECE OF #BLUE LITMUS*® PAPFR INJO THE WATER AND FIND THAT
IT TURNS PINKs THIS INDICATES THAT THE WATER 15 NMOW
AN ACID, HOW DO YOIy EXPLAIN THISO

Ae WATER 1S NATURALLY AN ACID. :

Fe THE WATFR DISSOLYFD SOME OF THE JAR CREATING AN ACID

Ce SALIVA FROM YOUR MOUTH COMATNED WITH WATER,

¥Ne €O FROM YOUR BREATH COMBINED wWITH THE WATERS

?

THE ABOVE EXPERIMENT IS A LLAB EXPERIENCE. WHEN IH NATURE DOES 1027
TH1S OCCURO
Ao WHEM IT RAINSe THE FALLING WATER COMBINES WITH
CO FROM THF ATMOSPHIRE .
7
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FROM THFE SOTHL

Ce WHEN YHE WIND HLOWSs AIR IS FORCFD TO COMHINE WITH
WATER ON THE GROUND %STREAMSs LAKESHD

De WATFR [N THE ATMOSPHERE 15 CONVERTED TO ACID AY COSMIC
RADIA TION,
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THE STUDENT CAN APPLY KNOWLEDGE OF WEATHER CONDITIONS IN A GIVEN 0203
AREA BY MAKING GENERALIZATIONS RELATING YO WEATHER PATTERNS. %40

THOOSE THE CORRECT ANSWER. 1
t WEATHFR RFPORT LISTED THF BAROMETIC PRESSURE IN AN AREA AT 28.4 1307

iMCHESe WHAT TYPE OF WEATHER CONDITIONS WOULD WE EXPECT TO FIND
IN THE AREAO

Ao CLEAR, COOL AND SUNNY

Bs WARMs CLEAR AND SUNNY

#Ce SEVERE WEATHER-HURRICANE PROBABLE

De LIGHT RAIN OR SMOW

A BAROMETRIC PRESSURF OF 28.4 INCHES *MOST LIKELY#* IDENTIFIES AN 1308
ARFA IN

Ae GREENLAND.

*Be THE CARIBBEAN SEA

Ce MAINE »

De ONTARIOy CANADA®

IM PREDICTING WEATHFR CONDITIONS FOR CHICAGO TOMOF«‘ROW» WE WOULD : 1309
AF MOST CONCERNED WITH WEATHER CONDITIONS IN

*Ae DES MOINES, I[OWA

Pe TAMPA e« FLORIDA.

Ce AKRONSs OHIO.

Ds DETROITy MICHIGANS

A COOLING BRFEZE 1S GENERALLY PRESENT ALONG THE LAKEFRONT IN 1310
CHICAGOs THE BREEZF TENDS TO BLOW OUT OVER THE LAKE IN THE
EVENING BECAUSE
Ae THE LLAKF WATER [S COOLF”? THAN THE LAMDe
"Be THE LAND !5 WARMER THAN THE { AKE WATER.
*Co THE LAND LOSES ITS HEAT MORE RAPIDLY THAN WATERa
Ne THE LAKF WATER LOSES [7TS HEAT MORE RAPIDLY THAN WATER
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THFE STUDENT CAN DEMONSTRATE AN UNDERSTANDING OF THE FACTORS n23n
TAUSING THE DIFFERENCES RFTWFEN THE SFASONS BY SFLECTING THF-
CORRECT RESPONSE T0O A GIVFN QUESTION, %4n

CHOOSE THE CORRECT ANSWER, 1

WHY WOULD ONF SUMMER DAY BF COOLER THAN ANOTHFRO 1579
Ae THE SUN IS FARTHER AWAY THAT DAY

#Re THE SUN IS SHININMG THROUGH THE CLOUDS

Ce THE SUN IS SHINING LESS THAT DAY

ER\(:va ARE SUMMER DAYS USIJALLY WARMER THAN WINTER DAYSO 1580

wll Toxt Provided by ERIC

Ae THE SUNsS RAYS ARE SLARTED MORE R4

Ty AN o

-
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“Co THE SUNyS RAYS ARE MORE DIRECY

o~ UHY 15 WINTER SUNLIGHTY COOLER THAN SUMMER SUMLIGHTO 1581
%As THE SUN¢S RAYS ARE SHORTER

Bo THE SUN»S RAYS ARE WEAKER

T o THE SUN»S RAYS ARE LESS DIRECT

WHY DO WE SAY WE HAVE SHORT WINTER DAYSO ' 158
Ao WE HAVE LESS THAN 24 HOURS IN A WINTER DAY
\ B. WE HAVE FEWER DAYS IN THE WINTER THAN IN THE SUMMER

#Co WE HAVE FEWER DAYLIGHT HOURS THAN NIGHT IME HOURS
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THF STUDENT WILL DEMONSTRATE AN KNOUWLEDGE OF EVAPORATION BY 0238
SFLECTING AN ENDING THAT BFST COMPLETFS A GIVEN ASSUMPTION. %1

CHOOSE THE CORRECT ANSVWER. 1
SINCE EVAPORATION CHANGES WATER TO WATER VvAPOR WE CAN ASSUME 1600

THAT WATER VAPOR I35 USUALLY '
wfe DRY AND WARM AIR,

#Ceo MOIST AND WARM ATR.

Ns MOTST AND COLD AlIR.
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USTNG HIS UMDERSTANDING 0OF THE PROCESSES [THVOLVYEDL IN THE ' 0246
MATER CYCLEy THE STUDENT WILL DEMONSTRATE IS ABILITY TO
DISTINGUISH FROM A GROUP OF INFERENCES THOSE THAT CAN BE
CONSIDERED VALID FRGM THOSE THAT WOULD BE INVALIDes %5nb

DIRECTICNS ~ wHICH OF THE FOLLOWING IMFERENCES COULD BE CORRECTLY 0074
MADE ABCUT THE WATER CYCLEG CHOGSE #A%® IF IT IS A VALID
THFERENCE AND ¥ 3% [F 1T IS A NON=VALID INFERENCE,

WF ARE CONSTANTLY GEITING MORE WATER IN THE [FORM OF RAIN THAN WE 1613
ARE LOSING RY EVAPQRATION. 4B

W ARE ALWAYS LOSING AND GAINING WATER OM EARTH., #A 1614
DORE WATER IS LOST FRuUM TVAPCRATION THAN wE RECEIVE IN THE FORM 1615

OF RAINe *8

WATER 1S RECOMING HORFE SCARCYE ALL THE TIME BY THF PROCESS OF 1616
FUAPORAT TONe %N

THERE IS AN ENDLESS SUPPLY OF WATER FROM THE WATER CYCLEe *A 1617
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GIVIN A HYPOTHETICAL SITUATION OF NOY HAVING WATER VAPOR 0247
THE STUDFENT WILL EXHIGIT HIS ARTLITY TO APPLY HIS UNDERSTANDING

o OF THE VALUE OF CORDENSATION By PPREDICTING THE PROBABLE OUTCOMES
EMC CF SUCH A STTUATION. %10n
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FOLLOWING STATEMFNTS WOULD BE PROBARLE OUTCOMES RY CHOQSING
Ae TRUF

Be FALSE IF THIS WOULD NOT BE A PROBABLE OUTCOME.

WITHOUT WATER VAPCR CONDENSING IN THE AIRs CONDITIONS ON EARTH
WOULD BE VERY DIFFERENT.

THERE WOULDN,T BE GREEN PLANTS. *A 1618
\ pFOPLE WOULD HAVE TO SWIM IN SWIMMING POOLS INSTEAD OF LAKES. *B 1619
THF PRICF OF VEGETABLES WOHLD GO UP. *B 1620
PFOPLE WOULD NOT EAT MUCH FRUIT, YEGETABLES, AND FISH BUT MUCH 1622
MEATe ¥B
THERF WOULDNsT BE ANY TREES ON MOUNTAINS. *A | 1623
SEASONS OF THE YFAR WOULD RE DIFFERENT. *A | 1624
CAMELS WOULD BE VERY COMMON AND IMPORTANT ON EARTH. %8 1626
PEOPLE WOULD NOT BUY SNOW-BLOWERSe  *A ) 1627
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THE STUNDENT WILL DEMONSTRATE HIS UNDERSTANDING OF THE CAUSE OF 0252
CONDENSATION BY SELECTING FROM A LIST OF ASSUMPTIONS THOSE WHICH ' o
INFER A HIGHER DEGREE OF PRECIPITATIONe %4n ' }
NFCIDE WHETHER MUCH PRECIPITATION CAN BE EXPECTED IN EACH OF THE 0b76

STARRED PLACES FROM READING THE STATED ASSUMPTIONS,
CHOOSFE *A%* FOR YFSs OR *R* FOR NO.

OCEAN WINDS MOVE OVER % ISLANDS* WITH LARGE AMOUNTS OF WATER 1641
VAPORy *A

AINDS OVER *PLAINS% ARE USUALLY DRY. *8 1642
¥MOUNTAINS * CAUSE MOVING AIR TO RISE. *A - 1643
THE COLD AIR ABOVE THE *ARCTIC LANDS* HOLDS LITTLE MOTSTURE. *B 1644

%*************************&**************************************************

THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF A CHANGE OF AIR 0253

PRESSURE IMDICATFD RY A MERCURY BAROMETER BY SELECTING THE CHANGE
OF ATR PRESSURE IN A GIVEN SITUATION. %20

CHOO SF THE CORRECT ANSWER.

WHEN A MFRCURY HAROMETER SHOWS RISING AIR PRESSUREs IT MEANS THAT 1645
THE AIR PRESSURE IS RECOMING | )
Ae STEADY e
YBe GREATER.
Ce LESSe

WHEN A MERCURY BAROMETFR SHOWS FALLING AIR PRESSURE. IT MEANS 1646
THAT THE AIR PRESSURF 15 RFCOMING




Ae STEADYo
Be GREATER
#Co LESS
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USING GIVEN INFORMATION THE STUDENT WILL DEMONSTRATE 0254
UNDERSTANDING OF BAROMETRIC READINGS OF A MERCURY BAROMETER BY
SELECTING THE WEATHER CONDITIONS DIFFERENT READINGS INDICATES %2n

CHOOSE THE CORRECT ANSWER. 1

REMEMBERING THAT DRY AIR 1s HEAVIER THAN MOIST AIR WHAT CAN BE 1647
EXPECTED WHEN A MERCURY BAROMETER SHOWS THE PRESSURE IS RISINGO
#Ae CLEAR OR FAIR WEATHER
" Be CLOUDING AND LIGHT RAIN
© Ge SEVERE WINDSTORMS

RFMEMBERING THAT NDRY AIR IS HEAVIER THAN MOIST AIRs WHAT CAN BE 1648
FXPFCTED WHEN A MERCURY RBAROMETER INDICATES FALLING PRESSURED

Ae CLEAR WEATHER '
" #Rs CLOUDINESS AND DRIZZLE

Ce A STORM

W3S BN K W NN C I S0 R 3 I K3 3 I T T I I I 36 I S IE I S I I N I3 A A

THE STUDENT WILL DEMONSTRATE HIS KNOWLEDGE OF A COLD FRONT BY 0255

SFLECTING THE EFFECTS A COLD FRONT HAS ON OTHER AIR MASSES. %3n
CHOOSE THE CORRECT ANSWER. 1
A COLD FRONT 1S WHERE A - 1649

Ae WARM AIR MASS MEETS A COLD AIR MASS.
Be COLD AIR MASS SETTLFS ON A WARM AIR MASS.
#Ce COLD AIR MASS MEETS A WARM AIR MASS.

WHEN A LARGE MASS OF COLD AIR MEETS A WARM MASS OF AIR 1650
As THE COLD AIR WILL MOVE OVER THE WARM AIR.
Bo THE COLD AIR WILL SETTLE ON THE WARM AIR.
#Ce THE COLD AIR WILL MOVE THE WARM AIR UPe

IF A COLD ATR MASS 15 KNOWN TO HMOVE RAPIDLY AND FORCE WARM AIR 1651
UPWARD QUICKLYs THE KIND OF WEATHER WE CAN EXPECT FROM A COLD
FRONT IS

Ae CALM.
Be WINDY
£Cs STORMY e
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THE STUDENT WILL EXHIBIT A KNOWLEDGE OF THE NAMES OF THE 3 MAIN 0250
GROUPS OF CLOUD SHAPES BY CORRECTLY SELECTING THE GROUP THAT
NAMES THEM. %lnD

CHOOSE THE CORRECT ANSWERS 1

WHICH GROUP RELOW NAMES. THF 3 MAIN GROUPS OF CLOUD SHAPESH 1637
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Be ALTOs NIMBUSs AND CIRRUS
Ce STRATUSs NIMBUSs AND CUMULUS
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THE STUDENT WILL BE ABLE TO DEMONSTRATE HIS ABILITY .TO IDENTIFY 0251
THE KIND OF WEATHER A PARTICULAR FORM OF CLOUD GENERALLY
PREDICTS. %3m

CHOOSE THE CORRECT ANSWER. : 1

CIRRUSy MEANING *CURL*, CLOUDS USUALLY INDICATE 1638
Re DRIZZLY WEATHER
Ce STORMY WEATHER

STRATUSs MEANING *LAYER¥ OR *A SPREADING OUuT#*#, CLOUDS GENERALLY 1639
PREDICT :

Ae THUNDERSTORMS.

#*Be FAIR WEATHER.

Ce LONG DRIZZLY RAIN.

C'IMULONIMBUS CLOUNDS ARE USHALLY ASSOCIATED WITH 1640
Ae VERY FAIR WEATHER. '
Be SHOWERS,.
#Ce THUNDERSTROMS,
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THE STUDENT WILL DEMONSTRATE HIS KNOWLEDGE OF A Wa..ei + JONT RY 0256

SELECTING THE EFFECT OF A WARM FRONT ON OTHER AIR MASSES. %4m.
CHOOSE THE CORRECT ANSWER. ) 1
‘A WARM FRONT IS WHERE A 1652

*Ae WARM AIR MASS MEETS A COLD AIR MASS,
Be COLD AIR MASS5 MOVES UNDER A WARM AIR MASS.
Coe COLD AIR MASS MFETS A WARM AIR MASS.

YHEN A LARGE MASS OF WARM AIR MEETS A COLD MASS 1653
A« THE COLD AIR WILL RISE SLOWLY.

*Be THE WARM AIR WILL SLOWLY MOVE OVER THE COLD MASS.
Ce THE WARM AIR WILL RISF QUICKLY.,

AN EXAMPLE OF A WARM AJR FRONT APPROACHING A COLD FRONT WOULD RE 1654
Ae MOUNTAIN WIND MOVING DOWN ITNTO A VALLEY.

" %Re OCEAN BREEZF MOVING OVER A MOUNTAIN.
Ce SEA BRFEZE MOVING OVER A BEACH.

BECAUSE A WARM MASS OF AIR HAS LESS DENSITY AND THEREFORE LESS 1655
FORCEs IT WILL MOVE SLOWLY OVER A COLD AIR MASS AND THEREFORE
RRING A :

Ae DRY DAY, )

*Re A DAY OF LIGHT SHOWFRS
Co A DAY OF HEAVY RAINS.
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MACHINES

THE STUDEMT CAN APPLY HIS KNOWLETDGE OF THE MECHANICAL ADVANTAGE 0192
OF A LEVER BY SOLVING PROBLEMS RELATING TO MECHANICAL ADVANTAGE
AND LENGTH OF LFVYER ARMS, %2n

CHOOSE THE CORPECT AMSWER. ]

WHAT 15 THE MECHANICAL ADVANTAGE WHEN A 120 POUND WEIGHT 1S 1272
RATSED BY A LEVER & FEET LONG WITH FULCRUM PLACED 2 FEET FROM
THE LOADO
A+ ONE
Ra TWO
*Cs THREE
De FOUIR

TO SECURE A MECHANTCAL ADVANTAGE OF FOUR, WE MUST HAVE THE 1273
FOLLOWING - A
®Ao LEVER 15 FEFT LONG WITH THE FULCRUM 3 FEET FROM THE LOADe
Be HEAVY LOAD WITH A LFVFR AT LEAST 12 FEET LONG.
Co LEVER 10 FEFT LONG WITH THE FULCRUM 2 FEET FROM THE LOAL.
De LEVFR 15 FEET LONG WITH A FULCRUM 12 FEET FROM THE LOAD.
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THE STUDENT CAN APPLY KNOWLEDGE OF THE RELATIONSHIP OF THE TERMS 0193
WORKs FORCE AND DISTANCE BY SOLVING PROBLEMS T0O DETERMINE THE

AMOUNT OF WORK ACCOMPLISHEDRs THE DISTANCE OVER WHICH THE WORK WAS
ACCOMPL I SHED OR THF FORCE INVOLVED. 93D

CHOOSE THE CORRECT ANSYERS . 1

DURING THE BUILDING OF THE NEW SCHOOL A CRANE EASILY DID 2000 1274
FOOT POUNDS OF WORKo THIS MEANS THAT THE CRANE WAS ABLE TO MOVE
As 200 POUNDS EASILY.
¥Re 200 POUNDS 19 FEET,
Co 2000 POUNDS 10 FFETS
De 200 POUNDS 1 FOOT,

JiM AID JERRY IN PLACING A 50 POUND FLOWER POT ON THE PORCH, 1275
DID 250 FOOT POUNDS OF WORK. HOW HIGH WAS THE PORCHo -
A, 10 FFET
Re & FEFT
Coa 6 FFFT
*no 5 FEFT

A WEIGHT LIFTER DID 2160 FOOT-POUNDS OF WORK IN LIFTING A SINGLE 1276
WEIGHT. HOW MUCH DID THE WEIGHT LIFTER LIFTO
Ae 300 POUNDS -
Be 500 POUNDS
Ca 250 POUNDS - A
%De INSUFFICIENT INFORMATITON

ERIR R R R R R RS R L RS LE LR Rk R LA R R AR R R E RS R RS ST S IR R LSRR T IR LR

THE STUDENT CAN ANALYZE THE RELATIONS

RETWE




THE SINGLF PULLEY RY IDENTIFYING COMMON FLEMENTS., %30

THOOSE THE CORRECT ANSWER.

THE MECHANICAL ADVANTAGE GAINED BY USING A SINGLE PULLEY IS
Ae T¥WQa

*Be ZERO.
Ce FOUR
Ns THRFE

-

BINGLE
ouLLEY

SO

1281




AY EXERTING AN EFFORT ON *C* SHOWN IN THE DIAGRAM WE ARE ACTUALLY 1282
¥As CHANGING THFE POSITION OF %A%, [N RELATION TC THE LOAD.
Be INCREASING THE EFFORT REQUIRED TO LIFT THE LOAD.
Cs REDUCING THE EFFORT REGUIRED TO LIFT THE LOAD.
Do GAINING A MECHANICAL. ADVANTAGE TO DO WORK,

THE EFFORT REQUIRED TO LIFTY *B* Myst RE EQUAL TO *B3i BECAUSE 1283
A. THERF 15 NO MECHANICAL ADVANTAGE.
Re THE PULLEY 16 STATIONARY.

. Co THE MECHANICAL ADVANTAGE IS TWO.

*De THE DISTANCE BETWEEN *B* AND *C* IS5 EQUAL.
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ELECTRICITY
THE STUDENT -WILL SHOW KNOWLEDGE OF CIRCUITS BY SELECTING THE 0057

PURPQOSE FOR WHICH A FUSE WAS NOT INTENDED. %3n
CHOOSFE THE CORRECT AMSWER. ' 1
WHICH OF THE FOLLOWING 1S *NOT* TRUE AROUT A FUSEN : 2400255
*#he IT CAUSES SHORT CIRCHITTSe 2400255
Bs IT BREAKS THE CIRCUIT. 2400255
Ce IT IS PART OF THE WIRING IN BUILDINGS. 2400255
NDe IT HELPS TO PREVENT FIRESe . 2400255

\

A FUSE HAS A WIRE IN 1T WHICH 2400256
A+ CANNOT MELT. 2400256
Be MELTS AT A VERY HIGH TEMPERATURE. 2400256
#Ce MEL1S AT A VERY LOW TEMPERATURE. 2400256
Do IS VERY BRITTLE. ' 2400256
WHEN A FUSE RURNS QUT YOU SHOULD 2600257
. Ae PUY IN A BIGGER FUSE. 2400257
Be PUT A PENNY IN THE FUSE BOXe. 2400257
Coe GET A LIGHT RBULE WITH MORE VOLTAGF. : 2400257
#De FIND OHT WHAT CANSED THE FUSE TC BURN OUT, 2400257

% -
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THFE STUDENT WILL DEMOMSTRATE AN UNDERSTANDING OF ELECTRICAL 0058
INSULATION BY IDEMTIFYING CONDUCTORS FROM NON~CONDUCTORSe. %20

o

CHOOSE THE CORRECT ANSWER. 1
ANYTHING THROUGH WHICH ELECTRONS WILL FLOW IS CALLED A 2400258
*A. CONDUCTOR. 2400258
Ra NONCONDUCTOR, 2400258 |
Ce VOLTS 2600258
De INSULATOR.
ALL OF THE FOLLOWING ARE CONDUCTORS OF ELECTRICITY ¥EXCEPTH 2400259
Ae TRON.
Be STLVER. 2600259

Co COPPER




#De RURBER. 2400259
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THE STUDENT WILL DEMONSTRATE A KNOWLENGE OF ELECTROMAGNETS RY 0060
IDENTIFYING ITS PROPERTIES. %lo
CHOOSE THE CORRECT ANSWER 1
b
ALL OF THE FOLLOWING STATEMENTS ABOUT AN FLECTROMAGNET ARE TRUE 0261}
*EXCEPTH* : 2400260
As ITS STRENGTH CAN BE TNCREASED BY INCREASING THE NUMRER OF
COIL TURNS. : 2400260
*#Be THE COILED WIRE IS5 A MAGNET AS LONG AS ELECTRICITY IS 2400260
FILOWING. ' 2400260
C. ITS STRENGTH CAN BE INCREASED RY ADDING MORE VvOLTS TO THE 2400260
CIRCUIT» 2400260
De IT CAN BE USFD TN GENFRATORS. 2400260
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THE STUDENT WILL SHOW AN UNDERSTANDING OF DIFFERENT TYPES OF . 0061
CIRCUITS BY IDENTIFYING THF CHARACTERISTICS OF PARALLEL AND
SERIES CIRCUITS. %5n

CHOOSF THE CORRECT ANSWFR, T
TWO LIGHT BULBS ARE CONNECTED IN A CIRCUIT USING A 1 1/2 VOLT.DRY 0265
CELLs EACH BULB RECEIVES 3/4 OF A VOLT. THE LIGHTS ARE CONNECT=- 2600267
ED 2400267
*A. IN SERIES. 2400267
Re IN PARALLEL, 2400267
Ce INCORRECTLY, 2600267
Ds TO A SWITCH, 2600267
ALL OF THE FOLLOWING ARE EXAMPLES OF PARALLEL WIRING *EXCEPT# 0269
A» EACH OF THREE BULRS IS AS BRIGHT AS WHEN THERE WAS ONE BULB. . 2600269
Be OUR HOMES ARE WIRED IN THIS WAYe 2400268
Ce EACH RIILB HAS 1TS OWN PATH TO AND FROM THE DRY CilL. 2600268
*D. ELECTRICTTY MUST FLOW THROUGH ALL OF THE BULRS IN THE 2400268
CIRCUIT, 2600268
ALL OF THE LIGHTS ON YOUR CHRISTMAS TREE GO OUT WHEN ONE BULR 0270
BURNS OUTe WHAT KIND OF WIRING MUST THEY HAVED 2600269
A« TUNGSTEN 2600269
Re PARALLEL 2600269
Co FILAMENT 2400269
*D. SERTES : 2600269
TWO DRY CELLS ARE CONNFCTE(D IN PARALLELe. DESCRIBE THF LIGHT WITH 0271
TWO DRY CELLS AS COMPARED 7O THF LIGHT WITH ONE PRY CFLL. THE 26400270
LIGHT WITH TWO CELLS 2600270
As GETS BRIGHTER. 240027¢ )
%8B, 15 THF SAME BRIGHTNE&S, 2600270
C. GETS DIMMER., 2400270
o  Ds GOES 0UT. 2400270

CONNECTION 1S RETTFR WHFN CFLLS ARF TO BE WUSED OVFR A 027’
PERION OF TIMF. S Qo 2600271




- ~

Ae CIRCUIT 2400271

*B. PARALLEL 2400271
Co ,SERIES 2400271
De COMPLFTF 2400271
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THE STUDENT WILL BE ABLE TO DIFFERENTIATE BETWEEN CURRENT AND ' 0167
STATIC ELECTRICITY BY MARKING GIVEN EXAMPLES CORRECTLYe %5m

DIRECTIONS — DECIDE IF EACH EXAMPLE RELOW IS CAUSED BY CURRENT OR 0037
STATIC ELECTRICITYe CHOOSF *A# FOR CURRENT ELECTRICITY AND
CHOOSE #*B* IFf IT IS AN EXAMPLE OF STATIC ELECTRICITY.

LIGHTNING *R | 1083
BURNING LIGHT BULH  *A 1084
A HOT TRON A | 1085
SHOCK WHEN YOU SLIDE OU1IT OF A CAR  #R | 1086
SHOCK WHEN YOU TOUCH A DOOR KNOB *R - | 1087
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THE STUDENT WILL SHOW HIS UNDERSTANDING OF A COMPLETE CIRCUIT 0170
BY SELECTING THE CORRFCT LIST OF COMPONENTS NEEDED IN A GIVEN
SITUATIONs %3n ‘

DIRECTIONS — READ EACH PROBLEM AND DECIDE WHAT EQUIPMENT WILL 0039
BE NEEDED TO MAKE THE I TEM WORKABLE &

MAKE A LIGHT BULR BURN. _ 1101
Ae WIREs BULBs SOCKET FOR BULB

" #%Rs WIREs BULRy RATTERY

Ce PULRs RATTERY s SOCKET FOR RULR
De BULBy SWITCHe BATTERY

MAKE A DOORBELL RING WHEN SOMEONE PUSHES THE BUTTON. 1102
Ae DOORBELL, HATTFRYs WIREs FEFEDBACK CONTROL
Be BATTERY » WIRF 9 SWITCHs FUSE
Ce THFRMOSTAT. WIRF, FUSFy DOORBFLL’
¥Ne BATTERY s WIRE s <WI TCH, NDOORBELL

MAKF AN ELECTROMAGNET. 1103
Ae PERMANENT MAGNET, BATTERY, TACKS '

*Be WIREs BATTILRY » NAIL
Cs WIREs NAIL. BOLT
De BOLTs PERMANENT MAGNETs BATTERY

. < v
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THE STUDENT wiLL APPLY HIS KNOWLEDGE OF BATTERIES TO 0176
BECIDE WHICH TYPE OF BATTERY IS5 BEST SUITED FOR GIVEN USE. %6n

RFAD THE ITEM BELOW AND CHOOSE THF LETTER CORRESPONDING TO THE 0044
TYPE OF BATTFERY THAT WOULD BE BFST..

L e 2P



As DRY CELLS
Re STORAGE BATTERY
Ce SOLAR RATTERY

A RATTERY FOR A SATFLLITF #c 1140
A ARATTFRY FOR A CAR *B 1141
% RATTERY FOR A CLOCK *A 1142
/ BATTERY FOR A RADIO %A 1143
% BATTERY FOR A SMALL PLANF  *R | 114a
A RATTFRY FOR A FLASH CAMFRA %A 1145
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THE STUDENT WILL DEMONSTRATE HIS KNOWLEDGE OF ECECTRICAL 0178
CIRCUITRY BY SELECTING THE ITLLUSTRATION WHICH BEST SHOWS THE
STATED CIRCUITe %4o

(REFER TO DIAGRAMS ON PAGE 88A FOR [TEMS 1156 - 1159 (page 89)







CHOOSF THE LFTTFR OF THE PICTURE THAT *HEST* SHOWS THE TYPE OF 00417
CIRCHIT GIVFN

g%saopr CIRCUIT ¢ 1196
TCOMPLETE CIRCUIT *B 1157
A COMPLETE CIRCUIT A 1158
AN INCOMPLETE CIRCUIT *B 1159
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THE STUDENT WILL ANALYZE THE RELATIONSHIP PETWEEN CONDUCTORS IN 0221
A CHART AND SELECT THF MOST APPROPRIATE MATERIAL THAT COULD BE OR
Wac 1HSED IN A SPECIFTIC SITUATION. %80

THE FOLLOWING CHART IS IN A LOGICAL ORDFERe DETERMINE THE ORDER 0062
AND THEN SELECT THE CORRECT MATERIAL FOR THE FOLLOWING
STITUATTONS,

Te SILVER

7+ COPPER

e ALUMINUM

4¢ IRON

5e¢ GLASS

6e WATER

7« WOGD

8¢ ASBESTOS

G GLASS WOOL
10« COTTON
17Ts ROCK WOOL
12« AIR

THE ORDER OF THIS LI1ST IS DETERMINED BRY THE MATERIAL.S ABILITY 1429
TO

Ao ABSORB HEAT.
‘Bs PRODUCE HEAT,
Cs RETAIN HEAT,
*Ds CONDUCT HEAT.

THF LLIST IS ORDERED FROM 1430
*A, BETTFR TO POORER.

‘Be POORER TO BETTER.

Ce EXPENSIVE T0 INEXPENSIVE

‘De INSULATORS TO CONDUCTORS

IF YOU WERE HOLDING A HANDLE ON,_.-A"PAN ON A STOVEs WHICH OF THE T 1431
FOLLOWING wOULD YOU LIKE THE HANDLE TO BE MADE OFQ
‘A. IRON
Re COPPER
*Co WOOD
‘Ne ALUMINUM

WHICH OF THE FOLLOWING WOULD BE THE *RBEST* MATERTAL TO LINE THE 1432
. BOTTOM OF COOKING PANSDH

*A. COPPER
Ra ALUMINUM
Coe GLASS
Ns IRON

96




THERMAL WINDOWS ARE TWO PIECES OF GLASS WITH AIR CAUGHT BETWEEN 1433
THEMs . IN THE WINTER THESE WINDOWS wCULD

‘ is KEEP THE HEAT OUT. .

‘ *Ho KFFP THE HEAT IN.

Ce BE STRONGER. . !
De BE CLEANER.

A BUILDER WISHES TO KEEP A HOUSE COOL IN THE SUMMER AND WARM IN ) 1434
THE WINTERs SO HE WILL PUT A LINING RETWEEN THE WALLS OF THE
HOUSEe THE BEST MATERIAL HE COULD USE wOULD BE
As ALUMINUM,
Re WOOD.
| #Co ROCK WOOL.
| De ASBESTOS.

3 FRYING PANS OF CHICKEN WERE ON THE STOVE ALL COOKING OVER A 1435
MFDIUM FLAME. AFTER 10 MINUTES 2 OF THE PANS OF CHICKEN BEGAN
TO BURNs THE CHICKEN THAT DIDNsT BURN PROBABLY WAS COOKED IN A
PAN LINED WITH
As TRON.
Be GLASS,
Ce ALUMINUM,
*De COPPER.

THE CHICKEN THAT WAS BURNED THE MOST WAS PROBABLY COOKED IN A 1436
PAN LINED WITH
%Ae TRONs

Re SILVERS
Ceo ALUMINLIM,
De COPPERe.
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THE STUDENT WILL REALIZE THE IMPORTANCE OF ELECTRICITY 8Y 0177
IDFNTIFYING FROM A GIVEN SITUATION THOSE THINGS WHICH COULD NOT '
TAKE PLACE WITHOUT ELECTRICITY. %20

IN THE STORY RELOW READ EACH SENTENCE CAREFULLY. DECIDE IF 0045
EVERYTHING THAT HAPPENS IN THAT SENTENCE COULD TAKE PLACE WITHOUT
*ANY KIND OF ELECTRICITY*®*, THEN SELECT THE ANSWER THAT LISTS ALL
OF THE SENTENCES THAT COULD #NOT* HAPPEN.

MARTHA AWAKENED TO HFR CLOCK~RADID ALARMe 2+ SHE GOT READY FOR 1146
WORKe 3¢ SHE WAS LATE AS UYSUAL SO SHFE JIIST PUT. A PIECE OF BREAD ‘
IN THE TOASTER FOR BREAKFASTe 4o AFTER EATING BREAKFAST SHE
HURRIED TO HER CAR AND DROVE TO WORK.,
Ae 1,3
Be 29344 -
Co 1ls344
De 192,3

JIM CAME HOME FRO'™ SCHOOL. 6o HE WENT TO THE REFRIGERATOR AND 1147
TOOK OUT AN ICE CREAM BAR. 7. THEN HE TURNED ON HIS RECORD '
PLAYER AND L ISTENED TO IT AS HE PLAYED WITH SOME TOYS. 8. HE .
FINALLY PUT HIS TOYS AWAY WHEN HIS MOTHER CALLED HIM TO SUPPER. '2}

Ae S5464708 i
*B, 64971 g
O Ce 53697

n Do 7’8 ) ‘f
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THE STUDENT WILL DEMONSTRATE A KNOWLEDGE OF THE PLANETS BY
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PLANETS AND SPACE TRAVEL

0036 .

SELECTING FACTS CONCERNING INDIVIDUAL PLANETS. %120
CHOOSE THE CORRECT ANSWER., 1
THE PLANET CLOSEST TO THF SUN IS ' 2400149
"Ae VENUS, 2400149
Be PLUTO. 2400149
Ce EARTH, 2400149
De JUPITER, 2400149
*F e MERCURY, 2400149
THF FEARTH IS THE LARGEST PLANFT,. 2400150
“"Ae SECOND 2400150
‘Be THIRD 2400150
*Ce FIFTH - 2400150
De SEVENTH : 2400150
THE SMALLEST PLANET IS 2400151
Ae' URANUS, ‘

. -Re JUPITER, 2400151
£ Ce NEPTUNE, 2400151
L %De MERCURY. 2400151

THE EARTH REVOLVES AROUND 2400152
Ae VENUS. 2400152
Be THE MOON. 2400152

*#*Ce THE SUN. 2400152
NDe ORBITS. 2400152

THE PLANET WHICH SOMFTIMES LOOKS LIKE A MOON TO US WHEN VIEWED 0153

THROUGH A TELESCOPE 1S

%Ae VENUS. 2400153
‘Ce JUPITER., 2400153
Ne URANLIS, 24001573

EFXCEPT FOR THE MOONs THF BRIGHTFST LIGHT IN THE NIGHT SKY IS 2400154

‘Ae THF SUN. 2400154
¥Ro VENUS, 2400154
Ce SATURN. 2400154
De JUPITER, 2400154
THE PLANET THAT IS RINGED RY THREE WIDE BANDS IS 2400155
*A e SATURN. - . 24001 56
Be JUPITFR, 2400155

v Ce NEPTUNF, 2400155

» - De MARS 2400155

THE LARGEST PLANET IS 156
Ae EARTH. 2400156

¥Re JUPITER. » 2400156
Ce SATURN. ui,;.ré.138 2400156




De MERCURY. 2400156

IT TAKES EARTH APPROXIMATELY DAYS TO ORBIT THE SUN. 0157
$Ae 3665 2400157
Ro 1 2400157
Ce 52 2400157
De 7 2400157
E. 200 . 2400157
THE PLANET MOST LIKE YHE EARTH IS 2400158
Ae PLUTO. , 2400158
Be SATURNS' 2400158
#Ce VENUS, 2400158
De MARS. : 2400158
ALTOGETHFRs JUPITFR. HAS SATELLITES 0159
As TWO i 2400159
Re FOUR 2400159
#Ce TWELVE : 2400159
De SIXTEEN 2400159
WHICH PLANET HAS NO SATELLITESOQ 161
#As MERCURY : . 240016)
Be EARTH 2400161
s - JUPITER 2400161
De NEPTUNE 2400161
Eo MARS 2400161

1
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THE STUDENT WILL DFMONSTRATE HIS KNOWLEDGE OF THE DIFFERENTY 0075
SHAPES OF GALAXIESs SUCH AS IRREGULARy ELLIPTICAL, AND SPIRAL, BY
SFLECTING THE SHAPE FOR GIVEN GALAXIES. %30

CHOOSE THE CORRECT SHAPE FOR EACH GALAXY LISTEDa . 4

THE MILKY WAY GALAXY [S CLASSIFIED AS WHAT SHAPEO 0309
Ae IRRFGULAR , 2400308
Re FLLIPTICAL 2400308

sCe SPIRAL ‘ 2400308

THE ANDROMEDA GALAXY IS CLASSIFIED AS WHAT SHAPEO 0310
A« I1RREGULAR , 2400309
Re ELLIPTICAL 2400309

#Ce SPIRAL 2400309
THE HORSF SHOE NEBULA IS CLASSIFIED AS WHAT SHAPEQ 0311
#Ae IRREGULAR 2400310
Be ELLIPTICAL 2400310
Ce SPIRAL 2400310

ER 2L L 8 8 R XXk *%******l-****.****************************************************

THF STUDFNT CAN DEMONSTRATE HIS KNOWLFEDGE OF CONSTELLATIONS RY . 0076

COMPARING AND IDFENTIFYING SPECIFIC STAR GROUPS ON A STANDARDIZED
Q?"STELLATION MAPe %8D

:0SE THE CORRECT CONSTELLATION GRQQEgLN WHICH THE STAR COULD

A\ 0005
BF CLASSIFIED. .

B

55 aera s



RIGFL 1S FOUND IN WHAT CONSTELLATION GROUPD
*Ao ORION :

B« URSA MINOR

Ce CASSIOPELA

VEGA 15 FOUND IN WHAT CONSTELLATION GROUPO
Ae URSA MAJOR
Re URSA MINOR
Ce CASSIOPELA

#*De LYRA

BETELGEUSE 1S FOUND IN WHAT CONSTELLATION GROUPD

A« URSA MAJOR
- Be URSA MINOR
*C e ORION

POLARIS IS FOUND IN WHAT CONSTELLATION GROUPO
Ao URSA MAJOR

*Res URSA MINOR
Ce CASSIOPETA

CASTOR 1S FOUND IN WHAT CONSTELLATION GROUPO
Ae URSA MAJOR
"Re URSA MINOR
Ce ORION
De CASSIOPETA
*Ee GEMINI

REGULUS 1S FOUND IN WHAT CONSTELLATION GROUPO

A+ URSA MAJOR

"Be URSA MINOR

Ce« CASSIOPEIA

*NDe LEO

"Fe ORION

SERUS 1S FOUND IN WHAT CONSTELLATION GROUPO
As URSA MAJOR
‘Be URSA MINOR
Ce LEO
#De CANIS MAJOR
Fe CANIS MINOR

POLLUX IS FOUND IN WHAT CON%TELLATION GROUPO
Ae URSA MAJOR
Be URSA MINOR
Ce CASSIOPEIA
*De GEMINI
Ee ORION

31?7

2400311
2400311

313
2400312
2400312 .
24003172
2400312

0314
2400313
2400313
2400313

0315
2400314
2400314
2400314

0316
2400315
2400315

0317
2400316
2400316
2400316
2400316
2400316

0318
2400317
2400317
2400317
2400317
2400317

0319
2400318
2400318
24600318

12400318

2400318
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THE STUDENT CAN LOCATE AND COMPARE THE BASIC CHARACTERISTICS
OF PLANETS BY USING A STANDARDIZED DIAGRAM OF THE SOLAR SYSTEM.
%150 %NEED DIAGRAM OF SOLAR SYSTEMm

W USING THE ABOVE CHART, LOCATE AND COMPARE THE FOLLOWING PLANETS

e

IN THEIR ORBITAL REVOLUTION AROUND THE SUNe

THE INNER PLANETS REVOLVING ARQUND THE SUN ARE
A« SATURNs NEPTUNESs PLUTO.
Be EARTHs MARSs JUPITER.
Ce JUPITERs SATURNs NEPTUNEe

#De MERCURYs VENUSs MARSs EARTH.

THE OUTER PLANETS REVOLVING AROUND THE SUN ARE
: Ae SATURNs NEPTUNE,s PLUTOy EARTHs MERCURY. '
Be EARTHs MARSs NEPTUNE. .
#Co JUPITERs SATURNs URANUSs NEPTUNEs PLUTO,
De SATURNs URANUSs NEPTUNEs MARS
E+ MERCURYs VENUSs MARS» EARTH.

THE PLANET CLOSEST TO THE SUN IS
Ae VENUS.
¥Be MERCURY .
Ce EARTH
De JUPITERS

THE PLANET REVOLVING IN THE THIRD ORBITAL PLANE AROUND THE SUN IS
A« MARS
Be VENUS.
Ce MERCURY.
#De EARTH

PLANETOIDS ARE FOUND BETWEEN THE ORBITAL PLANES OF
A« MERCURY AND VENUS.
Be VENUS AND EARTHe.
Ce EARTH AND MARS.
#De MARS AND JUPITER.

THE PLANETS WHICH HAVE %NO* KNOWN SATELLITES ARE
Ae URANUS AND EARTH,
Be MERCURY AND MARS,
Ce JUPITER AND SATURN,
*De MERCURYs VENUS AND PLUTO.

THE PLANET WHICH APPARCENTLY HAS THE GREATEST NUMBER OF SATELLITES

IS
Ae SATURNe.
¥Be JUPITER.
Ce URANUS.
De NEPTUNE.

THE SATELLITES WHICH HAS THREE RINGS ROTATING AROUND ITS PLANET
IS '

As NEPTUNE.

Bo JUPITER.

g: #Ce SATURNe

De MARSs

WHICH PLANET HMAS THE SHORTEST REVOLUTION AROUND THE SUNO
261

#*As MERCURY
Be VENUS

0077

0006

0320
2400319
2400319
2400319
2400319

0321

2400320
2400320

2400320

0322
24001321
2400321
2400321
2400321

. 0323
2400322
2400322
2400322
2400322

0324
2400323
2400323
2400323
323

0325
2600324
2400324
2400324

2400324

0326

2400325
2400325
2400325
2400325

. 0327
2400326

2400326
. 2400326

2400326
2400326

0328
2400327
2400327



Cs EARTH
De MARS

WHICH PLANET TAKES 365 DAYS TO REVOLVE AROUND THE SUNO
A« VENUS
*Be. EARTH
Ce MARS
Dae JUPITER

THE PlANET WITH THE SLOWEST ROTAT;ONAL SPEED AS IT REVOLVES
AROQUND THE SUN IS
#A¢ MERCURY.
Bs VENUS,
Ce EARTH,
De MARS .

WHICH PLANET 1S CONSIDERED THE LARGEST Iil SIZE0
Ae MARS
Be SATURN

%*Co JUPITER
De URANUS

WHICH PLANETS APPARENTLY HAVE ONLY TWO SATELL ITESO
Ae EARTH, MARS |
Fe NEPTUNE, PLUTO .
Co MARSs PLUTO '
*De MARSs NEPTUNE

WHICH PLANET IS THE FARTHEST DISTANCE FROM THE SUNO
Ae SATURN
Be URANUS
Ce NEPTUNF

¥De PLUTO

WHICH PLANET 1S CALLED THE SISTER PLANET OF EARTHO
A« MERCURY
Be VENUS

#Ce MARS
De JUPITER

2400327
2400327

0329

2400328

2400328
2400328
2400328

0330

2400329
2400329
2400329
2400329

0331
2400330
2400330
2400330
2400330

0332
2400331

12400331

2400331
2400331

0333

2400332
2400332

2400332
2400332

0334
2400333
24003313
2400333
2400333
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THE CHILD WILL KNOW THE MEANING OF ASTEROID BY SELECTING THE BEST

DEFIN[TION FOR ITe %1m
CHOOSE THE CORRECT ANSWER o

OF THE FOLLOWINGs THE ONE WHICH BEST DEFINES ASTEROID IS
Ae SMALL PLANET,
Be SMALL ASTERS.
Ce SMALL METEORS.
De SMALL STARS.
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THE CHILD WILL KNOW THE MEANING OF ESCAPE VELZ
ITS DEFINITION. %l1n

s CHOOSE THE CORRECT ANSWERe

102

CITYs RY SELECTING

0090

1

0387
2400386
2400386
2400386
2400386

0091

Ty
S
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WHICH OF THE FOLLOWING BEST DEFINES ESCAPE VELOCITYN 0388
*Ae THE VELOCITY NEEDED FOR A SHIP TO LEAVE EARTHsS GRAVITA-
TIONAL PULL.
Be THE VELOCITY NEEDED TO GET OFF THE GROUND.
Ce THE VELOCITY NEEDED TO LEAVE SHIP WHILE ON SPACE.
De NONE OF ABOVE

L R L RLE LIS TS ERETT ****************************************************'_

THE CHILD wlLL KNOW THE MEANINGS OF ROTATION AND REVOLUTION BY 0092
SELECTING THE BEST DEFINITIONS FOR THEMs %2n

CHOOSE THE CORRECT ANSWERe 1
THE TERM WHICH CORRECTLY DEFINES ROTATION IS 0389

*Ae SPINNING OF A BODYe AROUND AN IMAGINARY LINE DRAWN THROUGH
ITS CENTER.
Be SPINNING OF A BODY IN TWO DIRECTIONS,.

Ce MOVING AROUND THE SUN IN A DEFINITE PATH. ' : 2400388

De MOVING AROUND THE MOON IN A DEFINITE PATHse : 2400388
THE TERM WHICH CORRECTLY DEFINES REVOLUTION 15 . 0390
®*Aes THE MOTION OF ONE BODY IN SPACE AROUND ANOTHER.

Be MOVING OF A BODY THROUGH SPACE. 2400386

Ce SPINNING OF A BODY ON AN AXIS, ' 2400389

De FALLING OF A BODY OFF ITS AXI1Se 2400387
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GIVEN THE DEFINITION OF ROTATION AND REVOLUTIONy THE CHILD CAN 0093
APPLY THIS INFORMATION BY PICKING OUT THE EFFECTS OF EACH ON THE
EARTHe %2n
CHOOSE THE CORRECT ANSWER. 1
ONE OF THE EFFECTS OF ROTATION ON THE EARTH IS 0391
~ Aes SEASONS. : 240039
#Be NIGHT AND DAY _ , 2400390
Ce YEAR. ' 2400390
De NONE OF ABOVE, 2400350
ONE OF THE DIRECT EFFECTS OF REVOLUTION IS . | , 0392
Ae RAINFALLS .
*B. SEASONS, 2400391
Ce NIGHT AND DAY, 2400391
De NONE OF ABOVE. 2400391

s
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AFTER HAVING STUDIED THE PLANETS AND THEIR RELATIONSHIP TO THE 0094
SUNy THE CHILD CAN APPLY THIS KNOWLEDGE BY SELECTING FROM A GROUP ’

g OF STATEMENTS THE CORRECT EFFECT THE SUN HAS ON VARIOUS PLANETS,.
S, %20

CHOOSE THE CORRECT ANSWER. _ ' 1

v
ERIC gecause oF 1TS POSITION IN RELATION TO:THE SUNs MERCURY WOULD 0393

Full Tt Provided by ERIC.
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2ROBABLY 2400352

Ae MOVE VERY SLOWLY AROUND THE SUNe 2400392
*Bo HAVE SHORTER DAYS AND NIGHTS THAN ON EARTH,. 24600392
Ce BE EXTREMELY HOT WHEN FACING THE SUN. 2400392
De NONE OF THE AROVE. 2400392
BECAUSE OF ITS POSITION I[N RELATION TO THE SUN, PLUTO WOULD 0394
PROBABLY _ 2400393
As SUPPORT LIFEe 2400393
*#Be BE TOO COLD TO SUPPORT LIFE AS WE KNOW IT. 2400393
Ce MOVE IN A CIRCULAR PATH AROUND THE SUNe 24001393
Ce NONE OF THE ABOVE. 2400393
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THE STUDENT CAN APPLY HIS KNOWLEDGE OF CONDITIONS ON 0201
THE EARTH BY ESTIMATING CONDITIONS WHICH WOULD EXIST ON A
HYPOTHETICAL PLANET. %4t

A HYPOTHETICAL PLANET #*SPAR* IS THE NEWEST MEMBER OF 0055
OUR SOLAR SYSTEMs SPAR 1S 6,000 MILES IN DIAMETER AND ITS ORBIT
VARIES FROM 98 MILLION TO 108 MILLiON MILES FROM THE SUN. SPAR
ROTATES ON A PERPENDICULAR AXIS EVERY 22 1/2 HOURS. 1ITS PERIOD °
OF REVOLUTION ABOUT THE SUN IS 391 DAYS. -

"BASED ON WHAT YOU KNOW ABOUT THE EARTH SELECT THE ANSWER
WHICH WOULD BEST DESCRIBE CONDITIONS ON SPAR.

'OV MUCH DAYLIGHT wOULD THERE BE» AT MQSLT POINTSs DURING A FULL 1299

Q

DAY ON SPARO :
Ae 15 HOURS
Bs 8 HOURS
Cs 14 HOURS
#Ne 11 1/74 HOURS

VHAT WOULD A 100 POUND EARTH BOY WEIGH OM SPARO 13%0
Ae APPROXIMATELY 100 POUNDS
Be APPROXIMATELY 16 POUNDS
Ce APPROXIMATELY 120 POUNDS
*De APPROXIMATELY 65 POUNDS

SUNLIGHT WOULD SHINE ON THF NORTH POLE OF SPAR 1%
A« ABOUT 1/2 OF ITS YEAR.
Ae IMNFREQUENTLY IF EVER DURING THE YEAR.
¥Ceo 22 1/2 HOURS PER DAY - YEAR ROUND.
De DURING THE SUMMER ONLY.

fay
Pt

TEMPERATURE CONDITIONS ON SPAR WOULD _ 13c:
*Ae BE RELATIVELY CONSTANT IN A GIVEN REGION.
Be CHANGE DRAMATICALLY WITHIN A REGION.
Ce VARY FROM SEASON TO SFASONM.
D» WOULD BE MUCH COLDER IN WINTER YHAN IT 1S ON THE EARTHe
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THE STUDENT CAN RECALL THE DEFINITION OF THE SOLAR SYSTEM BY ' 002%
ELECTING ITS BEST DESCRIPTYION. %lm

ERIC
TSR H00SE THE CORRECT ANSWER 104 1

PO




THE SOLAR SYSTEM INCLUDES
Ae THE PLANETSes THE SUN AND GRAVITY 27
#*Be THE SUNy THE PLANETS AND THE PLANETS MOONS 0097
?‘ Ce THE UNIVERSEs THE SUN AND THE PLANETS Qi

£
»

<
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THE STUDENT WILL DEMONSTRATE AN UNDERSTANDING OF THE MOON IN 0030
RELATION TO THE EARTH BY IDENTIFYING STATEMENTS WHICH GIVE THE

RELATIVE POSITION OF THE MOON TO THE EARTH AT CERTAIN TIMES AND

THE EFFECTS OF THE MOT ION OF THE MOON AROUND THE EARTHs %40

CHOOSE THE CORRECT ANSWER. ' | 1

THE MOTION OF THL MOON AROUND THE EARTH EXPLAINS ALL OF THE 2400120
FOLLOWINGs EXCEPT =~ 2400120
. Ae THE PHASES OF THE MOONe. ' 2400120
*B, THE CHANGE OF CONSTELLATIONS THAT WE SEE, 2400120
Ce ECLIPSES ' : 2400120
De SHIFTING OF VYHE TIDESe. ' 2400120
WE ON EARTH SEE A FULL MOON WHEN ) ' 2600121
Ae THE MOON IS BETWEEN THE EARTH AND THE SUN. - 2630121
Be THE SUN IS BETWEEN THE EARTH AND THE MOOWR. 2400121

. #Ce THE EARTH IS BETWEEN THE MOON AND THE SUNe. 2600223
THE DARK SIDE OF THE MOON FACES THE EARTH WHEN 2600 L2
( ‘#Ae THE MOON IS BETWEEN THE EARTH AND THE SUN. ' 7400122
Be THE SUN 1S BETWEEN THE EARTH AND THE MOON. 2400122
Ce THE EARTH 1S BETWEEN THE MOON AND THE SUM,. 2400122
WHICH OF THE FOLLOWING IS TRUEO 2400123
Ae THE MOON REVOLVES AROUND THE SUNe 2400123
Be THE MOON CHANGES 17S SHAPE 2400123
Ce HOT GASES ON THE MOON GIVE OFF LIGHT. ' 2400123
*D, THE SAME SIDE OF THE MOON ALWAYS FACES THE EARTH,. 2600123
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THE STUDENT WILL DEMONSTRATE A KNOWLEDGE OF THE MOON BY SELECTING 0031
FACTS ABOUT ITS SIZEs REVOLUTIONs AND SURFACE FEATURES. %7o .
CHOOSE THE CORRECT ANSWER. , 1
THE MOON REVOLVES AROUND THE EARTH ONCE 2400124

*Ao. EACH 27 DAYSo :
Be EACH SEASON, 2600124

Ce EACH 365 DAYS.
Do A DAY. . 7‘40012'¢
THE MOON IS KEPT IN ITS ORRIT BECAUSE - 26G07 .
~ Ae IT 1S SPINNING AT A HIGH SPEED., , 70 . w25
%K Re IT 15 SMALLER THAN THE EARTH, 4 2600125
#C, OF THE EARTH+S GRAVITY. 125
De. BOTH THE MOON AND EARTH HAVE GRAVITY. 2400125
\‘l

ERJ(j THE EARTH»S NEAREST NEIGHBOR IN SPACE Is. 2400126

-Ae VENUSe 2600126

Qg




Fie MARS 2400126

*De THE MOON. 2400126
wHICH OF THE FOULLOWING WAS #NOT# FOUND ON THE EURFACE OF THE 0127
OONO

A. DEEP CRATERS 2400127
Re TOWERING MOUNTAIN RANGES 2400127
#Co DEEP SEAS OF WATER 2400127
De RILLS OR CRACKS 2400127
THE MOONS DIAMETER IS ocsswvoes A3 BIG AS THE EARTHsS DIAMETER. 0128

Ae ONE—-HALF 2400128

#Be ONE~-FOURTH _ 2400128

Co TWICE 2400128

De FOUR TIMES 2400128
THE MOON I5 A 2400129

tAe SATELLITE ' 2400129

Be PLANET, . 2400129

Ce STAR .. 2400129

Do LIGHTe 2400129
TIDES OCCUR BECAUSE OF THE MOONeS ' 2400130

#A o GRAVITY, 2400130

Be LIGHT, 2400130

Co MOT IOMe _ : 2400130

Do PHASES., 2400130
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THE STUDENT WILL DEMONSTRATE KNOWLEDGE OF THE SOLAR SYSTEM BY oo8s
IDENTIFYING THE NAMES OF PLANLETSe %20
CHOOSE THE CORRECT ANSWERSs : 1
OF THE FOLLOWING. T!'E ONE HOICE WHICH IS *NOT* A PLANET IS 0381
Aas EARTH. 2400380
Bo PLUTO. ’ 2400380
Ce MARS _ . 2400380
Do SUN. 2400380
OF THE FOLLOWING GROUPSs THE ONE WHICH CONTAINS *ONLY®* PLANETS 0382
Is : 2400381
Aae VENUSY MERCURY 2 KRYPTON, . 2400381
Re EARTHo JUPITERs MOON. 2400381
#Ce SATURMy URANUSs HNEPTUNF, . 2400381
De PLUTOs MEPTUNEs SUHs ‘ ) 2400381
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THE STUDENT CAN COMPREHEND THE ARRANGEMENT OF PLANETS IN OUR 0089

SOLAR SYSTEM BY SELECTING THE POSITION OF A PARTICULAR PLANET.
B4

CHOOSE THE CORRECT ANSWER. ! : - 1

YHE PLANET CLOSEST TO THE SUN IS 383
Ae MARS. ~ 2400382

-
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" AERCURY 1S.A PLANET WHICH 15 VERY CLOSE TO THE SUN.

ERIC

'
\

Be LARVHS °
#Ce MERCURY.,
De VENUS,

DTHE PLANET BETWEEM SATURN AND NEPTUNE IS

*Ae URANUS,
Be PLUTO,
Ce JUPITER,
De EARTH.

THE THIRD PLANET FROM THE SUN 1S
Ae MARS,
Be VENUS,

#Ce EARTH
De JUPITER,

THE FURTHEST KNOWN PLANET FROM THE SUN IS L
Ae SATURN.
Be URANUS.
Ce NEPTUNE.

*De PLUTO,

2400382
2400382
2400382

0384
2400383
2400383
2400383

385
2400384
2400384

2400384

2400384

0386
24007385
24600385
2400385
2400385
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GIVEN A PARAGRAPH ABOUT A PLANETy THE CHILD CAN ANALYZE IT BY-o .

STATING WHETHER LIFE DOES OR DOES NOT EXIST ON THAT PLANET. %2n

CHOOSE THE CORRECT ANSWER e

IT REVOLVES
AND ROTATES AT THE SAME RATE, SO THAT THE SAME SIDE OF THE PLANET
ALWAYS FACES THE SUN. THE TEMPERATURE ON THIS SIDE IS ABOUT 3000
DEGREES Foe WHILE ON THE OTHER SIiDE IT IS ABOUT -2000 DEGREES F,

FROM THE PARAGRAPH WE CAN DEDUCE THAT

As LTIFE PROBABLY EXISTS ON MERCURY,
*Beo LIFE PROBABLY DOESNsT EXIST ON MERCURY e
Ce NOT ENOUGH INFORMATION TO DECIDE IF LIFE EXISTS,

SATURN IS THE SIXTH PLANET FROM THE SUNe IT HAS MANY MOONS
AROUND ITe SATURN IS THE ONLY PLANET THAT HAS RINGS AROUND IT.,
SATURN IS THE SECOND LARGEST PLANET IN OUR SOLAR SYSTEM.

FROM THIS PARAGRAPH WE CAN DEDU&E THAT

Ae. LIFE PROBABLY EXISTS ON SATURN.
Be LIFE PROBABLY DOESNY EXIST ON SATURN,
*Co NOT ENOUGH INFORMATION TO DECIDE IF LIFE EXISTS-

fHE STUDENT WILL DEMONSTRATE A KNOWLEDGE OF THE NAMES OF THE
FIRST SEVEN MERCURY ASTONAUTS BY SELECTING THE LIST THAT CONTAINS

0095

1

0395
240039%
2400394
2400394
260039
2460029

240039

240039%
24003%
2600394

240039

0396
2400395
2600395
2400395
24600395
2400395
2400395
2400395
2400395
2600395
2400395

oy .
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ONLY THEIR NAMES. %2n

CHOOSE THE CORRECT ANSWER. 1
FROM THE FOLLOWING GROUPSs CHOOSE THE ONE GROUP THAT CONTAINS THE : 0397
NAMES OF #ONLY#* THE FIRST ASTRONAUTS. .
A. BORMANs GR1SSOMs GLENNs SHEPHARD 2400396
Be ARMSTRONG, COOPERy SCHIRRAs ALDRIN _ 24600396
C. LOVETTs ARMSTRONGs GLENNs CARPENTER 2400396
#De GLENNs COOPERs CARPENTERy SCHIRRA 2400396
OF THE FOLLOWING ASTRONANTSs THF ONE wHO *NEVER¥® FLEW IN A 0398
MERCURY SPACE CAPSULE WAS 2400397
Aes COOPER. , 2400397
#*Be SLAYTON, 2400397
Ce CARPENTER 2400397
De SCHIRRA, 2400397
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THE CHILD CAN COMPREMEND THE DIFFERENCES BETWEEN THE MERCURY AND 0097
GEMINI SPACE PROGRAMS BY SELECTING THE MAJOR CHARACTERISTICS
OF EACHe %21 |

CHOOSE THE CORRECT ANSWER. ' 1
WHICH OF THF FOLLOWING DID *NOT¥ CHANGE FROM THE MERCURY TO THE 0399
GEMINI SPACE PROGRAMO - ,
A« THE NUMBER OF MEN IN THE CAPSULE. ' 2400398
Bs THE BOOSTER ROCKET. . 2600398
Ce THE LENGTH OF TIME IN SPACE. 2400398
Ds THE ENVIRONMENTAL CONTROL SYSTEMa 2600398
#Es THE COMMUNICATION SYSTEM. 2400398
WHICH OF THE FOLLOWING DID *NOT¥ CHANGE FROM THE MERCURY TO THE 0400
GEMINI SPACE PROGRAMO
A« HAVING A COMPUTER IN THE SPACE CAPSULE. 2600399
Be HAVING THE ABILITY TO CHANGE ORBIT. 2600399
#Ce EATING THE SAME TYPE FOOD. 2600399
De BEING ABLE TO RENDEZVOUS AND DOCK WITH A TARGET. . 2400399
Eo BEING ABLE TO COMTROL RE-ENTRY, INTO ATMOSPHERE. 2400399
PSR A Y : vha .

oo Lo B
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AFTER STUDYING THE PROBLEMS OF TRAVELING THROUGH SPACE, THE CHILD . 0099
CAN EVALUATE STATEMENTS ON THE VARIOUS TECHNIQUES OF TRAVELING '
THROUGH SPACE BY CITING THE MOST PROBABLE JUSTIFICATIONS. %3n

READ THE FOLLOWING PARAGRAPH AND THEN ANSWER THE QUESTIONS RELOW. 0014

IN 1962y AFTER PRESIDENT KENNEDYsS DECLARATION TO LAND A MAN
ON THE MOON AND RETURN HIM SAFELY TO EARTHs THE OPERATIONAL HEADS
OF MNASA DEVELOPED THREE PLANS TO MEEYT THIS OBJECTIVE. ONE CALLED
FOR A .DIRECT ATTEMPT TO LAND ON THE MOON, WHERE ONE SHIP WOULD
BLAST OFF FROM THE EARTHs LAND ON THE MOONs AND THEN RETURN TO
EARTHe A SECOND PLAN CALLED FOR A SHIP TO BLAST OFF FROM THE
EARTHs ORBIT THE EARTHs AND HAVE A SECOND SHIP %PART OF THE
FIRSTn LEAVE EARTH ORBITy GO TO THE MOONs LAND, AND THEN RETURN
TO EARTH LEAVING A SPACE STATION IN-EARTH ORBIT. THE THIRD 108




PLAN CALLED FOR A SHiP TO BLAST OFF FROM EARTH. GO [NTO LUNAR
ORBITs HAVE ANOTHER SHIP %PART OF THE FIRSTo UNDOCK, LAND ON THE
MOONs RETURN TO THE MOTHER SHIPs AND THEN RETURN TO EARTH.

JF THE FOLLOWING ITEMSs THE ONE WHICH COULD JUSTIFY THE 0402
ABANDONMENT OF PLAN ONE WAS 2400401
Ae THE GRAVITY ON THE MOON. 2400401
*Be THE GRAVITY ON THE EARTH. . 2400401
Ce THE LACK OF GRAVITY IN SPACE. 2400401
De NONE OF THE ABOVE. 2400401
OF THE FOLLOWING ALTERNATIVESs THE ONE WHICH COULD JUSTIFY THE 0403
ABANDONMENT OF PLAN TWO WAS 2400402
Ae THE POSITION OF THE SPACE STATION IN RELATION TO THE MOON, . 2400402
- Be THE TYPE OF LANDING SYSTEM REQUIRED. 2400402
#Ce TOO MANY NEW TECHNIQUES TO DEVELOP IN SPACE TRAVEL. : 2400402
De NONE OF THE ABOVE. 2400402
OF THE FOLLOWING ALTERNATIVESs THE ONE WHICH DID NOT AFFECT THE 0404
CHOOSING OF PLAN THREE WAS
Ae THE LOW COST OF THE METHOD. ' 2400403
. Be THE SPARSENESS OF NEW TECHNIQUES TO BE LEARNED. : 2400403
#Ce THE DISTANCE BETWEEN THE EARTH AND THE MOON. 2400403
De NONE OF THE ABOVE. : 2400403

*********************************#*******************************************

GIVEN DEFINITIONS OF CENTRIFUGAL FORCE AND GRAVITY, THE CHILD CAN 0103
~ APPLY THESE DEFINITIONS BY EXPLAINING WHY A SATELLITE REMAINS IN
ORBIT. %ln _
CHOOSE THE CORRECT ANSWER. 1
OF THE FOLLOWINGo THE ONE WHICH BEST EXPLAINS WHY A SATELLITE 0410
REMAINS IN ORBIT IS 2400409
A. THE FORCE OF GRAVITY AND THE CENJf'PETAL FORCE BALANCE :

EACH OTHER WITH THE OBJECT REMAINING IN ORBIT AS A RESULT 2400409

. OF THIS. ' 2400409
#B. CENTRIFUGAL FORCE FORCES AN OBJECT OUT AND GRAVITY FORCES 2400409
IT DOWNe REPEATING THIS OVER AND OVER AGAIN KEEPS THE 2400409
OBJECT IN ORBIT AROUND A BODYe. 2400409

Ce BOTH FORCESs CENTRIFUGAL AND GRAVITATIONAL PRODUCE CIRCULAR 2400409
MOTION WHICH KEEPS AN OBJECT IN ORBIT AROUND A BODY. 2400409
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MECHANICS AND HEAT

THE STUDENT WILL RECALL THE DEFINITION OF GRAVITY BY SELECTING IT 0032
_FROM A LIST, %In -
-%L"cuoose THE CORRECT ANSWER. ' 1
THE PULL OF THE EARTH IS CALLED 2400131

Ae MAGNETTSM. 2400131
*Be GRAVITY. 109 ' 2400131

103




Ce UKblISe
De TIDES.

2400131
2400131
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THE STUDENT CAN APPLY THE CONCEPT THAT PITCH DEPENDS ON SPEED OF
VIRRATION ~ THE FASTFR THE VIBRATIONS, THE HIGHER THE PITCH TO
SITUATIONS INVOLVING THE VIBRATIONS THROUGH CERTAIN MEDIUMS, %50

CHOOSE THE CORRECT ANSWER.

THE THICKEST STRING ON A GUITAR PLAYS
#As THE LOWEST PITCH BECAUSE A THICK STRING VIBRATES MORE
 SLOWLY.
Be THE LOWEST PITCH BECAUSE A THICK STRING VIBRATES QUICKLY.

Ce THE HIGHEST PITCH BECAUSE A THICK STRING VIBRATES MORE
SLOWLY .

De THE HIGHEST PITCH BECAUSE A THICK STRING VIBRATES FASYER.

WHEN YOU HUM A HIGH NOTEs YOUR VOCAL CHORDS ARE VIBRATING eaesasse

THAN WHEN YOU HUM A LOW NOTE.
#Ae FASTER
Be SLOWER
Ce LONGER
De HARDER

IF YOU STRIKE FIRST A QUART MILK BOTTLE AND THEN A PINT MILK
BOTTLE WITH A STICKs WHAT HAPPENSO
#Re THE PINT BOTTLE MAKES A HIGHER PITCH.
Be THE PINT BOTTLE MAKES A LOWER PITCHe
Co THE QUART BOTTLE MAKES A HIGHER PITCH.
De BOTH BOTTLES MAKE THE SAME PITCH,

A VIOLINIST PLAYS A NOTEe IT IS NOT THE CORRECT PITCH 30 HE IS
OUT OF TUNEe HE TIGHTENS THE STRINGe NOW THE PITCH 1S

#Ao ‘HIGHER

Be LOWER

Ce THE SAME.

De RIGHT,

WHICH OF THESE DOES #*NOT#* AFFECT PITCHO
Ae ‘LENGTH
#Be LOUDNESS
Co .TENSION
De THICKNESS

0034

1

2400136
2400136
2400136
2400136
2400136
2400136
2400136

2400137
2400137
2400137

~ 2400137

2400137
2400137

2400138

2400138
2600138
2400138
2400138
2400138

2400140 .

2400140
2400140
2400140
2400140

2400141
2400141
2400141
2400141
2400141
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THE STUDENT CAN APPLY THE MOLECULAR THEORY %MATTER IS COMPOSED OF
MOLECULES WHICH ARE ALWAYS IN MOTIONo BY SELECTING STATEMENTS
WHICH EXPLAIN AND PREDICT THE BEHAVIOR OF MATTER. %7no

CHOOSE THE CORRECT ANSWER.

YN A MERCURY THERMOMETER THE MERCURY RISES WHEN THE TEMPERATURE
RISES BECAUSE THF MOLECULES OF MERCURY HAVE
“Ae SPREAD 0OUTY.
Be INCREASED IN NUMBER
Ce EXPANDEDS

1410

0035

1

2400142

- 2400142

2400142
2400142
2400142
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L Cuntoti LAROEN

A STEEL BRIDGE HAS EXPANSION JOINTS
Ae TO MAKE THE BRILGE PRETTIERe
« *Be BECAUSE THE LENGTH OF THE BRIDGE CHANGES.
H  Ce TO MAKE THE BRIDGE EASIER TO RAISE.
De TO PREVENT TRAFFIC JAMS WHEN THERE IS A LOT OF TRAFFICe.

WHEN IS AN ASPHALT ROAD MOST LIKELY TO BUCKLEO
Ae IN THE WINTER

*Be IN THE SUMMER
Ce AT NIGHT
De DURING RUSH HOUK

A STEEL BALL CAN BE PASSED VERY EASILY THROUGH A STEEL RING.
THE BALL IS PLACED IN A FLAME AND HEATED. NOW THE BALL CANNOT BE
PASSED THROUGH THE RINGe. WHAT HAS HAPPENEDO
Ae THE MOLECULES IN THE RALL MOVED FASTER CAUSING THE BALL TO
CONTRACT,.
*Be THE MOLECULES IN THE BALL OCCUPY A LARGER SPACE THAN THEY
DID BEFORE CAUSING THE BALL TO EXPAND.
Ce THE “MOLECULES IN THE BALL GOT BIGGER CAUSING THE BALL 70
EXPAND.
De THE HEAT PRODUCED MORE MOLECULES CAUSING THE BALL TO
EXPANDe

IF THE BALL 1S COOLED. IT
Ae COULD FREEZE BECAUSE ITS MOLECULES WOULD CONTRACT,
*Be COULD PASS THROUGH THE RING BECAUSE ITS MOLECULES HAVE GONE
- BACK TO OCCUPYING THEIR ORIGINAL SPACE.
(M Ce STILL COULD NOT PASS THROUGH THE RING BECAUSE THE MOLECULES
HAVE GOTTEN TOO LARGE.
De WOULD LOSE SOME OF ITS MOLECULES MAKING IT SMALL ENOUGH TO
PASS THROUGH THE RINGe

SUPPOSE THAT BOTH THE STEEL BALL AND THE STEEL RING WERE HEATED
AT THE SAME TIME. WHAT WOULD HAPPENO
Ae THE BALL COULD NOI PASS 1HROUGH [HE RING BECAUSE THE BALL IS
SOLID AND HAS MORE MOLECULES.
Be THE BALL COULD PASS THROHGH THE RING BECAUSE THE RING HAS
MORE SPACE IN WHICH TO EXPANDe _
Ce THF RALL COULD PASS THROUGH THE RING RECAUSE BOTH WOULD
CONTRACT
*De THE BALL COULD PASS 1HROUGH THE RING BECAUSE RBOTH WOULD
EXPAND.

- A BALLOON FILLED wiTH AIR 1S TAKEN FROM A WARM ROOM AND PLACED IN
A COOLER ROOMe THE RALLOON WILL
*¥Ae GET SMALLER.
Re GET LARGER.
Ce BREAK.
Ne STAY THE SAME S17F,

c400142

2400143
2400143
2400143
2400143
24001413

2400144

2400144

2400144
2400144
2400144

2400145
2400145
2400145
2400145
2400145

2400145
2400145
2400145
2400145

2400146
2400146

2400146
2400146
2400146
2400146

2400147
2400147
2400147
2400147
2400147
2400147
2400147
2400147
2400147
2400147

2400148
2400148
2400148
2400148
2400148
2400148
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("HF STUDENT CAN RECALL THE DEFINITION OF FRICTION BY SELECTING 1IT
"FROM A LISTe %1n

CHOOSE THE CORRECT ANSWER

™11

0042



A FORCE AT THE SURFACE OF AN OBJUECT THAT MAKES IT HARD TO MOVE
ANOTHER ORUJECT ACROSS IT 18

Ae LUBRICATION.

Be PRESSURF

Ce GRAVITY.

¥Dwe FRICTION,

2400188
2400188
2400188
2400188

2400188

2400188
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THE STUDENT WILL DFMONSTRATE AN UNDERSTANDING OF FRICTION BY
SFLECTING THE PROPERTIFS OF FRICTION THAT ARE PRESENT IN VARIOQUS
GIVEN SITUATIONS., %8n

CHOOGE THE CORRECT ANSWERS

A DOOR OPENS WITH DIFFICULTYa IT ALSO SQUEAKS. WHAT FORCE IS
AT WORKO ’

#*Ae FRICTION

Be GRAVITY

Ce PRESSURE

Da TENSION

FRICTION MAKES IT
Ae EASIER

#B e HARDER
Ces NICER
De EFFORTLESS

TO MOVE THINGS.

SLIDING FRICTION BETWEEN TWO SURFACES CAN BE REDUCED By
bo INCREASING THE PRESSURE ON BOTH SURFACES,
Be SMOOTHING AND POLISHING B0TH SURFACES, )
Ce LUBRICATING THE SURFACES. e

¥De B AND C. ’
Fe A AND (.

WHICH ONE OF THE FOLLOWING SURFACES WILL OFFER THE MOST FRICTIONO
Ae WAXED PAPER
Be ICE
Ce BLOTTER

*¥Da SAND PAPER

A NAIL IS DRIVEN INTO A BLOCK OF WOOD.
CLAW HAMMER. FRICTION MAKFS THE NAIL
#¥Ao FEEL WARM,
Re SLIGHTLY BENT,
‘Cea MO LUMGER USABLE.
De GET LONGER.

IT IS PULLED OUT WITH A

WHICH ONE OF THE FOLLOWING SURFACES wWOULD BEST DECREASE FRICTIONO
Ae LINOLEUM FLOOR
Be CARPETED FLJIOR
Ce CEMENT FLOOR

*Da WAXED FLOOR

IN WHICH OF THE FOLLOWING SITUATIONS IS THE FORCE OF FRICTION A
HINDERANCED

A« TIRE TREADS ON A CAR

Ra WRITING WITH A PENCIL

Ce BICYCLF BRAKFS

De SCREWING A NUT ON A BOLT

132
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00473

1

2400189
2400189
2400189
2400189
2400189
2400189

2400190
2400190
2400190
2400190
2400190

2400191
2400191
2400191
2400191
2400191
2400191

2400192
2400192
2400192
2400192
2400192

2400193
2400193
2400193

2400193

2400194
2400194
2400194
2400194
2400194
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)

THERE IS FRICTION BETWEEN WHEELS AND AXLESe THE HEAVIER THE
LOADy THE MORE WEAR THERE 1S ON IHE AXLE.® WHICH OF THE FOLLOW-
ING WOULD *NOT#* HELP TO LESSEN THE FRICTIONO :
i A. COVFR THE TWO SURFACFES wliH GREASE
*B. MAKE THE HOLE IN THF WHEEL LARGER
Ce MAKE THE WHEEL HOLES AND THE AXLE SMOOTHER
Ds MAKE THE LOAD LIGHTER
E. USE BALL BEARINGS

2400196
2400196
2400196
2400196
2400196
2400196
2400196
2400196
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THE STUDENT WILL DEMONSTRATE A KNOWLEDGE OF THE STRUCTURE OF THE
ATOM BY IDENTIFYING ITS COMPOSITION AND CHARACTERISTICS, %5n

CHOOSE THE CORRECT ANSWER

- THE BASIC PARTS OF AN ATOM ARE
A+« ELECTRONs PROTONs NUCLEUS.
Be NUCLEUSs ORBIT, PROTON.
#Ceo ELECTRONsy NEUTRONs PROTON.
De ELECTRONs PARTICLEs NFUTRON.

THE NUCLEUS OF AN ATOM CONTAINS

Ae PROTONS AND ELLECTRONS.

Be NEUTRONS AND NEGATIVES.

Ce PROTONSs ELECTONS AND NEUTRONS.
®N, PROTONS AND NEUTRONS.

gn IN ATOMIC REACTIONS AN ELECTRON AND A PROTON SOMETIMES TAKE THE
PLACE OF A
*#A+ NEUTRON.,
Be NUCLEUS.
Cuo NEGATIVE.
De MOLECULE.

WHICH OF THE FOLLOWING IS GROUPED TOGETHER IN SHELLS OR ORBITSO
A+ PROTONS !
B« NEUTRONS
*Co ELECTRONS
Ue ATOMS ‘ ‘
E+ MOLECULES

WHICH OF THE FOLLOWING STATEMENTS IS *NOT#.CORRECTO
*As THE NEUTRON HAS A NEGATIVE CHARGE.

Re THE NEUTRON HAS NO CHARGE.

Ce THE PROTON HAS A POSITIVE CHARGE,

De THE ELECTRON HAS A NEGATIVE CHARGE. :

0054

1

2400248
2400248
2400248
2400248
2400248

2400249
2400249
2400249
2400249
2400249

2400250
2400250
2400250
2400250
2400250
2400250

0251
2400251
2400251
2400251
2400251
2400251

2400252
2400252

2400252
2400252

************************************************************i****************‘

THE PUPIL WILL DEMONSTRATE KNOWLEDGE QF THE SCIENTIFIC DEFINITION

~ OF ENERGY BY SELECIING IT FROM A LISTe %1lno
. &8 :

®> CHOOSE THE CORRECT ANSWER.

SCIENTISTS DEFINE THE ABILITY TO DO WORK AS
Ae THINKING.

07 -

113 X

0059

1

2400260
2400260
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He TALENT
#Ce EMNERGY.
De CURRENT.
Ee STATICa

%4n
CHOOSE THE CORRECT ANSWER.

ALL OF THE FOLLOWING HAVE POTENTIAL ENERGY *EXCEPT#
Aa DRY'CFLL. .
Re COAL
¥Co WIND.
De WOUND SPRINGe

WHICH OF THE FOLLOWING ITEMS IS NOT AN EXAMPLE OF KINETIC
ENERGYD
Ae ROCKIS ROLLING DOWN A HILL.
*Re AN VINEXPLODED STICK OF DYNAMITF.
Ce A FLY BALL TO THE LEFT FIELD.
De WATER FLOWING OVER A DAMe.
WHEN AN OBJECT HAS THE CAPACITY TO DO WORKs IT HAS ENERGY.
*Ae POTENTIAL
Be MECHANICAL
Ce CONDUCTIVE
De KINETIC

THE ENERGY OF MOTION IS
A. MOLECULAR.,
Be MOVEMENT.
*Co KINETIC.
De POTENTIAL.

S

ENERGY AND THAT CONDENSATION RELEASES HEAT ENERGY BY SELECTING
TLLISTRATIONS OF THIS. %l1no :

A
CHOOSE THE CORRECT ANSWER.

WHICH OF THE FOLLOWING CAN BE EXPLAINED BY THE CONCEPT, CONDEN-
SATION RELEASES HEAT ENERGYO
Ae WATER CAN BE BOILED IN A PAPER CUP.
Be PERSPIRING HELPS TO KEEP US COOL.
*Ce A JUG OF COLD LEMONADF GETS WARM WHEN LEFT OUT IN
THE SUN.
Pe A FOG LIFTS AS THE MORNING SUN SHINES.

THE STUDENT CAN APPLY THE CONCEPT THAT A LOSS OR GAIN OF HEATY

THE STUDENT CAN DISTINGUISH BETWEEN POTENTIAL ENERGY %STOREDo AND
KINETIC ENERGY %ENERGY OF MOjIOND BY SELECTING EXAMPLES OF EACH.

THE STUDENT CAN APPLY THE CONCEPTS THAT EVAPORATION REQUIRES HEAT

" AFFECTS MOLECULAR MOTION BY CHOOSING AN EXAMPLE THAT [LLUSTRATES

444 |—

2400260
2400260
2400260
- 2400260
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0062

1

0264
2400263
2400263
2400263
2400263

0265
2400264
2400264
2400264
2400264
2400264

0266
2400265
2400265
2400265
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THIS CONCEPTe %1m

' CHOOSE THE CORRECT ANSWERS 1

] PWHICH STATEMENT 1S TRUEO 292

Ae THE SAME AMOUNT OF HEAT IS RELEASED WHEN WATER CHANGES TO 2400291

| STEAM AS WHEN STEAM CONDENSESe 2400291
*Be STEAM WILL CAUSF A BURN MORE THAN BOILING WATERs

Co MOLECULES OF STEAM MOVE SLOWER THAN MOLECULES OF BOILING 2400291

WATER. 2400291

De AS ICE 1S HFATED, ITS MOLECULES MOVE AT THE SAME SPEED. 240029
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THE STUDENT CAN APPLY SIR TSAAC NEWTONS LAWS OF MOTION BY 0078
CHOOSING THE LAW WHICH DFSCRIBFS AN FMPIRICAL SITUATION. %51
SFLECT ONE OF SIR I1SAAC NEWTONsS THREE LAWS OF MOTION. 0007
Ae FIRST
Be SECOND .
Ce THIRD
Ds ALL OF ABOVE
A JET PROPELLED TOY AUTOMOBILE ILLUSTRATES WHAT LAW OF MOTIONO *C 0335
A BALL ROLLED ACROSS A TABLE AND THEN COMES TO A STOP ILLUSTRATES 0336
WHAT LAWO *A 336
STEPPING FROM A ROWBOAT AND THE BOAT SLIPS BACKWARD ILLUSTRATES 0337
( NHAT LAWO *C' 337
PUSHING A PIANO ACROSS THE ROOM ILLUSTRATES WHAT LAWO %B 0338
OBJECTS THAT HAVE MAGNETIC ATTRACTION. TO EACH OTHER ILLUSTRATE 0339
WHAT LAWO *B .

339
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THF STUDENT WILL KNOW THE MEANINGS OF LITMUS PAPERs ACIDs BASE, 0082

AND NEUTRAL SUBSTANCE BY SELECTING THF CORRECT DEFINITIONS FOR
THESE TERMSe %4nD

CHOOSE THE CORRECT ANSWER. R

THE DEFINITION OF LITMUS PAPER IS

JQS

[P 4

368

Ae RED CONSTRUCTION PAPER THAT BECOMES BLUE IN WATER. 2400367
%Re PLANT COMPOUND EXTRACTED FROM LICHENS TO INDICATE ACID OR :

BASE. :

Ce BLUE CONSTRUCTION PAPER THAT BECOMES RED IN WATERs 2400367

De NONE OF THE ‘ABOVE. 2400367

AN ACID IS ANY OF A GROUP OF CHEMICAL COMPOUNDS THAT 0369

*¥As TASTES SOUR AND TURNS -BLUE LITMUS PAPER RED.

Re TASTES SWEET AND TURNS RED LITMUS PAPER BLUE. ,
Coe IS TOO STRONG TO STORF IN GLASS BOTTLES. 2400368

A BASE 145 ANY OF A GROUP OF CHEMICAL COMPOUNDS THAT 0370
Ae ALWAYS CONTAINS AN AMOUNT OF AMMONIA IN IT. 2400369
Be IS COLORLESS AND COMES ONLY IN LIOUID FORM, 2400369
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#Ce
De

FEELS SLIPPERY ARND TURNS RED LITMUS PAPER BLUE.
NONE OF THE ABOVE.

A NEUTRAL SURSTANCE IS AMY OF A GROUP OF CHEMICAL COMPOUNDS THAT

*A..
Be
Cao

IS NEITHER AN ACID NOP A RASE.
REACTS WITH BOTH BLUF AND RED LITMUS PAPER.
NEITHER OF THE ABOVE

2400369
2400369

0371

LR XA S AZE XSRS LSS ST SRS RS S S SRS RS ETLIIIELLTIILILLL LA SR LY SR L LYY

THF STUDENT WILL DEMONSTRATE AN UNDERSTANDING OF ACINDS AND BASES

0083

BY SELECTING THE EXAMPLES OF EITHER ACIDS OR BASES FROM GROUPS OF

CHFMICAL COMPOUNDS. %20

CHOOSE THE CORRECT ANSWER. 1
OF THE FOLLOWING GROUPS OF CHEMICAL COMPOUNDSs THE *ONE* THAT 0372
CONTAINS *ONLY* ACIDS 15 2400371
A« HYDROCHLORICs SULFURTIC»s» AMMONIA,. 2400371
Be AMMONIAs HYDROCHLORIC, TANNIC, 2400371
*#Ce HYDROCHLORICs SULFURICs TANNIC, 2400371
De AMMONIA,s SULFURICs TANNIC 2400371
OF THE FOLLOWING GROUPS OF CHEMICAL COMPOUNDSs THE *ONE#* THAT 0373
CONTAINS *ONLY* BASES IS 2400372
Ae AMMONTA, WATERs BLEACH, 2400372
*RBe 'AMMONIAs BLEACH, POTASSIUM HYDROXIDE 2400372
Ce WATERs BLEACHs POTASSIUM HYDROXTDEe 2400372
De AMMONIA, WATERs POTASSIUM HYDROXIDE. 2400372
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THE STUDENT WILL EVALUATE STATEMENTS PERTAINING TO ACIDS,
AND NEUTRAL SUBSTANCES AND SELECT THE STATEMENT THAT
TERMS OF THE DEFINITION FOR A NEUTRAL SUBSTANCE.

BASES s
IS VALID IN
%lo

READ THE' FOLLOWING STATEMENT AND DECIDE WHICH OF THE FOUR CHOICES

THAT

FOLLOWS IS VALID.

- A NEUTRAL SUBSTANCE 1S NOT AN ACID OR A BASE WHILE AT THE SAME

TIME
kAo

Be

De

‘EVEN THOUGH THE
QUANTITIES OF AN ACID AND A BASE.

1T IS BOTH AN ACID ARD A BASE.,
THIS STATEMFNT

IS TRUF BECAUSE WHEN TESTED WITH LITMUS PAPER
THE NEUTRALITY OF THE SURSTANCE WILL BE PROVEN
SUBSTANCE WAS MADE BY COMBINING FQUAL

AND PH,

THIS STATEMENT

IS FALSE BECAUSE A SURSTANCE CAN BE ONLY ONE
THING,

IN THIS CASE NEUTRALe IT CAN NEVER BE TWO THINGS AT

THE SAME TIMEs AN ACID OR A BASE,

THIS STATEMENT IS TRUE BRECAUSE ACIDSs BASES AND NEUTRAL
SUBSTANCES ARY ALL CHFMICAL COMPOUNDS AND CAN EITHER BE
COMBINED OR SEPARATED AT ANY TIME.

THIS STATEMENT IS FALSE BECAUSE ACIDS AND BASES WILL NOT
READILY FORM WHEN COMBINED UNLESS THE ACID AND BASE ARE BOTH
EQUALLY STRONG NEUTRAL SUBSTANCES OR EQUALLY WEAK.
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AFTER HAVING STUDIED GRAVITY THE C?i N CAN ANALYZE STATEMENTS ON

G

0098



THE FEFECTS OF GRAVITY ON VARIOUS RODIESs RY CHNOSING THE BEST
EXPLANATION FOR A GIVEN PHFNOMENe. %l1no

AFTER READIMG THE FOLLOWING STATEMENT, DECIDE WHICH OF THE 0013
M HOICES IS THE BEST EXPLANATION.
q
wWwITH ALL THINGS BEING EQUALs A ROCKET CAN BE BLASTED OFF FROM 0401
THE MOON WITH SIX TIMES THE WEIGHT OF A ROCKET BEING BLASTED OFF 2400400
ON EARTH, : 2400400
Ae THIS 1S EXPLAINED BY THE FACT THAT THE MOON IS SO FAR AWAY 2400400.
FROM THE EARTHe 2400400
¥Be THIS IS EXPLAINED BY THE FACT THAT THE GRAVITATIONAL FORCE 2400400
CN THE MOON IS LESS THAN THAT ON THE EARTH,.
Ce THIS 1S EXPLAINED BY THE FACT THAT THE MOON IS MOVING FASTER 2400400
THAN THE EARTH AND THIS SPEED HELPS LIFT MORE WEIGHT INTO 2400400

C

SPACE . 2400400
De THIS IS EXPLANED BY THE FACT THAT THE GRAVITATIONAL FORCE IS :

GREATER ON THE MOON THAN IT IS ON EARTH.
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THE STUDENT CAN DEMONSTRATE AN UNDERSTANDING OF ROCKET ENGINES 0101
AND JET ENGINES BY CHOOSING THE MAJOR DIFFERENCES IN THE TWO. %2n
CHOOSE THE CORRECT ANSWER. 1
OF THE FOLLOWINGs THE ONE WHICH IS A MAJOR DIFFERENCE BETWEEN ' 0406
A ROCKET AND A JET ENGINE 1S 2400405
" Ae THE AMOUNT OF FUFL USED IN REACHING OUTER SPACE, 2400405
*Be THE ROCKET ENGINF DOESNsT NEED AIR FROM THE OUTSIDE.
Ce A ROCKET USES ONLY SOLID FUEL TO BLAST OFF, 2400405
De NONE OF THE ABOVE. 2400405
OF THE FOLLOWINGs THE ONE WHICH IS A MAJOR DIFFERENCE BETWEEN 0407
A ROCKET AND A JET ENGINE IS 2400406
~*Ae THE AMOUNT OF THRUST POSSIBLE. 2400406
Be THE DESIGN OF THE COMRBUSTION CHAMBER. 2400406
Ce THE OXIDIZER USEDs 2400406

De NONE OF THE ABOVE. : 2400406
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THE CHILD WILL DEMONSTRATE AN UNDERSTANDING OF NEWTONS FIRST LAW 0105
OF MOTION BY CHOOSING FROM A LIST THE BEST EXAMPLE OF THIS f
PRINCIPLE. %I1m

CHOOSE THE CORRECT ANSWER. 1
OF THE FOLLOWING ‘ITEMSs THE ONE WHICH BEST ILLUSTRATES NEWTONS 0412
FIRST LAW OF MOTION 1S 2400411
-#Ae PULLING A TABLECLOTH OFF A TABLE WITH DISHES REMAINING ON : 2400411
THE TABLE. 2400411

Be TWIRLING A HOOLA-HOOP AROUND YOUR WAIST FOR THREE MINUTES. 2400411
Ce MAKING A SHARP TURN IN AN AUTOMOBILES 2400411
De. NONE OF THE ABOVE. _ 2400411
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FHE STUDENT WILL KNOw THE MEANING OF DENSITY BY SELECTING THE 0126
CORRECT DEFINITION FOR IT., %lmo

CHOOSE THE CORRECT ANSWER. : 1
DENSITY IS DEFINED AS 2400471
Ae THE BUOYANCY OF A SUBSTANCE. 2400471
Be THE THICKNESS OF THF AIR OVER THE OCEAN, 2400471
*Coe THE MASS OF A SUBSTANCE PER UNIT VOLUME. 2400471
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THE.STUDENT WIi.L COMPREHEND THE CHARACTERISTICS OF WATER PRESSURE 0128
BY CHOOSING THOSE DESCRIPTIONS OF WATER PRFESSURE FROM A LLIST.

%qn

CHOOSE THE CORRECT ANSWER. 1
OF THE FOLLOWINGy THE ONE WHICH IS CHARACTERISTIC OF WATER 2400474
PRESSURE IS 2400474

*Ae WATER PRESSURE 1S THE SAME IN ALL DIRECTIONS. : 2400474
Be WATER PRESSURE IS DIFFERENT IN ALL DIRECTIONS. 2400474
Ce WATER PRESSURE DECREASES WITH DISTAMNCE. )

OF THE FOLLOWINGs THE ONE WHICH IS CHARACTERISTIC OF WATER : 2400475
PRESSURE 1S . 2400475
Ae WATER PRESSURE STAYS CONSTANT [N ANY DEPTH. 2400475

Ce LIQUID EXERT CONSTANT PRESSURE AT ALL DEPTHS. 2400476
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THE STUDENT CAN APPLY KNOWLEDGE OF THE EFFECTS OF TEMPERATURE 0196
ON THE KINETIC ENERGY OF MOLECULES BY IDENTIFYING THE EFFECTS
OF CHANGES [N TEMPERATURE. %3no

CHOOSE THE CORRECT ANSWER. : : | 1

ON A RECENT AUTOMOBILE TRIP JUST PRIOR TO ENTERING THE DESERT AT 1284
NOONy A SERVICE STATION ATTENDANT SUGGESTED THAT WE CHECK THE
"PRESSURE OF QUR TIRESs HIS CONCERN WAS
Ae THERE ARE FFWER MOLECULES IN DESERT AIR,
Be THE MOLECULES IN THE AIR WILL MOVE MORE SLOWLY CAUSING THE
PRESSURE 70 BE REDUCEDe.
#Ce THE MOLECULES IN THE AIR WILL MOVE MORE RAPIDLY CAUSING THE
' PRESSURE TO INCREASE.
De MOLECULES ARE CLOSER TOGETHER DURING THE HOTTEST PART OF THE
DAY .

AN AUTOMOBILE RIDE MAY BECOME ROUGHER AS SPEED AND DISTANCE 1285

INCREASES BECAUSE _ :

A. THE ENGINE DOES NOT FUNCTION WELL WHEN HOT.

Be THE SHOCK ABSORBERS ARE NOT EﬁﬁjgféﬁT AT HIGH SPEEDSe
: >

*B. WATER PRESSURE INCREASES WITH DEPTH. 2400475
Ce WATER PRESSURE DECREASES WITH DEPTH. ' 2400475
OF THE FOLLOWING, THE ONE WHICH IS CHARACTERISTIC OF WATER 2400476
PRESSURE 1§ 2400476
*Ae LIQUIDS EXERT PRESSURE AT DIFFERENT LEVELS. 2400476
Be LIQUIDS DONT EXERT PRFSSURE AT ANY LEVEL. 2400476
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= IN THE EXPANSION OF VARIOUS METALS BY ANTICIPATING CORRECTLY

¥

ST T TIREY DOOn0T ARAORE ROAD SHOCKS AS WELL BECAUSE OF
INCREASED PRFSSURF .
De THE ACTION OF THE SPRINGS IMPROVES.

THE GAME WAS PLAYED IN -132 DEGREE F, TEMPERATURES. THE GAME BALL 1286
WAS INFLATED TO 5 POUNDS PRESSURE IN THE LOCKER ROOM. WHAT WAS
THE PRESSURE OF THE BALL AT THE END OF THE GAMEO
*Ae LESS THAN S5 POUNDS
Be GREATER THAN 5 POUNDS
Ce 5 POUNDS
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THE STUDENT CAN SHOW HIS COMPREHENSION OF GRAVITATION BY 0198
IDENTIFYING THE EFFECT OF MASS UPON WEIGHT. %1n

CHOOSE THE CORRECT ANMSWER. 1

AN OBJECT WEIGHING 100 POUNDS ON EARTH WILL WEIGH LESS ON THE 1289
MOON BECAUSE

*Ae THE MOON 1S SMALLER AND HAS LESS MASS.

Be THE MOON IS 240,000 MILES FROM THE EARTH,

Ce THE PERIOD OF ROTATION AND REVOLUTION OF THE MOON ARE EQUAL.

De THE MOON TRAVELS RAPIDLY ON ITS AXIS.
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THE STUDENT WILL APPLY HIS KNOWLEDGE ABOUT THE DIFFERENCE 0219

THE ACTION OF THESE METALS IN A NEW SITUATION. %20

THIS 1S A THERMOSTAT. THAT Ia SENSITIVr TO THE TEMPERATURE CONDI- 0061
TIONS OF A ROOM SET AT 72 DEGREES Fese CONNECTION BETWEEN POINTS

A AND B WILL TURN THE FURNACE ON« THE CONNECTION OF POINTS 8

AND C WILL TURN THE FURNACE OFFe

AS THE TEMPERATURE OF THE ROOM DROPS THE BAR CONTRACTS BUT THE 1425
. %#Ae BRASS CONTRACTS MORE., _ ki
" Be STEEL CONTRACTS MORE-. : K

Ce BRASS AND STEEL CONTRACT THE SAME. : ' i

AS- THE TEMPERATURE OF THE ROOM RISES THE BAR EXPANDS BUT THE 1426 .
Ae STEEL EXPANDS MORE, :
*Be BRASS EXPANDS MORE.
Ce THE BRASS AND STEFL EXPAND THE SAME.

*!******************#**********&*************************l**************i****

THE STUDENT WILL APPLY HIS KNOWLEDGE OF 5 IMPORTANT SOURCES OF 0222
HEAT BY SELECTING THE CORRECT SOURCE OF HEAT FOR A GIVEN -
SITUATIONe %10n

DIRECTIONS - SELECT THE CORRECT SOURCE OF HEAT USING

5 - THE SUN

C - CHEMICAL ACTION
M - MECHANICAL

N - NUCLEAR

E - ELECTRICAL




A CAMPFIRE #C 1437
A ROPE RURN *M 1438
A TOASTER *E 1439
A BODY TEMPERATURE OF 98.6 DEGREES Fe *C 1440
OCEAN TEMFERATURE *S 1441
GAS STOVF #C 1442
A LIGHT RULR *E | 1443
ATOM BOMB N ' . | 1444
ATR TEMPERATURE OUTSIDE #§ 1445

TEMPERATURE OF MOVING CAR TIRES *M l446
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THE STUDENT WILL APPLY HIS KNOWLEDGE OF HEAT MOVEMENT BY 0224
SELECTING ONE OF THRFE CORRECT METHODS OF MOVEMENT GIVEN
SPECIFIC CONDITIONSs %10m

CHOOSE THE CORRECT LFTTER CORRESPONDING TO THE TYPE OF 0065
MOVEMENT »

Ae CONDUCTION . 1)
Be CONVECTION .
Ca’ RADIATION

WARM Alk RISFS IN A ROOM, *B 1457
SMOKE RISES FROM A CHIMNEY. *B 1458
HEAT IS FELT COMING OQUT OF THE SIDEWALK AT NIGHT, *C ' - 1459
FROST ON A WINDOW MELTS WHEN A PERSON PUTS HIS HAND ON IT. *A 1460
HéATllS FELT COMING OQUT FROM A LIGHTED LIGHT BULB. #C 4 1461
A‘PE§SON BURNS HIS HAND ON A HANDLE OF A PAN ON THE STOVE. %A 1462
THE GULF STREAM FLOATS. #B 1463
A CAB BUMPER 15 . HOT TO TOUCH AFTER SITTING IN THE SUNe. *C l464
COPP?R USED AS A COATING ON THE BOTTOM OF PANSe ¥A » 1465

THE OUTSIDE OF AN OQVFN DOOR GETS HOT WHEN THE OVEN IS ONe *A 1466
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THE STUDENT WILL BE ABLE TO ANALYZE DATA ON AIR PRESSURE AT } 0235
DIFFERENT ALTITUDES AND SELECT CONCRETE INTERPRETATIONS BASED

120, -

ON THE DATA. %20o




RIRFSTIONS - ANALYZE THE CHART RELOW TO MAKE THE FOLLOWING 0077
CONCLUSIONS

ALTITUDE IN FEET PRESSURE IN POUNDS PER
- PER SQUARE INCH
1 1 R AR
SEA LEVEL 14,7
1’000 14-2
5+000 : 122
105000 1041
15+000 8e¢3
20,000 6e8B
254000 Sels
30,000 bet
504000 le7
THE AMOUNT OF PRESSURE AIR EXERTS AT THE SURFACE OF THE EARTH IS 1593

Ae CLOSE TO 14 POUNDS PER SQs INCHa
Be CLOSER TO 20 POUNDS PER SQe INCH.
*#Co CLOSER TO 15 POUNDS PER S5Q0e INCH.

FROM 5,000 FTe ABOVE SEA LEVEL TO 15,000 FTe ABOVE SEA LEVEL THE - 1594
ATR PRESSURE IS
* Ae GREATER.
*Be LESSe
Ce THE SAME.

LA LT 2 s RSt ET I S ISR ST TISLIL LSS IS SRS SRR LR TR LR LR E

SURFACE BECAUSE THE AIR

Ae NEAR THE SURFACE IS COLD AND THEREFORE IS HEAVY.

Be NEAR THE SURFACE HAS MUCH WATER FROM THE OCEANS AND LAKE ON
THE SURFACE. .

¥Ce MOLECULES NEAR THE SURFACE AR[E SQUEEZED BY THE WEIGHT OF ALL
THE ATR ABOVE [T,

( THE STUDENT WILL DEMONSTRATE. AN UNDERSTANDING OF AIR PRESSURE 0237
AT THE SURFACE OF EARTH BY SELECTING A CORRECT EXPLANATION FOR
[Te %1lno » t
~ CHOOSE THE CORRECT ANSWER. 1 %
AIR EXERTS A PRESSURE OF 1447 LBS. PER SQe¢ INCH AT THE EARTH»S 1599 E

L2222 R d Rl RS R SRS XTSRS LSS LTSS LIS IIIIT ISR XL LR L Y B

THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF THE PRINCIPLES 0263 é
OF MOLECULAR KINETIC ENERGY BY INDICATING WHETHER HEAT IS BEING S k
ADDED TO OR TAKEN FROM GIVEN SUBSTANCES IN GIVEN SITUATIONS. %9o

THE FOLLOWING LIST OF NINE ITEMS DESCRIBES TEN DIFFERENT 0080
THINGS THAT MIGHT HAPPEN TO DIFFERENT SUBSTANCES TO MAKE THEM
EXPANDs CONTRACT,. OR CHANGE THEIR STATE. 1IN THE SPACE PROVIDED
-~ CHOOSE , :
(;‘- Ae IF HEAT IS BEING ADDED TO THE SUBSTANCE.
B. IF HEAT IS BEING TAKEN FROM THE SUBSTANCE.
Ce IF NO HEAT IS BEING ADDED TO *OR%* TAKEN FROM THE

SURSTANCE ‘ x
121, .




[CE TURNS TO LIQUID WATER. *A 1691
| A PERFUME BOTTLE 1S OPENED AND THE ODOR FILLS THE ROOM. *C 1692
f THE GAS IN A SEALED BALLOON BEGINS TO EXPAND. *A 1693 |
| AR IS BEING PUMPED INTO A TIRE, %*C | 1694
STEAM TURNS T0 LIQUID WATERe *B | 1695
FREON GAS IN A REFRIGERATOR IS CHANGED TO LIQUID FREON BY THE ° 1696
REFRIGERTOR MOTOR. *B
STEEL IS MELTED TO A LIQUID AT THE STEEL MILL. *A = 1697
THE MERCURY IN A THERMOMETFR RISES IN {TS TUBE. *A 1698
¢gmrbrr; RECOMES DROPS OF WATER ON THE OUTSIDE OF A GLASS OF ICED 1699
"Ae- ¥ .
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THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF MODES OF HEAT 0264
TRANSFER BY IDENTIFYING THE SPECIFTC MODE OF TRANSFER IN GIVEN
SITUATIONSe %llmD

THE FOLLOWING LIST OF ITEMS DESCRIBES CASES IN WHICH HEAT 0081

ENERGY IS OR IS NOT BEING TRANSFERRED. IN THE SPACE PROVIDED :

CHOOSE ' i”)
Ae IF HEAT IS BEING TRANSFERRED BY CONDUCTION,. A
Be IF HEAT 15 BEING TRANSFERRFD BY CONVECTION.

Ce IF HEAT 1S BEING TRANSFERRED BY RADIATION.
De IF HEAT IS NOT BEING TRANSFERRED AT ALLe.

THE %{R ABOVE A BLACKTOP PARKING LOT IS RISINGe *B 1700

THE GULF STREAM 1S A CURRENT THAT CARRIES WARM WATERS ACROSS THE 1701
ATLANTIC OCEAN. *R

THE SUN HEATS THE SURFACE OF THE MOON. *C : ) 1702

THE HANDLE OF A FRYING PAN GETS HOT« *A . 1703

THE CEILING OVER A RADIATOR GETS WARM. *B : 1706

A GLASS OF ICY WATER ON A TABLE BECOMES ROOM TEMPERATURE. *A 1705

AN INFRARED LAMP [N THE CEILING ARE USED TO BAKE THE PAINT ONTO 1706 |
A NEW CARe *C |
THE COILS INSIDE A FREEZER MAKE THE AIR COLDe %A 1707 |
THE SODA POP IN A THERMOS STAYS PERFECTLY COLDs *D 1708

I FEEL THE HFAT FROM A FIREPLACF ON THE FRONT OF MY BODY, BUT NOT 1709 (1) |

ON MY BACKe *C c o

o A RED-HOT PIECE OF METALs SUSPENDED IN A VACUUM CHAMBER WITH 1710
[]{U:TNSULATED CORDy BECOMES COOLe *C

#ﬂ
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THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF THE DEFINITION 0265
g OF WORK AS FORCE OVER DISTANCE BY CHOOSING THE CORRECT FORMULA
8 FROM A GIVEN LIST AND THEN APPLYING THE FORMULA TO GIVEN

STTUATIONSs %5m

CHOOSE THE CORRECT ANSWERe - ' 1
THE FORMULA THAT REPRESENTS THE SCIENTIFIC DEFINITION OF *WORK#* 1711
IS -

A. DISTANCE EQUALS FORCE X WORK
He FORCE EQUALS DISTANCE OVER WORK
Ce FORCE EQUALS DISTANCE X WORK
%Ds WORK EQUALS FORCE X DISTANCE

AN AIRPORT TRACTOR PULLS A JET 70O THE RUNWAY. WORK EQUALS 1712
54000s000 FOOT-POUNDSe DISTANCE EQUALS 1000 FEETe THE TRACTOR
PULLS WITH LBS. OF FORCE, :

Ae 590009000000
Be 540009000
Cs 500

*De 59000

- USING A SINGLE FIXFD PULLEYy, WARREN LIFTS A BALE OF HAY 20 FT, 1711
THE BALE WEIGHS 50 LBS. HOW MUCH WORK IS DONEOQ '
As 50 FT. LBS.
Bs 100 FTs LBS,
- #Ces 1000 FTe LBS.

( De 500 FTs LBS.

BERT ROLLS A 60 LB« BARREL OF *MOTHER HUBBA+S MOLASSES#%* UP THE _ 1714
4 FOOT RAMP, BERT DID FTe-LBSe OF WORK.

*Ae 240

Be 600

Ce 480

De 15

BERT WAS PUSHING ON THE BARREL WITH A FORCE OF LBS. 1715
As 60

*Be 30
Ce 40
De 15
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THE STUDENT WILL INTERPRET THE EFFECT OF HEAT (IPON MOLECULES BY 0266
IDENTIFYING THE MNOLECULAR CHANGF THAT OCCURS WHEN HEAT IS
INDUCEDs %1m

CHOOSE THE CORRECT ANSWER. 4 ' , 1

AS A MERCURY THERMOMETER GETS WARMERs THE MERCURY EXPANDS. WHAT 2400508

(* HAPPENS WHEN MERCIURY EXPANDSO 2400508
- A« MORE MOLECULFS OF MERCURY APPEAR 2400508
#Re THF SPACF BFTWFFN THE MOLFCULFS GFTS LARGER ] 2400508

Ce THF MOLECULFES EXPAND IN STZEC 2400508
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THE STUDENT CAN APPLY RESULTS OF CARBON DIOXIDE EXPERIMENTS
BY CITING METHODS AND RESULTS OF TESTING FOR THIS GAS. %6D

CHOOSE THE CORRECT ANSWER.

TO TEST WHETHER A GAS IS CARBON DIOXIDE YOU SHOULD COMBINE [T
Ae WITH VINEGAR.

*Be WITH LIMEWATER.
Co WITH WATER.

WHEN CARBON DIOXTDE COMBINFS WITH CALCIUM HYDROXIDE
*Ae CALCIUM CARBONATE AND WATER ARE FORMEDe

Be LIMEWATER IS FORMED,

Ce OXYGEN IS RELEASED.

WHEN CARBON DIOXIDE COMBINFS WITH CALCIUUM HYDROXIDE
¥Ae IT TURNS A CLOUDY s MILKY COLOR.
Re IT REMAINS A CLEARSs COLORLESS LIQUID.
Ce IT FORMS A ODORLESSs COLORLESS GASa

A PERSON TOOK A LITTLE PLAIN SODA WATER AND ADDED IT TO LIMEWAT= "~

ERe A MILKYy WHITE SUBSTANCE APPEARED.
BEEN PRESEMTG

Ae CARBONIC ACID

Be VINEGAR

#Ce CARBON INOXIDF

WHAT COMPOUND MUST HAVE

A PERSON BLOWS THROUGH A STRAW INTO LIMEWATER.
BE THE FORMATION OF

Ae CALCIUM HYDROXIDE o

#*Be CALCIUM CARBONATE.

Ce CARBON DIOXIDE.

THE RESULT WILL

AN APPLE AND A DIME ARE FEACH SEALED IN A PLASTIC BAG. IF AFTER
24 HOURS SOME LIMEWATER wWAS POURED INTO E£ACH BAGy THE RESULTS
WILL -BE THE LIMEWATER IN

¥Aa THE BAG WITH THE APPLE WILL TURN CLOUDY.

Be THE BAG WITH THE DIME WILL TURN CLOUDY.

Ce BOTH BAGS WILL TURN CLOUDY.
' De NEITHER OF THE BAGS WILL TURM CLOUDY,
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THE STUDENT WILL APPLY HIS KNOWLEDGE OF THE EFFECTS OF
TEMPERATURE CHANGE ON MOLECULE MOVEMENT BY IDENTIFYING OUTCOMES
TO HYPOTHETICAL SITUATIONSe. %3u

CHOOSE THE CORRECT ANSWER.

A BALLOON WAS BLOWN UP AS TIGHTLY AS POSSIBLE WITHOUT BREAKING,
THER PUT IN THE REFRIGERATOR. WHAT HAPPENEDO

Ao NOTHING

Be IT BECAME L ARGER
#Ce - IT BECAME SMALLER

De IT BLEW UP
¢ T EXPLANATION FOR THFE CHANGE IN SIZE OF AN OBJUECT WHEN 1T GOES
OM A COOL PLACF TO A WARM PLACE 124‘,
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*Ae THE MOLECULES SPEED UP 240059%
Be THE MOLECULES SLOW DOWN 2400599
Ce THE MOLECULES GET SMALLER.

qHILE DRIVING ON THE TOLL ROADs A GOOD TIRE HAD A BLOW OUTe THIS 2400600
JOLILD MOST LIKELY HAPPEN DUE TO 2400600
As FRICTION. 2400600

*Be INCREASED MOLECULE MOVEMENT
Ce TOO LITTLE AIR. 2400600
De TOO MUCH AIR. 2400600.
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THE STUNDENT WILL BE ABLE TO APPLY RERNOULLIsS PRINCIPLE TO 0279
VARIOUS STITUATIONS BY IDENTIFYING CHANGES IN AIR PRESSUREe %2m

CHOOSE THE CORRECT ANSWER. 1

AIR TRAVEL ING OVER A CURVED SURFACE 2400612

_#A. SPFEDS UP. 2400617

Be SLOWS DOWN. 2400612

Ce STAYS THE SAMF, 2400612

De GETS HARDFR, , 2400612

MOLECULES TRAVELING QUICKLY HAVE 2400613

A« MORE PRESSURE. 2400613

Be NO PRESSURE. 2400613

#Ce LESS PRESSURE. 2400613

ét. De THE SAME PRESSURE. | 2400613
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THE STUDENT WILL DEMONSTRATE COMPREHENSION OF KINETIC ENERGY BY 0280
SELECTING THE KINETIC POWER SOURCE USED BY MACHINES. %2n
CHOOSE THE CORRECT ANSWER 1
WINDMILLS GET THEIR ENERGY FOR WORK FROM 2400618
*Ae AlRoe : < _ 6148
Ce THEIR WINGS . : 2400618
De NONE OF THESE. 2400618
STEAM ENGINFS GET THEIR FNFRGY FOR WORK FROM ' ?400620
*Ae HEAT
e WATER. 2400620
Ceo PISTONS,. _ 2400620
De FUEL W 2400620

222 ZITE S XIS E S XIS SRS RIS S LIS RIS LT R LTSI LIS IS RS 2L R R LY L

THE STUDENT WILL APPLY THE SCIENTIFIC FACT THAT SOUND TRAVELS 0283
> APPROXIMATELY 1,100 FTe. PER SECOND BY SELECTING THE CORRECT '
» SOLUTION TO A PROBLEM INVOLVING THE CALCULATION OF THE SPEED OF

SOUNDe %1n

CHOOSE THE CORRECT ANSWERe. 1
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wWHILFE YOU WERE LOOKING OQUT A WINDOW DURING A STORM,
STREAK OF LIGHTNING.

44,000 BEFORE HEARING THE THUNDERe THE LIGHTNING WAS APPROXIMATE-
Ly = %COUNTING SECONDS IS SOMETIMES DONE BY COUNTING BY
THOUSAND ST '

Aa 4N FTe AWAY,

#Re 4ot DN FTe AWAY,.

Ce 54528 FTe AWAY.

YOU SAW A
YOU WERE ABLE TO COUNT BY THOUSANDS TO
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THE STUDENT KNOWS THE MEANING OF HYPOTHESIS BY SELECTING

IT WHEN
GIVEN 1TS DEFINITION. %2n

CHOOSE THE CORRECT ANSWERe

WE CALL THE
PRORLEM,
Ae AN EXPERIMENT
Be AN EXAMPLE
Ce AN ORSERVATION
¥De A HYPOTHESIS
Ee A TEST

EDUCATED GUESS A SCIENTIST MAKES TO EXPLAIN A

WHICH OF THE FOLLOWING WOULD BE AN EXAMPLE OF A HYPOTHESI1SO
*Ae MAGNETISM HOLDS A PAPER CLIP UP,
Be THE PAPER CLIP FALLS.
Ce PLACE A PIECE OF PAPER BETWEEFN A MAGNET AND A PAPER CLIP.
De THE CLIP IS PULLED TO THE MAGNET.
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GIVEN A PARAGRAPH ON THE DISCOVERY OF RADIUM AND ITS RELATION TO

ATOMIC ENERGYs THE CHILD WILL EVALUATE THE STATEMENT BY SELECTING
CONCLUSIONS FROM [Te %1mD

CHOOSE THE CORRECT ANSWFR.

IN 1898 MADAME CURTE DISCOVERED RADIUM. IT WAS DISCOMERED THAT
ATOMS . OF RADIATION THREW OFF PARTICLES AND RADIATIONS THAT WENT
THROUGH FLESH AND EVEN SOMF METAL. THIS RADIATION LED SCIENTISTS
TO BELIEVE THAT THEY COULD USE THE POWER GIVEN OFF TO DO MANY
THINGS THAT HAD PREVIOUSLY BEEN UNATTAINABLE.

ONE CONCLUSION FROM THIS PARAGRAPH TS
A ATOMIC FNFRGY 1S OPFRATING AT MAXIMUM CAPACITY.
Be  ATOMIC FNERGY IS MORE POWERFUL THAN ANY OTHER FORM OF
ENERGY. e
#Ce RADIATION COULD BE DANGEROUS TO THE BODY,
D.: NONE OF THE ABOVE.
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THE STUDFNT CAN APPLY HIS XNOWLEDGE

OF DENSITY RY SFLECTING
WHFTHER A GIVEN OBUFCT WILL FLOAT OR

SINK e %21

& '100SE THE CORRECT ANSWER.

- ol27

-

e

L etarn




[F Al

WATER
A,
¥R

¥ <

IF AN ORJECT

WATER
S *A,
B
Co

IS .00 BENSE OR LIGHTER THAM THE

IT DISPLACESs THF OBRJECT WILL

UnndF oY SAME VOLUME OF
THAT

SINK.

FLOAT .

NOT ENOUGH INFORMATION GIVEN,

IS HEAVIER OR MORE DENSE THAN THE SAME AMOUNT OF
IT DISPLACES, THE OBJECT WILL

SINK.

FLOAT.

NOT ENOUGH INFORMATIOM GIVEN.

26004772
2400472
2400472
2400472
2400472

2400473
2400473
2400473

2400473

2400473

222222222 RS S S S SIS SRS SIS TSRS S S LS AR A AL AR S LR R gL E ]

THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF THE
RELATIONSHIP BETWEEN TEMPERATURE AND HEAT RY SELECTING

THE CORRECT RESPONSES,

%¥2n

CHOOSE THE CORRECT ANSWER.

IN COMPARISON TO A CuUP OF WATER AT 100 DEGREES Fe A BATHTUB OF
WATER AT 100 DEGREES Fe CONTAINS

A
Be
Co
*De

FASTER MOVING MOLECULES.
SLOWER MOVING MOLECULFS,
THE SAME AMO!'INT OF HEAT.
A GREATER AMOUNT OF HEAT .

WHICH OF THE FOLLOWING CONTAINS THE #*MOST* HEATO

(.
Co
De

A BURNING MATCH

THE PACIFIC OCEAN

A BATHTUB FILLED WITH ROILING WATER
LAKE MICHIGAN

0220

1427

1428

*****************************************************************************

LIGHT

THE STUDENT CAN DISTINGUISH BETWEEN THE PROPERTIES -OF LIGHT AND
SOUND BY SELECTING CHARACTFRISTICS OF EACH IN GIVEN SITUATIONS,

%6n

CHOOSE THE CORRECT ANSWER.

LIGHT AND SOUND BEHAVE ALIKE IN MANY WAYSe WHICH STATEMENT

1S TRUF ONLY OF LIGHTO
Ae IT CAN RE REFLECTED.
Re IT CAN RE ABSORHKED.
© Cs IT CAN TRAVEL IN STRAIGHT LINES
"#De IT CAN TRAVFL THROUGH OUTER SPACE.
( WHEN LIGHT HITS A MIRRORs THE LIGHT IS
*A, REFLECTFD.
Be DIFFUSED,
Ce ABSORRED.
De REFRACTED,
E. FOCUSED.,
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MOST OF THE LIGHT WHICH HITS A PIECE OF RLACK PAPER 1S
Ae REFLECTED®
Be DIFFUSED.
¥Ce ABSORBED,
De REFRACTED.
Ee FOCUSED.

A ROUGH SURFACE CAUSES LIGHT TO BE
Ae REFLECTED
*Re DIFFUSFD.
Ce ARSORRFD,
De REFRACTIFDo
Ee FOCUSED,

A LENS BRINGS LIGHT TO A POINT. . THE LIGHT HAS BEEN
Ae REFLECTED.
Be DIFFUSED.
€ e ABSORRED.
*De REFRACTFD.
Ee FOCUSEDs

WHICH OF THE FOLLOWING IS FALSEO
Ae LIGHT CAN BE ABSORBED AND REFLECTED.
Be LIGHT 1S A FORM OF ENERGY.
Ce SOMETIMES LIGHT BEHAVFS LIKE A STREAM OF PARTICLES.
De. SOMETIMES LIGHT TRAVELS LIKE WAVESe

*Fe LIGHT AND SOUND ARE THE SAME FORMS OF ENERGY BECAUSE THEY
OF TEN BEHAVE AL TKE.
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THE STUDENT WILL APPLY HIS KNOWLEDGE OF LIGHT REFLECTION BY

SFLECTING PRACT.ICAL SOLUTIONS TO PROBLEMS INVOLVING LIGHT
REFLECTION. %1m

CHOOSE THE CORRECT ANSWERe

A BUILDER IS CONSTRUCTING A PHOTOGRAPHIC DARK ROOMe HE WILL
PAINT THE WALLS A .
{A.;YELLOW AND USE BRIGHT EQUIPMENT.

*Be DARK GREY AND USE DULL FINISHED EOUIPMENT.u

Ce "DARK COLOR HUT MAKE SURE THERF IS A LARGE WINDOW FOR FRESH
AlRe
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THE QTUDENT WILL BE ABLE TO RECALL THE FACT THAT LIGHT TRAVELS IN

STRAIGHT LINES BY IDFNTIFYING THE CORRECT DESCRIPTION OF LIGHTS
PATHe %1m

CHOOSE THE CORRECT ANSWER.

LIGHT TRAVELS
Ae ;AROUND BENDS AND CURVES.
#Re IN STRAIGHT LINFS.
Ce OVER HILLS AND INTO VALLEYSe
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THE STUDENT WILL APPLY HIS KNOWLEDGE OF LIGHT REFLECTION BY 0286
IDENTIFYING ITEMS THAT REFLECT OR ABRSORB LIGHT. %2n .
- CHNOSE THE CORRECT ANSWER, 3 1
WHICH OF THE FOLLOWING ITEMS WILL ABSORB THE MOST LIGHTO | 0635
Ae YELLOW DRESS . 2400635
#B. PURPLE DRESS : 2400635
Ce LIGHT BLUE COAT 2400635
De PALE PINK DRESS o 2400635
WHICH OF THE FOLLOWING ITEMS WILL REFLECT THE MOST LIGHTO 2400636
Ae BURNT FRYING PAN | . . 2400636
*Be ALUMINUM PAN 2400636

C. DEEP GREEN PAN - | ' 2400636
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THE STUDENT WILL RF ABLF TO ANALYZF LIGHT BREING PRODUCED BY A 0287
CHEMICAL CHANGE RY SELECTING CORRECT SOLUTIONS TO PROBLEMS IN-
VOLVING THE PRODUCTION OF LIGHTe %4n

CHOOSE THE CORRECT ANSWERe o 1
WHEN A CANDLE BURNSs A CHEMICAL CHANGE TAKES PLACE. ODURING THIS 2400649
CHEMICAL CHANGE THE MOLECULES ARE - 2600649
. %Ae CHANGED INTO NIFFERENT MOLFCULES AND ENERGY 1S RELEASEDe 2400649
Be NOT CHANGED IN ANY WAY. 2400649

Co CHANGED BUT DO *NOT* RELEASE ENFRGY. 2400649
THE ENERGY *RELEASED* FROM A BURNING CANDLE 2400650
Ae 1S ABSORBED BY THE FLAMEe 2400650
*B. IS IN THE FORM OF HEAT AND LIGHT. 0650
C. FORMS CARBON PIOXIDE AND WATER. 2400650
1F YOU WERE TO DESCRIBE TO SOMEONE THE CHEMICAL CHANGE TAKING 2400651

PLACE WHEN A *BUNSEN* BURNER 1S IGNITEDs YOU WOULD SAY
Ae THE GAS MOLECULES ARE MOVING RAPIDLYs GIVING OFF HEAT AND

L1GHT. : 2400651
*Be THE METHANE GAS 1S COMBINED WITH AIR AND IGNITEDe. THE 0651
"MOLECULFS OF GAS ARE CHANGED INTO NEW MOLECULES. HEAT AND
LIGHT ARE GIVEN OFF. '
Cs THF GAS MOLFCULFS ARE REING *SEPARATED® BY THE ATR MOLFCULES 2400651
GIVING OFF CARBON DIOXIDE AND WATER VAPOR. 2400651
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CRITICAL THINKING

THE STUDENT WwILL DEMONSTRATE HIS ABILITY TO LOCATE THE CENTRAL 0137
IDEA BY SELECTING IT AFTER READING A GIVEN SELECTION. %24mn

READ THE PARAGRAPH BFLOW AND CHOOSE THE MAIN IDEA FROM THE 0091
ALTERNATIVES GIVEN.

WATER CANNOT BE USED ON ALL FIRESe [T MAKES SOME FIRES HARD 08no
TO CONTROL« WATER SHOULD NEVER BE PUT ON BURNING OIL OR BURNING :
GASOLINE. OIL AND GASOLINE FLOAT ON WATER. WATER SPREADS THE
FLAMES FROM 0OlL AMND GASOLINE,

Ae WATER MAKES SOMF FIRES HARD TO CONTROL.

¥Be WATER CANNOT RE USED IN ALL FIRESe.

Ce WATER SPREADS FLAMES FROM OIL AND GASOLINE.

A MICROSCOPE TS MADE (P OF SEVERAL PARTSe EACH PART HAS A 0802
NAME AND A PURPOSE. THE BASE IS THE PEDESTAL ON WHICH THE
INSTRUMENT RESTSe CLOSE TO THE BASE IS A MIRROR. THE MIRROR
REFLECTS LIGHT ONTO THE OBJECT BEING VIEWEDe. ABOVE THE MIRROR IS
THF STAGEe A SLIDE %PIFCE OF GLASSn IS PLACED ON THE STAGE.
THE OBJECT TO BE VIEWED 1S MOUNTED ON THE SLIDE.
Ae THF MIRROR IS THF MNST IMPORTANT PART OF THE MICROSCOPF FOR
IT REFLECTS.
*Be OF THE SEVERAL PARTQ OF A MICROSCOPE EACH 1S NAMED AND HAS
Ce A SLIDE IS A PLAIN PIECE OF GLASS USED FOR PLACING {)
. SPECIMENS. o
De THE BASFE IS THE MOST IMPORTANT PART RECAUSE IT HOLDS THE
' MICROSCOPE,

IN CITIES WATER 15 OFTEN STORED IN RESERVOIRSe IT IS 0801
BROUGHT FROM MOUNTAIN STREAMS TO RESERVOIRS BY CANALS. THE WATER
MOVES FROM RESERVOIRS INTO THE CITIES BY LARGE PIPES. IT COMES
INTO OUR HOMES AND BUILDINGS BY PIPES.
Ae EVERY CITY HAS A RESERVOIR
*Be WE HAVE EFFICIENT WAYS OF GETTING WATER INTO OUR HOMES,
Ce THERE ARE MANY PIPES IN OUR CITIFSe.

THE UPPER PART OF A MICROSCOPE CONSISTS OF A STAND AND TwO 0803
TUBESe THE STAND HOLDS THE TUBES IN PLACF. THE UPPER TUBE FITS
© SNUGLY IN THE LOWER TUBE. THE SCIENTIST ADJUSTS THE LENSES TO
HIS EYES BY TURNING KNOBS CALLED ADJUSTING WHEELSe. THE
ADJUSTING WHEELS CAUSE THE UPPER TUBE TO MOVE UP OR DOWN WITHIN
THE LOWER TURF.
A« LENSFS OF A MICROSCOPF ARE MOST IMPORTANT IN VIEWING
SPECIMENS.
Re THE TUBES OF A MICROSCOPE ARE CLOSE FITTING AND ADJUSTABLE. :
Ce - THE MICROSCOPE IS DIVIDED INTO UPPER AND LOWER PARTSe i
*De TWO TIGHTLY FITTING TUBES AND A STAND MAKE UP THE UPPER
PART OF A MICROSCOPFE.

AS LONG AS MAN HAS RAISED CROPS AS A SOURCE OF FOOD 08n4
AND OTHER PRODUCTSs INSECTS HAVE DAMAGED HIS CROPS. BE-~
TWEFN 1870 AND 1880, LOCUSTS ATE MILLIONS OF DOLLARS WORTH
OF CROPS IM THE MISSISSIPPI VALLEY. TODAY IN THE UNITED
STATES THE COTTON BOLL WEEVIL DAMAGES ABOUT 300 MILLION 130
DOLLARS WORTH OF CROPS EACH YEAR. ADDITIONAL MILLIONS
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ART 1 OST CACH YEAR TN THE APRETITZS OF OTHFR PLANT-EAT ING
I1HSEC TSy SUME UF TheSe ARE CURN BORERSe GYPSY MOTHS,
POTATO BEETLESs, AND JAPANESE BEETLES.
#Ae INSECTS ARE VERY HARMFUL TO MANS CROFS.
{v~ Be LOCUSTS USUALLY DO MUCH DAMAGE TO CROPS In THE MISSISSIPPI
VALLEY .
Co PLANT—-EATING INSECTS ARE THE CHLY ENEMIES OF CROP RAISERS.

THE ELECTRIC €ELes A NATIVE FISH OF SOUTH AMERICA,
DEFENDS ITSELF FROM ATTACKS OF ENEMIES BY A NATURAL
ELECTRIC BATTERYe. A DISCHARGE FROM THIS BATTERY IS
POWERFUL ENOUGH TO STUN EVEM THE LARGEST AMIMALSe. WHERE
ROADS PASS THROUGH PONDS FREQUENTED BY THESE
PECULTIAR FISH. IT HAS OFTEN BEEN FOUWND NECESSARY TO
CHANGE THE LINE OF THE ROAD FOR FEAR OF TiHEMe .

" ‘Ae ROADS CANNOT FASS B8Y PONDS THAT HAVE ELECTRIC EELS.
#B. THE ELECTRIC EEL HAS AN UNUSUAL WAY OF DEFENDING ITSELF.
Ce ELECTRIC EELS CAN STUN EVEN LARGE ANIMALS WITH ITS
ELECTRIC CHARGE.

- TALK ABOUT CATS EYES THAT CAN SFE IN THE DARKO  MAN HAS
MADE SOMETHING THAT CAN SEE WHEN 17 1S5 SO DARK OR FOGGY THAT EVEN
A CAT CANMOT SEEe WITH THIS EYE AVIATORS CAN SEE TO LAND THEIR
ATRPLANES IN ANY WEATHER, DAY OR NIGHTs SHIPS PILOTS WHO ONCE
WERE AFRAID TO ENTER HARBORS DURING DARKNESS OR THICK FOG NOW
ENTER UNDER THESE CONDITIONS WITHCGUT FEAR. THERE WILL PROBABLY
5E A HUNDRED OTHER USES FOR THIS WONDERFUL IKVENTION CALLED
RADAR o

#Ao RADAR HAS MANY USES FNOR MaANe
- B, RADAR 1S5 BETTTR 1HAN CATS EYES,
( Co RADAR IS5 USED OMLY BY AVIATORS AND SHIPS PILOTS.

WATER IS EVERYWHERE. THEFE IS MORE {/ATER THAN LAND ON OUR
CARTHe EVERYTHIMNC THAT LIVES MUST HAVE WATER. PLANTS NEED WATER
IN ORDER TO GROWe ANIMALS CAMNOT LIVE WITHOUT WATCER. WE USE
WATER IM OUR HOMES FOR MAMY PURPOSES.

#Aa ALL LIVING THINGS NFED WATER iN ORDER TO LIVE AND GROW.
Be WATER I8 FOUND 0 OQUR EARTH.
Co WE USE WATTR IN OUR HCMES.

WHEN LARGE AMOUMY S OF WARM WATER ARE DUMPED INTO

A KTIVERs THE RIVER ITSELF IS HEATED., THE TEMDPERATURE
OF THE WATYER MAY RE RAISED ONLY A FEW DEGREES. VYET
THFSE FEW DEGREES CAN CHARGE THZ ANIMAL AND PLAN{ LIFF IN
THE RIVERe HEAT CAINMES A LOSS OF OXYGEN 1IN THE WATER,
FISH NO LONGER DO WELL e AND SOME KINDS DIE, WITHOUT
EMOUGH OXYGEN, BACTERIA IN THE RIVER CANNOT BREAK DOWN
WASTE MATTER. THE RIVER 15 NO LONGER CLEAN

Ae HEAT CAUSES UWATER 7C !'.OSE OXYGENe

Be SOME FISH CANHOT SURVIVE 1M WARM WATER.

*Ce LARGE AMCUNTS OF WARM WATER CAN BE DANGEROUS TO LIFE
' IN OQUR RIVERS AND LiKZSe

% & =

MOST SPIDERS BulLD WEBS 70 TRAP OTHER INSECTS.
BiIT THE TRAP-DOCR PIDER HAS ANOTHER WAY OF HUNTINGs. FIRST,
- 1T DIGS A HOLE ABOUT TEMN INCHES DEJP AMD AN INCH AND A HALF
( A1DEe WEXTs IT MAKES A LID OF DIRT AND WEBBINGe THIS TRAP DOOR
MUST FIT OVFR THE UPPER END OF THE HOLE LIKE A CORK FITS IN A

BOTTLE,
*h,. HOW THE TRAP-DOOR SPIDER TRAPS INSECYSe
Q Be THE TRAP DOCR FITS LIKE A CORX FITS IH A BOTTLE.
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Ce 1H% TRAP-DOOR SPIDER CANNOT BUILD WEBS AS OTHER SPIDERS DO.
A+

IT1S FALL IN THE MIDWEST. THE WHEAT FIELDS LOOK LIKE

£ GOLDEN OCEANe BUT IT WAS NOT ALWAYS THIS WAY. LONG AGOs MANY
FARMERS HAD TO GIVE UP CROWING WHEAT. THERE WAS LITTLE RAIN.
THE WEATHER WAS TOO COLDs AND MANY PLANTS HAD BROWN SPOTSe THE
BROWN SPOTS WERE A SIGN OF WHEAT RYSTe WHEN THE FARMERS SAW THE
WHEAT RUSTs THEY KNEW THEIR WHEAT WOULD DIE.

Ae WHEAT GROWS ONLY IN THE MIDWEST.

Be WHEAT WILL NOT GROW WITHOUT RAIN.

¥Ce BAD WEATHER CONDITIONS CAUSED WHEAT RUST.

MOST ANTS ARE GREAT FIGHTERS AND OFTEN FIGHT IN ORGANIZED
ARMIESe WHEN ONF ARMY WANTS TO ATTACK AN ANT HILLs IT SENNS
SCOUTS AHEAD AND BEHIND TO LOOK FOR DANGFERe THE ANTS SWARM OVER
THE 'ANT HILL THEY WISH TO CAPTUREe IF THEY ARE SUCCESSFUL s THEY
CARRY AWAY THE DEAD PODIES OF THEI!R ENEMIESe THEY ALSO CARRY THE
nGS OF THE ENEMY ANTS TO THEIR OWN HOMES, THE ANTS THAT ARE
~+~TCHED FROM THESE EGGS BECOME SLAVESe THESE SLAVES WORK VERY
HARD AND HAVE LITTLE TIME FOR PEST. SOMETIMES THE ANTS THAT ARE
WATTED ON ALL THE TIME BY THE SLAVES BECOME SO HELPLESS THAT THEY
ARF NOT ABRLE TO WALK OR EVEN MOVE.

Ae SOME ANTS BECOME VERY LAZY.
Be ANTS ARE FIERCE FIGHTERS '
¥Ce ANTS FIGHT IN ORGANIZED ARMIES AND USE THEIR CAPTURED
ENEMIES AS SLAVES.

SCIENTISTS OFTEN TAKE FIELD TRIPSe THEY LEARN ABOUT PLANT
AND ANIMAL COMMUNITIES BY GOING ON FIFLD TRIPSe THE SCIENTISTS
GO TO PLACES WHERF CERTAIN PLANTS AND ANIMALS LIVE TOGETHER.
THEY MAY GO INTO A FORESTe OR THEY MAY GO INTO A DESFRTe THERFE
ARE PLANTS AND ANIMALS ON THE DESEPT.
Ae THERE ARE PLANTS AND ANIMALS ON THE DESERT.
RBe SCIENTISTS OFTEN TAKE FIELD TRIPSe
#¥Ce SCIENTISTS GO TO PLACES WHERE CERTAIN PLANTS AND ANIMALS
LIVE TOGETHER,

TADPOLES HAVE GILLSs THEY MUST LIVE IN THE WATER. THEF
GILLS TAKE OXYGEN FROM THE WATERe THE TADPOLES EAT SMALL
PLANTS. THF SMALL PLANTS ARE FOUND IN THE WATER,

Ae TADPOLES HAVE GIL LS.
#B4 TADPOLES MUST LIVE IN THE WATER.,
Ces TADPOLES EAT SMALL PLANTS,.

" HERE IS AN AMERICAN TOADe SEF ITS LONG TONGUE. - THE TONGUE
IS AT THF FRONT OF THE TOADsS MOUTH, THE AMERICAN TOAD CAN FASTLY

FLIP OUT ITS TONGUE TO CATCH INSECTSe ALL TOADS AND FROGS CATCH
INSECTS IN THIS WAY.

Ae THE AMERICAN YOAD HAS A LONG TONGUE,
Be THE YOAD FLIPS HTS TONGUE TO CATCH INSECTS,
*Cs ALL TOADS AND FROGS CATCH INSECTS IN THIS WAY.

FROGS AND TOADS HIBERNATE AS SOON AS THE DAYS BRECOME COLD.
THFY DIG DOWN INTND THE MUDs THFRE THFY HIRERNATE ALL WINTFER.
HIBERNATION IS LIKF A DEEP SLEEPe. ANIMALS DO NOT EAT WHILE THEY
ARE HIBFRNATINGe THEY LIVF ON THE FAT STORED IN THFIR RODIFS.
Ae FROGS AND TOADS DIG INTO MUD IN THE WINTER.
*Be HIBERNATION IS LTKE A DEEP SLEEP.
Ce ANIMALS LIVE ON STORED FAT DURING THEIR LONG ‘SLEEP,

A FIREMAN VISITFD THIS CLASSe THE FIREMAN TALKED TO THE
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CLALS »BGUT FIRE. o TOLD THE CHILDREN HCW TG CONTROL FIRE.
THE FIREMAN RUILYT A CAMP FIRE. HE TALKED ABOUT SAFETY IN THE
WOODSe THE FIREMAN TALKED ABCOUT FOREST FIRES. HE TALKED ABOUT
FIRES IN THE HOME .
( Ae THE FIREMAN TALKED ABOUT SAFETY IN THE WOODS.
- #Be THE FIREMAN TOLD THE CHILDREN HOW TO CONTROL FIRE.
Ce HE TALKED ABOUT FIRES IN THE HOME.

LOOK AT THE JET ATRPLANE aee DO YOU WONDER HOW IT MOVESO
THE SECRET IS IN THE ENGINFe THE ENGINE BURNS FUEL. THE FUEL
MAKES AN EXHAUST. THE EXHAUST CAUSES THE PLANE TO MOVE. IT 1S
REALLY NO SECRET. '
*As THE EXHAUST MAKES THE PLANE MOVE.
Be AIRPLANE ENGINES BURN FUEL.
Ce THE FUEL MAKES AN EXHAUST.

A BIG SPACE ROCKET GOES UPs UP AND UPe IT GOES MUCH FASTER
AND MUCH HIGHER THAN A FIRFWORKS SKYROCKETe IT GOES ALL THE wAY
INTO SPACEe BUT THE SPACE ROCKET AND THE SKYROCKET WORK IN MUCH
THE SAME WAYe THEY ROTH HAVE ROCKET ENGINES.
*A« THE SPACE ROCKET AND THE SKYROCKET HAVE ROCKET ENGINES.
Be THE SPACE ROCKET AND THE SKYROCKET WORK IN MUCH THE SAME
WAY.
Ce THE SPACE ROCKET 1S FASTER AND HIGHER THAN A FYRFWORKS
SKYROCKET,

'MOST PLANTS HAVE SEEDSs THERE ARE MANY KINDS OF SEEDS.
SEEDS USUALLY HAVE A COVERING TO PROTECT THEMs MANY PLANTS
PRODUCE SEEDS AT THE TOP OF THE STEMS. SOME PLANTS PRODUCE SEEDS

~ IN THEIR FRUIT. SOMETIMES SEEDS ARE FOUND IN CLUSTERS. NEW

(" PLaNTS GROW FROM THE SEEDS.

Ae PLANTS NEED SFEDS IN ORDER TO GROW.
Be THERE ARE MANY KINDS OF SEEDS.
*Co SEEDS MAY BE FOUND IN MANY DIFFERENT PLACES ON PLANTS.

LATE ONE AFTERNOON MIKE TOOK A TRAY OF ICECUBES QUY OF
OF THE FREEZER AND HIS HAND STUCK TO THE TRAY. HE RAN WATER
OVER HIS HAND AND THE TRAY TO GET HIS HAND LOOSE. WHICH QUESTION
WOULD MIKE MOST LIKELY BE ASKING HIMSELFO
Ae IF I HAD GOTTEN THE TRAY THIS MORNINGs WOULD THE SAME THING
HAVE HAPPENEDO
Re WHY DID THE WATFR FFFL SO GOODO
Co WHAT IS WRONG WITH THE FREEZERO
#De WHY DID MY HAND STICK TO THE ICE TRAYO

10 YEAR OLD JERRY OPENED THE REFRIGERATOR. THE INSIDE FELT
COOLs HOWEVER WHEN HE TOUCHED THE MOTOR OF THE REFRIGERATORs 17
FELT HOT. WHAT WOULD JERRY MOST LIKELY BE THINKINGH

Ae AM | TOO YOUNG TO BE FOOLING AROUND WITH THE REFRIGERATORN
¥Re WHY IS THE REFRIGERATOR COOL AND THE MOTOR HOTN

Ce WHAT 1S THE TEMPERATURE OF THE REFRIGERATOR AND THE MOTOROQ
De HOW CAN I COOL OFF THE MOTORN

LATE ONE SUMMER NIGHT SUE WAS WALKING BAREFOOT ON THE
SIDEWALKe THE NIGHT WAS COOLs BUT THE SIDEWALK FELT WARM. WHAT
QUESTION WAS SUF LIKFLY TO BE ASKING HERSELFO

*As WHY IS THF SIDEWALK WARMO
Re SHOULD I HAVF WORN SHOESO
Co WHY IS THE EVENING SO COOLO
Ds WHAT IS MY FAVORITE SEASONO -
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ONE MORNING RILL POURFD HOT INSTANT TEA INTO A RED GLASS 1499
CONTAINING ICE —-- THF GLASS CRACKED, HIS SISTER MARY POURED THE
TEA INTO A BLUE GLASS CONTAINING [CE AND A SPOON -- THE GLASS
" DIDM,T BREAKse WHAT QUESTION MOST LIKELY WAS ON BILL,S MINDO
Ae WHAT COLOR GLASSES ARE BEST FOR INSTANT ICE TEAQ
#*Be WHY DID MY GLASS BREAK AND MARYsS DIDNsTO
Ce- -WHAT DOES INSTANT TEA HAVE IN IT TO BREAK GLASSO
De WHAT TIME OF DAY IS BEST FOR MAKING ICED TEAO

FRED COULDN,T GET THE LID OFF A JAR OF PICKLESe HE WORKED 1500

AT IT FOR 5 MINUTESe MARK CAME ALONG AND PUT THE JAR UNDER HOT
WATER -— THE LID THEN CAME OFF FASILY. WHAT QUESTION IS FRED
PROBABLY ASKING HIMSELFO

Ae WHY IS MARK STRONGER THAN MEQ

Be WHY ARE PICKLE JARS SO HARD TO OPENO

#Ce HOW DID THE WATER HELP TO LOOSEN THE LIDO

De HOW LONG DOES IT TAKE TO OPEN PICKLE JARSH
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THE STUDENT WILL DEMONSTRATE HIS ABILITY TO DISTINGUISH BETWEEN 0138
FACT AND OPINION STATEMENTS BY CORRECTLY CATEGORIZING A GIVEN SET
OF STATEMENTSe %46nD

DIRECTIONS - IF THE STATEMFNTS BELOW ARE FACTSy CHOOSE THE *A*, 0018

IF THE STATEMENT CAN #*NOT# BE READILY PROVED OR DISPROVED, CHOOSE
THE #B¥*, .

FROGS AND TOADS ARE ROTH AMPHIBIANS., %A 820
“FISH LIKE TO SWIM. %8B | 822
A1P HAS WEIGHT. *A B23
WORMS ARE FUN TO PLAY WITHe *B 824
BEAVER ARE BEAUTIFULe *B ' 825
ANIMALS NEED AIR TO RREATHE« *A : | 826
PDS SLIMS ARE MAMMALS. *A | B27
A RAECOON MAKES A NICE PFT., *8 828
FISH GET AIR FROM WATER, *A | 829
EVERY SECOND SOME 50 MILLION OF YOUR BODY CELLS DIE. %*A . 0830
IT WOULD BE MARVELOUS TO SFE THE CELL MAGNIFTED 100,000 TIMES. *B 0831
THE GREATEST SCIENTIFIC DISCOVERY WAS THE INVENTION OF THE HUMAN 0832
GENE: BY CHEMICALS. *B
SOME SCIENTISTS BELIEVE THE GREATEST STUDY OF THE CELL CAN BE 0833
ACCOMPLISHED ONLY THROUGH STUDY OF THE CELL PARTSe ¥A
IN BACTERIOLOGYs THF MICROSCOPE IS RELTED UPON GREATLY TO ASSIST 08135
THE SCIENTIST IN HIS STUDY OF BACTERIA. #A 08135
ERJ(:THE LENSES ON A MICROSCOPE ARE MARKED ACCORDING TO THFIR 0836
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MAANTEYTING POWEP.  *A

MICROSCOPESs TELESCOPESs AND CAMERAS NEED LENSES TO HELP THE 0837
'SCIENTIST DO HIS WORK. *A

fmm PLANTS HAVE SEEDSe *A | 838
THERE ARE MANY KINDS OF SEEDSe *A | 839
ALL SEEDS GROW INTO REAUTIFUL PLANTSe *B 0841
sssol NEED WATER AND GOOD SOIL IN ORDER TO GROWe *A 0842

BIRDSs ANIMALS AND PEOPLE EAT SEEDS. *A . 0844
SOME PLANTS CAN PROTECT THEMSELVESs %A : | 0846
SOME INSECTS EAT PLANTSe #A | 847
THERE 15 MORE WATER ON EARTH THAN LAND. *A | | 0848
WATER IS ALWAYS HELPFUL TO MAN. *B 849
WATER HAS MANY USES IN OUR HOMES. *A | 850
ALL PEOPLE PREFER WATER THMAT COMES DIRECTLY FROM WELLS. 8 0851
IN MOST CITIES WE USE WATER FROM A RESERVOIR, #A | 0852
EVERY LIVING THING MUST HAVE WATER. %A 853

“WATER 15 ALWAYS GOOD FOR DRINK ING, %P8 854
WATER POLLUTION IS THE MOST SERIOUS POLLUTION PROBLEMe #B . 0855
ALL INSECTS MAVE SIX LEGS. *A | 858
ALL INSECTS HAVE THREE PARTS TO THEIR BODY. *A 0859
ALL INSECTS LAY FGGS. *A 860
SOME INSECTS LIVE IN WATER. %A ‘ - 863
ANTMALS EAT INSECTSe *A 864
A MAGNIFYING GLASS IS A SIMPLE MICROSCOPEe *A . 0865
IT IS MORE INTERESTING TO VIEW AN AMOEBA THAN RED BLOOD CELLSe *B 0866

THE WING OF A BUTTERFLY IS THE MOST BEAUTIFUL SIGHT ONE CAN SEE 0867
WITH A MICROSCOPE. #B -

SWARM% OF TINY ANIMALS CALLED PROTOZOA COME TO LIFE IN A DROP OF 0868
POND WATFRe %A )

xKNOWLEDGE GAINED BY THE USE OF A MICROSCOPE AFFECTS OUR LIVES IN 0869
AANY WAYSe *A i

THE NOSEPIECE OF A MICROSCOPE CONTAINS THE OBJECTIVE LENSEs WHICH 0870
IS A CONVEX LENSe. *A
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THE GREATER THE MICROSCOPE MAGNIFIES THE OBJECT, THE BETTER. *B 0871

SCIENTISTS WITH MORE DEDICATIONs COULD HAVE SOLVED THE RIDDLE OF 0872
THE VIPUS 8Y NOW. *R

THE LENSES ON A MICROSCOPF ARE MARKEND ACCORDING TO THEIR 0873
MAGNIFYING POWER., *A -

THE ELECTRON MICROSCOPE USES ELECTRONS INSTEAD OF LIGHT RAYS TO 0874
FORM AN IMAGE. *A
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THE STUDENT WILL DEMONSTRATE HIS ABILITY TO RECOGNIZE STATED AND 0139
UNSTATED ASSUMPTIONS BY SELECTING THEM AFTER HAVING STUDIED A
MICROSCOPIC SLIDE. %10n %$DRAWING OR SLIDE OF AMOEBAnN

DIRECTIONS - ABOVE YOU SEE A DRAWING OF AN AMOEBA. DRAWINGS ARE 0019
IMPORTANT BECAUSE BY SIUDYING IHEM Wt CAN LEARN CERTAIN FACTS.

IF YOuU RELIEVE THE PICTURE GIVES EVIDENCE TO THE STATEMENT,

CHOOSE THE #A% FOR EVIDENCFes [IF THE STATEMENT HAS NO EVIDENCE

FROM 'LOOK ING AT THF PICTURF CHOOSE #R%* FOR *NO* EVIDENCE.

AN AMOEBA IS A SINGLE CELL ORGANISMs *A 875
THE AMOEBA CAN REPRODUCE ITSELFe *B8 | o 876
PSEUDOPODS ARE ALSO CALLED THE AMOEBAsS FEET. '#B 0877
THF AMOFRA HAS SIX KNOWN PARTS. = *A 878
THE NUCLEUS 1S PART OF AN AMOEBAs *A 879
THE NUCLEUS IS DARKER BECAUSE IT 1S THE PART OF THE CELL THAT 0880
HAS DIED. *B

A PARAMECIUM AND AN AMOERA DIFFER ONLY IN SHAPE, #B 0881
THE CILIA IS PART OF AN AMOERA. P | 882
EACH PART OF THE AMOEBA HAS A NAME. *A 883
DUR ING REPRODUCTION THE NUCLEUS DIVIDES EXACTLY [N TWO, #*B 0884
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THE STUDENT WILL DEMONSTRATE HIS ABILITY TO DRAW INFERENCES AY 0140
FVALUATING THE CFRTAINTY OF SELECTED SIATEMENIS BASED ON EVIDENCE
IN THE PASSAGESe  %31n

STUOY THE DIAGRAM AND THE PARAGRAPH BELOW -- THEN INDICATE 0067

WHE THER THE STATEMENTS FOLLOWING ARE PROBABLY TRUE, PROBABLY
FALSEs OR THAT THERE ISNeT FNOUGH EVIDENCE TO MAKE A JUNGEMENT.,
UISE THE FOLLOWING KEY.

A« PROBABLY TRUE

Be PROBABLY FALSE

Ce CANsT SAY ~-— NOT ENOUGH EVIDENCE

%NEED DIAGRAM OF REFRIGERATION UNITH
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ADOVE T5 51 MBLE DIAGRAM THAT SHOWS +0W A REFRIGERATOR
WORKS THE FLUID THAT IS GOING THROUGH THE COIiL IS FREON,
FREON STARTS OUT AS A LIQGUID AT POINT Ae AS THE FREON MOVES
AROUND IT STARIS TO EVAPORAIE INIO A GAse ALL LIQUIDS NEED HEAT
FOR EVAPORATIONe AS THE GAS REACHES POINT B IT GOES INTO A
,CONDENStR WHEKE 11 LUSES HEAT ANU BECUMES A LIWUID AGAIN.

FREON 15 THE BEST FLUID 10 USE IN REFRIGERATOR COILSe *C | 1501
THE FREON ABSORBED THE HEAT TN THE REFRIGERATOR. ¥A 1502
THE REFRIGERATOR WOULD STILL WORK WITHOUT THE CONDENSORs *B 1503
FREON IN A GASEOUS STATE CONTAINS MORE HEAT THAN FREON IN A 1504
LIOUID STATE. *A
FRFON MUST LOSE HEAT TO RETURN INTO A LIQUID STATEs %A 1505
WATER DOESNsT NEED HEAT TO EVAPORATE. *B | 1506
THE TEMPERATURE INSIDE THE REFRIGERATOR 1S LOWER AT NOON THAN AT 1507
3 0 CLOCK PeMe *C | f
THE REFRIGERATOR WORKS ON THE PRINCIPLE OF RADIATION OF HEATs R 1508 ;
THIS REFRIGERATOR RUNS ON ELECTRICITY RATHER THAN GAS. #C 1509
OPENING AND CLOSING OF THE REFRIGERATOR DOOR AFFECTS THE FREONs 1510

~ THE TCE ABSORBED THE HEAT FROM THE BLOCKS OF METALS. #A 1511

“'IF EACH METAL HAD REEN HEATED TO A TEMPERATURE 10 DEGs HIGHER | 1512

THAN THE ORIGINAL TEMPERATUREs THE OUTCOME OF THE EXPERIMENT
wouLD HAVE BEEN DIFFERENT. *8B

THIS EXPERIMENT PROVES THE MELTING POINT OF ICE. *C 1513
AFTER HEATING THE METALS TO THE SAME TEMPERATURE, EACH HAD A 1514 3
DIFFERENT RATE OF MOLECULAR MOVEMENT. *B | -
THE ALUMINUM ARSORBED MORE HEAT IHAN THE OTHER METALG. *A 1515 z
EACH METAL BLOCK WAS HEAIED 10 97 DEGREES Fe *C ' 1516 i
THE COPPER ABSORBED MORE HEAT THAN THE IRONs *B - 1517 ?
THE FINAL RESULT OF THE EXPERIMENT WOULD HAVE BEEN THE SAME IF 1518
:gACH* BLOCK OF METAL HAD REEN HEATED TO A DIFFERENT TEMPERATURE.

?ce IS A POOR CONDUCIOR OF HEAl. *C | : 1519

MFTALS ABSORA MORE HEAT THAN GLASSe *C 1525

DIRFCTIONS — READ THF PASSAGE BFLOW THFN RFAD THF STATEMENTS 0068
~ FOLLOWING. INDICATE - |

~ Ae IF THE SIAIEMENI 15 PROBABLY [RUF.
Re IF THE STATEMENT IS PROBABLY FALSE.
Ce IF THERE 15 NO! ENOUGH EVIDENCE 10 MAKE A DECISION,
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MATTERs A BLOCK OF METAL WEIGHING ONE POUNDs WAS HEATED
IN A PAN OF WAIERS IHEN [T WAS WEIGHFD AGAIN., (HE WEIGHI OF
THE BLOCK REMAINEDR THE SAMF.

MATTER HAS WEIGHT. #A

THE TEMPERATURE OF THE METAL ROSE 10 DEGREES F. %C

THE METAL WEIGHED ONE POUND AND 2 OUNCES AFTER BEING HEATED. *B
MEAT HAS WEIGHT. #B

HEAT 1S NOT MATTER. %A

 HEAT 15 NEEDED TO CHANGE THE TEMPERATURE. *A

WHEN ICE 15 LEFT IN A WARM ROOMs NOTHING HAPPENS TO THE
MOLECULES. *B

TEMPERATURE AND THE RAIE OF MOLECULAR MOVEMENT ARE (NRELATEDe #B
WATER IS IMPORTANT 7O SCIENTISIS IN THE StuDY OF HEAT. #C
HEAT IS NEEDED TO CHANGE A SOLID TO A LIQUIDs. *A

IT TAKES A LOMGER T1IME FOR ICE 10 CHANGE FROM A SOLID TO A LIQUID
THAN FROM A LIQUID TO A GASs *C

- HEAT 15 NEEDED TO CHANGE A LIQUID TO A GASe *A

. 1CEs WATER¢ AND WATER VAPOR ARE THE 50L1Ds LIGUID AND GAS STATES
- OF WATER. *A ' '

ADDING HEAT TO A SUBSTANCE MAKES ITS MOLECHLES MOVE FASTER. #*A

© WHEN [CE IS LEFT IN A WARM ROOM NOTHING HAPPENS TO ITS MOLECULES.
*8

READ THE DEFINITION OF ENERGY BELOW. THEN DISTINGUISH
BETWEEN FACIS I1HAT ARE RELEVANI AND FACIS THA1 ARE NOT RELEVANT

IN DETERMINING HEAT AS A FORM OF ENERGY BY CORRECTLY - IDENTIFYING
THE PHRASES.

Ae RELEVANT
He.NOT RELEVANT

 ENERGY CANM DO WORK OR CHANGE MATTERe ENERGY OFTEN COMES
FROM MOITONe tHE FASIER 1HE MOIION (HE GREAIER IS IHE ENERGYe
_FORMS OF ENERGY CAN BF CHANGED FROM ONE KIND INTO ANOTHER.,
- CHANGES IN ENERGY CAN GO BACK AND FORIH.
THE OCEAN CONTAINS MORE HEAT THAN A CUP OF BOILING WATERe *B

THE ADDITION OF HEAT CAN CHANGE WATER FROM A SOLID TO A LIQUID,
A :

HEAT ENERGY CAN BE MADE BY LIGHT. . *A
CALORIE 19 A MEASHRF OF HEAT, #8

HFAT ENERGY CAN HE MADE RY CHEMI CAL S, - *A 138
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TEMPERATURE IS THE MEASURE OF THE RATE OF MOLECULAR MOTION. *B 1541
HFAT ENFRGY CAN BE MADE BRY ELECTRICITY. *A 1542
g&HE FASTER YOU RUB YOUR HANDS TOGETHER THE WARMER THEY BECOME, *A 15413
HEAT AND TEMPERATURE ARE NOT THE SAME. *B , 1544
HEAT 15 THE ENERGY PRODUCED BY MOLECULAR MOTIONe *A 1545,
READ THE FOLLOWING PARAGRAPH ABOUT A TOWN IN THE UNITED 0070

STATESe THEN DECIDE WHICH FACTS PRESENTED ARE RELEVANT OR
IRRELEVANT IN DETERMINING THE CLIMATE OF THIS TOWNe CHOOSE
Ae RELEVANT
Be NOT RELEVANT

. MARYVILLE Is A TONN-OF.ABOUT 34000 PEOPLE LOCATED IN THE
SOUTHWESTERN PART OF THE UNITED STATESe MANY OF THE RESIDENTS
HERE OWN AND OPERATE SEASIDE RESORT MOTELS. OTHERS EARN THEIR

LIVING BY WORKING IN THE NEARBY FACTORIESe THE TOWN+S
POPULATION HAS STEADILY GROWN SINCE 1950,
THE NAME OF THE TOWN WAS MARYVILLE. #B 1546
THE TOWNsS POPULATION HAS GROWN TO 34000 SINCE 1950. *B 1547
THE TOWN IS LOCATED IN THE SOUTHWESTERN PART OF THE UsSe %A . 1548
MANY OF THE RESIDENTS OWN AND OPERATF SEASIDE RESORTSe #A ' 1549
(" DTHERS WORK IN NEARBY FACTORIES. *B 1550

READ THE FOLLOWING PARAGRAPH ABOUT A BRIDGE THAT WARPED. 0071
THEN DISTINGUISH BETWEEN RFLEVANT FROM IRRELEVANT FATTS THAT 5
WOULD HELP TO EXPLAIN THE CAUSE OF THE WARPINGe CHOOSE
 Ae RELEVANT

Re IRRELEVANT

A BRIDGE WAS BUILT OVER THE WEST RIVER LOCATED IN THE
MIDWESTs DURING THE MONTH OF MARCHe IT -WAS A TWO LANE BRIDGE ONE
FOURTH MILE IN LENGTHe THE BUILDER WAS Je He SMLTH & COe THIS
WAS NOT A DRAW BRIDGEs THEREFORE THE CONCRETE FOR THE BRIDGE WAS
POLIRED AS ONF COMPLETE STRIP FROM BEGINNING TO ENDse TOWARD THE
END OF JUNE THE SAME YEAR THE BRIDGE REGAN TO WARP, :

THE BRIDGE WAS OVER THE WEST RIVER. #B - 155]

ir WAS BUILT DURING MARCHe %A 1552

iT WAS A TWO-LANE BR!DGE,I * ) 1553

THE BRIDGE WAS ONE-FOURTH OF A MILE LONG. *8 1554

IT WAS BUILT BY Je He SMITH & COe  #B 1555

[T WAS *NOT* A DRAW BRIDGE. *B 1556

THE CONCRETF WAS POURED AS ONE COMPLETE STRIP FROM END TO ENDe #A 1557

{ THF BRINGE HEGAN TO WARP IN JUNEas %A 1558
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THE STUDENT WILL DISPLAY HIS ABILITY TO DISTINGUISH BETWEEN FACTS
THAT ARE RELEVANT AND FACTS THAT ARE NOT RELEVANT TO A SITUATION
OR PROBLEM BY CORRECTLY IDENTIFYING THE RELEVANT PHRASES. %39n

READ THE #OLLOW!NG STATEMENT., CHOOSE *A%# [F THE FACTS ARE
RELEVANT TO THE STATEMENT. CHOOQSE *B#¥* IF THEY ARE #*NOT# RELEVANT
TO THE STATEMENT,

AS LONG AS MAN HAS RAISED CROPS AS A SOURCE OF FOOD AND
OTHER PRODUCTSy INSECT HAVE DAMAGED HIS CROPS. THE.PRORLEM STILL
EXISTS TODAY,.

BETWEEN 1870 AND 1880, LOCUSTS ATE MILLIONS OF DOLLARS WORTH
OF CRCPS IN THE MISSISSIPPI VALLEYe %A

MANY INSECTS ARE HELPFUL TO MAN. #*B.
SIRDS HELP MAN BY CATCHING AND EATING INSECTS. #B

TODAY IN THE UNITED STATES THE COTTON BOLL WEEVIL DAMAGES ABOUT
800 MILLION DOLLARS WORTH OF CROPS EACH YEARe %A

THERE ARE MANY DIFFERENT KINDS OF INSECTS. #B

ADDITIONAL MILLIONS OF DOLLARS ARE LOST EACH YEAR T0O THE
APPETITES OF PLANT-EATING INSECTS SUCH AS CORN BORERS, GYPSY
MOTHS» AND POTATO BEETLES. +*A

YOU ARE DOING A REPORT ON THE t OCOMOTION AND REPRODUCTION ABILITY
OF THE AMOEBA FOR CLASSe READ THE FOLLOWING STATEMENTS AND DECIDE
WHICH OF THEM WOULD HELP YOU. CHOOSE #A#% IF THE STATEMENTS ARE
RELEVANT. CHOOSE *B#* [F THEY ARE #NOT# RELEVANT.

THE PSEUDOPODS OF AN AMOEBA MOVE FORWARD AND SURROUND FOOD
PARTICLESe. #A

WHEN' THE AMOEBA DIESs [T CEASES TO MOVE. #B

WHEN THE AMOEBA HAS GROWN TO A CERYAIN SIZEs IT REPRODUCES BY
DIVIDING IN TWO. #A ' :

THE AMOEBA MOVES FORWARD RY PUSHING OUT LITTLE FINGERLIKE
EXTENSIONS CALLZD PSFUDOPODS. *A

THE AMOEBA IS A SINGLE CELL ANIMAL WHICH CAN BE SEEN ONLY WITH A
MICROSCOPE.  *B

EACH_OF THE SIX PARTS OF THE AMOEBA HAVE A SPECIAL NAME. *8

“YOU ARE DOING A REPORT ON THE AMOEBA FOR YOUR CLASS., BELOW
ARE PARAGRAPHS AROUT THE AMOEBA. DECIDE WHICH OF THEM WQULD
HELP . YOU.
CHOOSE THE LETTER OF THE CORRECYT ANSWER.

~ DARRYL HAD ALWAYS WANTED TO HAVE AN IMAGINARY PET. ONE DAY AS
EMC‘!YL WAS LOOKING IN HIS MICROSCOPE HE SAW SOMETHING MOVINGe HE
ammsms DED 1T MUST BE AN AMOFRA. WHAT FUN IT WAS TO FIND ANIMALS
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e

v NRNPS OF wWATERS  NARTY! TECINED 1 TvE ANIMALS WEPE DEFINITELY
MORE FUN THAN TMAGINARY ONES.

Ae THIS PARAGRAPH HELPS
*Be THIS PARAGRAPH DOES NOT HELP

g’THE AMOEBA TS A SINGLE CELL ANIMALe. IT CAN NOT BE SEEN BY THE

NAKED EYEe TO SEE AN AMOERA, YOU MUST USE A MICROSCOPE. PLACE A
DROP OF POND WATER ON A MICROSCOPE SLIDE, LOOK FOR A MASS OF

JELLY THAT CAN MOVE AND CHANGE SHAPE QUICKLY. CHANCES ARE YOU
HAVE SEEN AN AMOEBA.

*Ae THISVPARAGRAPH HELPS
Be THIS PARAGRAPH DOES NOT HELP

THE AMOEBA AND EUGLENA ARE QUITE DIFFERENTe THE EUGLENMA AND
AMOEBA ROTH ARE SINGLE CFELL ORGANISMS BUT THE EUGLENA IS GREEN IN
COLORe THIS GREEN COLOR 1S CAUSED BY CHLOROPHYLL A SUBSTANCE
FOUND IN PLANTSe SCIENTISTS ARE STILL NOT SURE WHETHER TO CALL A

_ EUGLENA A PLANT OR AN ANIMAL. SOME SCIENTISIS HAVE SOLVED THIS

DILEMMA BY CALLING THE EUGLENA HALF PLANTs HALF ANIMAL.

Ae THIS PARAGRAPH HELPS
*Be THIS PARAGRAPH DOES NOT HELP

THE AMOEBA POSSESS ALL OF THE LIFE FUNCTIONS OF ANY OTHER ANIMALe
IT CAN MOVE EASILY FROM PLACE TO PLACE By MEANS OF FINGER LIKE
PSUEDOPODSe. IT CAN GEI FOOD AND DIGES! I1e IHIS DIGESTED FOOD
TURNS INTO A LIQUIDe THE LIQUID BECOMES PART OF THE JELLY LIKE
MASS CALLED PROTOPLASMs IHE AMOEBA ALSC BREAIHS, REMOVES ITS
WASTE AND REPRODUCES BY DIVIDING IN TWO.

*As THIS PARAGRAPH HEIZLPS
Be THIS PARAGRAPH DOES NOT HELP

CHOOSE THE LETTER BEFORE (HE FACT WHICH WOULD BEST HELP YOU

TO WRITE A- PARAGRAPH ON THE FOLLOWING IDEAS ABOUT PLANTS AND
SEEDSe

SOMF INSECTS DESTROY PLANTS.
Ae CERTAIN WORMS EAT THE FRUIT OF PLANTSe

*#B+ SOME INSECTS LIKE THE SWEET LIQUID IN CERTAIN FLOWERS.
Cs SOME INSECTS USE THE LEAVES OF PLANTS AS PROTECT 10Ns

SEEDS ARE FOUND IN MANY DIFFERENT PLACES ON PLANTS.
Ao SEEDS ARE OF MANY DIFFERENT SHAPES.

*B¢ MANY PLANTS GROW SEEDS IN CLUSTERS AT THE TOP OF THEIR ST-
. FMS.
Ce BIRDS LIKE TO EAT SEEDQ.

‘MOST PLANTS GROW FROM SEEDS,

*Ae FRUIT TREES ARE ONE KIND OF PLANT THAT GROW FROM SEEDS.
Re SEEDS NEED WATER IN ORDER 7O GROW.
Ce SOME FRUIT ‘

PLANTS ARE USEFUL TO US.
Ae PLANTS OFTEN LOOK GOON AND SMELL NICE.
¥R, MANY PLANTS GIVF US FOOD.
Ce SOME ANIMALS MAKE THEIR HOMES UNDER PLANTYS,.

LEAVES ARE IMPORTANT TO MOST PLANTS,
135
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#Ae FEED FOR SOME PLANTS IS MADE IN ITS LEAVES.
Re LEAVES SOMETIMES MAKE A PLANT MORE BREAUTIFUL.
Ce LEAVES OF SOME PLANTS CHANGE COLOR IN AUTUMN,

-y

STEMS ARE AN IMPORTANT PART OF MANY PLANTSe 0912 | )
Ae SOME STEMS ARF THORNY. -
*B. STEMS CARRY WATER AND FOOD TO THE LEAVES AND FRUIT OF THE
PLANT «
Ce SOME STEMS ARE VERY THICK.

YOU ARE WRITING A REPORT ON THE TYPES OF HOMES OF DIFFERENT
ANTMALS. READ THE FOLLOWING STATCMENTSe IF THE STATEMENT WOULD
BE RELEVANT 7O THE TOPIC CIRCLE THE #*A%, IF NOT CIRCLE THE ¥B%,

WASPS LIVE IN A NEST. *A 913
SOME ANIMALS ARE COVERED WITH HAIRe *B 914
FISH LIVE IN WATER. *A | 915
SOME ANIMALS MAKE GOOD PETS. #B f 916
SOME ANIMALS D1G INTO THE GROUND TO LIVEe *A _ 0917

YOU ARE WRITING A REPORT ON HOW ANIMALS SECURE FOOD. READ THE
FOLLOWING STATEMENTS. IF THE STATEMENT WOULD BE RELEVANT TO THE
TOPIC, CIRCLE THE %A%, IF NOT CIRCLE THE #*B%,

MANY ANIMALS MUST HUNT FOR FOODs %A 918

SOME ANIMALS ARE VERY FIERCEs #B o19 1)
ANIMALS USUALLY MAKE THEIR HOMES SO FOOD AND WATER WILL BE CLOSE 0520

BYe *A

SOME ANIMALS EAT PLANTSs SOME EAT OTHER ANIMALS. #A 0921

YOU ARE WRITING A REPORT ON THE DIFFERENT WAYS ANIMALS PROTECY
THEMSELVES. READ THE FOLLOWING STATEMENTSe IF THE STATEMENT
WOULD BE RELEVANT TO THE TOPICs CIRCLE 1HE %A%, [F NOT CIRCLE

THE *R*, §
CATS PROTECT THEMSELVES WITH THEIR CLAWS AND TEETH. #*A 0922 %
SOME.ANIMALS PROTECT THEMSFLVES BY BEING ABLE TO RUN FAST. *A 0923 f
MANY ANIMALS LIVE IN THE JUNGLE. *B 924 é
COLOR HELPS PROTECT SOME ANIMALS FROM THEIR ENEMIES. *A 0925

%
|
|
1;
1
|
j

YOU ARE WRITING A REPORT ON HOW ANTMALS ARE BENTFICIAL TO MAN.
FFAD THE FOLLOWING STATEMENTSe IF THF STATEMENT WOULD BE RELEVANT
TO THE TOPIC, CIRCLE THE *A*, IF NOT CIRCLE THE #*B*,.

A RAT IS HARMFUL AND IS CALLED A PEST. , 930 (ﬂ\
.SOME ANIMALSs SUCH AS SHEEPs GIVE US MATERIAL FOR CLOTHINGe 0931
SOME ANTMALS ARE USEFUL BECAUSE THEY GIVE US FOOD. n932

EJS;; ANTMALS OFTEN HELP EACH OTHER.

12 .
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THE STUDENT WILL DISPLAY HIS ABILITY TO DISTINGUISH BETWEEN 0142
FACTS THAT ARE RFLEVANT AND FACTS THAT ARE NOI RELEVANT TO A

SITUATION OR PROBLEM BY CORRECTLY IDENTIFYING THE RELEVANT

PARAGRAPHS, %7n

READ THE PARAGRAPH, ' ‘ 24

YOU ARE STUDYING AIR TRANSPORTATION AND HAVE LEARNED THAT
FOG IS AN ENEMY TO AIRLINES AND ATRPORT OPERATORSe YOU WANT TO
WRITE A REPORT ON WAYS TO FIGHT FOG AND ARE GOING TO DO MORE
READING TO LOCATE INFORMATION.

READ EACH OF THE FOLLOWING PARAGRAPHS AND TELL WHICH OF THEM
WOULD HELP YOU FIND INFORMATION IN FIGHTING FOG.
CHOOSE *A* |F THE PARAGRAPH 1S RELEVANTs CHOOSE *B* [F IT IS NOT
RELEVANT .

FOG 15 A CONCENTRATION OF TINY WATER DROPLETS SUSPENDED IN THE 0934
AIRe IT MOST OFTEN OCCURS WHEN WARM,s MOIST AIR 1S SUDDENLY -

COOLEDe WHEN THE WHITEs MISTY BLANKET HIDES RUNWAYS, AIRPLANES

CANNOT TAKE OFF OR LANDs CHANGES IN FLIGHT SCHEDULES COST THE

AIRLINES SEVERAL MILLIOM DOLLARS EACH YEAR. 8

IN 19689 A NEW FOG~SWFEPING MACHINE WAS TESTED FOR DISSIPATING , 0935
THE MOST COMMON KIND OF FOGs WHICH OCCURS AT TEMPERATURES'
ABOVE FREEZINGe THE MACHINE CONSISTED OF A 100-FOOT-LONG
. PLASTIC TUBE MOUNTED ON A MOBILE BLOWER. - AS THE MACHINE MOVED
( ACROSS THE AIRPORT, CHEMICALS WERE BLOWN 1HROUGH {HE TUBE AND
UP INTO THE FOGe ONE OF THE CHEMICALS REDUCED THE SURFACE
TENSION ON THE WATER DROPLETS SO THAT THEY WOULD JOIN TOGETHER
MORE EASILYe THEY ALLOWED THE DROPLETS TO FALL AS RAINa *A

COLD FOGs WHICH OCCURS AT TEMPERATURES BELOW FREEZING, CAUSES 0936
A SMALL PERCENTAGE OF AIRPORT SHUTDOWNSs AND IS FAIRLY EASY

TO ELIMINATE. HOWEVERs COLD FOG TOGETHER WITH SNOW OR ICE

COVERED RUNWAYS CAN BE AS HAZARDOUS AS THE MORE DENSE WARM

WEATHER FOGe *B

FOG CAUSES AIRPORTS TO SEND SCHEDULED FLIGHTS TO OTHER AIRPORTS 0937
NEARBYe. THIS, 700, CAN RE VERY DANGEROt)Se THE NEW GIANT JETS

NFED LONGER RUNWAYS TO LAND THAN DO THE REGULAR PASSENGER JETS.

MANY OF THE SMALLER AIRPORTS DO NOT HAVE RUNWAYS LONG ENOUGH TO

ALLOW THE NEW JETS TO LAND WITH SAFETYs BUT FOG OFTEN FORCES THE

HUGE AIRCRAFT TO USE SMALL AIRPORTS, *8

IN 19699 THE UNITED STATES AIR FORCE ANNOUNCED A PLAN FOR USE . 0938
WHEN WARMs DRY AIR LIES OVER A LAYER OF COLD FOGe A HELICOPTER

HOVERS OVER THE FOG LAYERe THE WHIRLING ROTOR BLADES PUysSH WARM,

DRY AIR DOWN TO MIX WITH THE FOGGY LAYER AND CAUSE THE WATER

DROPLETS TO EVAPORATE. *A

FOR QUITE A FEW YEARS, AIRPORTS HAVE USED CLOUD-SEEDING METHODS 0939
- TO DISSIPATE COLD FOG., AN AIRPLANE DROPS CRYSTALS OF DRY
( ICE INTO THE FOGe SOONs SNOW FALLS AND THE AIR CLEARS. *A

WNHICH OF THE FOLLOWING THREE STATEMENTS TELLS BEST WHAT YOU WERE 0940
Q RFADING TO FIND OUTO
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Ae WAYS AIRPORTS FIGHT FQGe
*#Be WHY FOG IS DANGEROUS.
Ce WHAT CAUSES FOG.
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THE STUDENT WILL DEMONSTRATE HIS ABILITY TO RECOGNIZE DEGREES 0228
OF DIFFICULTY IN PROOF BY SELECTING THE ONE THAT wOuLD BE MORE
DIFFICULT TO PROVE THAN THF OTHERS. %5m

CHOOSE THE CORRECT ANSWER. - 1
WHICH OF THE FOLLOWING WOULD BE *MOST* DIFFICULT TO PROVE TRUE 1489
OR FALSED

Ae THE TEMPERATURE OF A ROOM IS 78 DEGe Fe
Be METALS EXPAND WHEN HEATED.
*Co. THE IDEAL TEMPEPATURE IS FOUND IN HAWAITL.
De GASES FXPAND WHEN HEATED.

WHICH OF THE FOLLOWING WOULD BE *MOST* DIFFICULT TO PROVE TRUE 1490
OR FALSEN '

*Ae THE HIGHER THE TEMPERATURE OF COFFEE THE BETTER IT TASTES. :
Be THE OCFAN CONTAINS MORE HEAT THAN A CUP OF HOT COFFEE. ) i
Ce HEAT FROM A CUP OF HOT COFFEE IS MOVED TO THE HANDLE BY

‘CONDUCTION
De 'THE TEMPERATURE OF THE COFFEE IS 105 DEGREES F.

- WHICH OF THE FOLLOWING WOULD BE *MOST* DIFFICULT TO PROVE TRUE 1491
OR FALSFO gi} :
A« A MERCURY THERMNMETER SHOWS THE RISE AND FALL OF TFMPFRA— .
- TURE o

*Be THE TEMPERATURE IS TOO HOT FOR TENNIS.
Ce THE TEMPERATURE 1S RELATED TO MOLECULAR MOVEMENT.
De HEAT AND TEMPERATURE ARE NOT THE SAME THING. 2

WHICH OF THE FOLLOWING WOULD BE HARDEST TO PROVE TRUE OF FALSEN 1494
Ae THE BODY TEMPERATHRFE IS ABOUT 98.6 DEGREES F.

¥Be PEOPLE CANT THINK CLFARLY WHEN THE AIR TEMPERATURE IS HOT. X
Ce FRICTION CAHSES HEAT. .

WHICH OF THE FOLLOWING WOULD BE HARDEST TO PROVE TRUE OR FALSEOQ 1495
Ae METALS CONTRACT WHEN COOLEDe.
Re MOLECULES MOVE CLOSER TOGETHER WHEN COOLED.
#Ce HOT BATHS ARE MORE ENJOYABLE THAN COOL BATHS.
De GASES CONTRACT WHEN COOLEDS

e bt A e h e Ry o

%*****************}**l*********************************************ﬁ********l

- THE STUDENT WILL ANALYZE STATEMENTS DRAWN FROM A GIVEN 0229
PARAGRAPHs BY IDENTIFYING THE STATEMENTS AS EITHER STATED OR
UNSTATED ASSUMPTIONSe %1ln

READ THE FOLLOWING SELECTIONs IF THE STATEMENT BELOW THE 0072 -
PARAGRAPH 15 A STATED ASSIMPTIONs CHOOSE THE #*A%®, IF THE ( )
STATEMENT IS AN UNSTATED ASSUMPTIONs CHOOSE THE *B+#, -

Q ICE IS WATER IN ITS SOLID STATEe. IF YOU WERE TO LEAVE A
EKC BLOCK OF ICE IN A WARM ROOMs (HE ICE WOULD SOON TURN TO A LIQUID. . 144
e THE HEAT TN THE ROOM CAUSES THE ICE TO MELTs OR CHANGF FROM A

e NI LT VISR L ERR




SOLID TG A LIQUID. A5 THE WATEZR 1% HEATED STILL MOPE, IT BEGINS
TO BOIL AND CHANGES FROM A LIQUID TO A GAS. WATER IN I1TS GASEOUS
STATE 1S CALLED WATER VAPORe THE THREE SUBSTANCES ARE DIFFERENT
BECAUSE OF THE WAY THE MOLFCULES MOVE IN EACH OF THEM.

QFTHE THREE STATES OF MATTER ARE SOLIDs LIQUID AND GASe *B

WATER CAN BE CHANGED INTO 3 STATES OF MATTER, *A
HEAT 15 NEEDED TO CHANGE THF TEMPERATURE. *B |
HEAT 15 NEEDED TO CHANGE A SOLID TO A LIQUID. *A
HEAT 1S NEEDED TO CHANGE A LIQUID TO A GASe *A

THE MOLECULES ARFE MOVING FASTER IN THF WATER VAPOR THAN IN THE
ICE. *

THERE 1S A DIFFERENCE IN THE MOVEMENT OF MOLECULES IN WATER AND
ICE. *A

THE MOLECULES IN WATER NEVER STOP MOVING. *B

AS HEAT Is ADDED TO WATERs THE MOLECULES MOVE FURTHER APART. .*B
THERE ARE MOLECULES IN ICE, WATER, AND WATER VAPOR. *A

MERCURY THERMOMETERS ARE BETTER THAN ALCOHOL THERMOMETERS._ *B

1559
156@
1561
1562
1563

1564
1565

1566
1567
1568

1569
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MEASUREMENT

.THE STUDENf CAN DEMONSTRATE KNOWLEDGE OF THE FAHRENHEIT AND
CENTIGRADE %CELSIUSD SCALES FOR MEASURING TEMPERATURE BY
IDFNTIFY!NG RELATIONSHIPS RETWEEN THE DIFFERENT SCALES.  %4n

;HOOSE THE CORRECT ANSWER .

O DEGREES Ce AND 32 DEGREES Fe ARE BASED ON A COMMON POINTe THIS
POINT IS
* Ae THE RODY TEMPERATURE OF MAMMAL S «
" #Be THE FREEZING POINT OF WATER. X
Ce THE FREFZING POIMT OF ALCOHOL. :
De THF FREEZING POINT OF MERCURY.

WHAT TEMPERATURE ON THE FAHRENHEIT SCALE IS EQUAL TO 100 DEGe ON
THE CENTIGRADE“SCALED

Ae 100 DEGREES Fo.
Be 180 DEGREES F,
*Ce 212 DEGREES Fo
" De ZFRO DFGREES Fo
b:A TEMPERATURE INCREASE OF ONE DEGREE ON THE CENTIGRADE SCALE

REPRESENTS AN INCREASE OF HOW MANY DEGREES ON THE FAHRENHETITY
SCALEQ -~ :

*Ae 5/9 OF ONE DEGREE

145

0202

1303

1304

1305



Be 2.001 DEGREES
Ce 1 DEGREE
De 1.8 DEGREES

IN CHANGING A FAHRENHEIT TEMPERATURE TO THE CENTIGRADE SCALE IT 1306
[S NECESSARY TO

#Ae- SUBTRACT 32 DEGREES.

Be ADD 32 DEGREES.

Ce MULTIPLY BY 148 DEGREFSe

De DIVIDF BY 1.8 DEGREES
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THE STUDENT WILL DEMONSTRATE HIS UNDERSTANDING OF THE RELATION- 0217
SHIP BETWEEN FAHRENHEIT AND CENTIGRADE BY CORRECTLY CHOOSING
ITS EQUAL EXPRESSED IN TERMS OF CENTIGRADE OR VICE VERSA. %2m

CHOOSE THE CORRECT ANSWER. 1

50 DEGREES FAHRENHEIT EXPRESSED IN TERMS OF CENTIGRADE 1S 1421
Ae 122 DEG,
Be 18 DEG.
Ce 25 DEG.
#*De 10 DEG.
Ee 90 DEG.

. 50 DEGREES CENTIGRADE EXPRESSED IN TERMS OF FAHRENHEIT 1S 1422

*Ae 90 DEG.
Re 1B DEG.
Ce 122 DEG.
De 10 DEG.
Ee 25 DEG.
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THE STUDENT WILL RECALL THE DEFINITION OF A SMALL CALORIE , 0218
BY SELECTING THE CORRECT RESPUNSE THAT APPLIES TO A SMALL

- CALORIE.. %2n

CHOOSE THE CORRECT ANSWER. 1

A SMALL CALORIF IS THF AMODUNT OF HEAT NFEDFD TO RAISE ' 1423
A. ONE GRAM OF WATER THROUGH ONE DEGREE FAMRENHEIT, -
#B3. ONE GRAM OF WATER THROUGH QONE DEGREE CENTIGRADE.
Ce ONE OUNCE OF WATER THROUGH ONE DEGREE FAHRENHEIT,.
De ONE OUNCE. OF WATER THROUGH ONE DEGREE CENTIGRADE.

THF DEFINITION OF A ReTeUe IS THE AMOUINT OF HEAT NEFDED TO RAISE 1424

. THF TEMPERATURE OF ONE POUND OF WATER ONE DEGREE FAHRENHEIT. THE

BTUsS FQUIVALENT N THE METRIC SYSTEM IS THE
Ae LARGE CALORIJIE,
Be CEMTIGRADE.
Ce GRAM.
*De SMALL CALORIE.

‘ *%**&***%**********ii********************************************************

THE STUDENT WILL APPLY HIS KNOWLEDGE OF A SMALL CALORIE BY 0225




SELECTING THE CORPECT RESYLT OF AM EXPERIMENT., %lno
CHOOSE THE CORRECT ANSWER. 1

; EIGHTEEN DROPS OF WATER WERE PUT INTO A TEST TUBE. - 1467
' DTHE TEMPERATURE OF THIS WATER WAS MEASURED BY A CENTIGRADE
FTHERMOMETERe THE TEST TUBE WAS HELD OVER AN ALCOHOL BURNER
FOR 20 SECONDS. THE TEMPERATURE OF THE WATER WAS TAKEN
AGAINy IT ROSE 20 CENTIGRADE DEGREES.

THE WATER IN THE TEST TUBE GAINED 20 DEGREES Ce AND 1467
Ae 20 SECONDS.
Be 20 GRAMSe

#Ce 20 SMALL CALORIFS.
De 20 LARGE CALORIESe

***************************#*************************************************

THE STUDENT CAN SHOW HIS UNDERSTANDING OF THE METRIC SYSTEM BY 0257
CONVERTING GIVEN METRIC MEASUREMENTS TO HIGHER AND LOWER UNITS
OF THE SYSTEM. - %4n

CHOOSE THE CORRECT ANSWER.

8 CMe IS THE #SAMEx AS . ‘ 1656
A. 8 DM.
*Be BO MM,
Ce 800 MM,
De NONE OF THESE

i[‘so MMe 1S THE #*SAME* AS e . 1657
" %Ae 5 (M.
Be 5 DMe
Ce 500 CMe
De NONE OF THESE

18 DMe IS #SHORTER* THAN o 1658
Ae 900 MM,

*Be 200 CMe
Ce 1 Mo
De NONE OF THESE

LONGER THAN 1 METER =~ _ 1659
Ae 9 DM,
Re 85 CM,

- #Ce 1200 Me o

~ De MONE OF THESE
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USING A CHART OF 4 BASTIC CONVERSION FACTORSs THE STUDENT WILL 0261
SHOW HIS UNDFRSTANDING OF CONVERSION RY CONVERTING GIVEN .
MEASUREMENTS FROM THE ENGLISH TO METRIC SYSTEM OR VICE-VERSA,.
%80

'{:. YOU HAVE USED *CONVERSION FACTORS* FOR METERS,y CENTIMETERS,
YARDSs AND INCHESs NOW BELOW YOU SEF FOUR *CONVERSION FACTORS#*
FOR *LIQUID* MEASIUURE IN THF ENGLISH AND METRIC SYSTEMS., WSE
o THESE FACTORS TO SOLVE THE FOLLOWING SITUATIONS.
[RIC YRR PACTORS TO SovvE T
447 -




GIVEN -
1 LITTER EQUALS 1406 QUART
1 CENTILITER EQUALS +34 FL.
1 0T« EQUALS «94CLo
1 FLe OZe EQUALS 2694 Clo

JIMeS PET WORM IS 5 INCHES LONGs
Ae 1495 CM,
Bo Te54 CM,

#¥Co 12,70 CM.
De 11470 CM,

fOMe S BABY SISTER IS 2 FEET TALL.
SHEO

be 9e36 CMa

*He 6Ne96 CM,

Ce 26454 CM,

DO 61.06 CM.

ONE FOOT IS EQUAL TO
Ae 1254 CM,
Be 4468 CMo
#Ce 30448 CM,
De 14454 CM,

0Z.

HOW MANY CENTIMETERSO

HOW MANY CENTIMETERS TALL IS

| PATTI GREW 6 CMa LAST YEAR. HOW MANY CENTIMETERSO

*¥Ae 2434 [N
Boe 2425 IMe
Ce 154264 1IN,
Do 1224 TN,

JOHN THREW A BASEBALL 5% YARDS.
Ae 59495 CMs
B. 50.95 CM.

*c. 50.05 CM.
Do 49405 CM,

IN EUROPE s TRACK MEN RUN THE 100 METER DASHs HOW MANY YARDS 1§

THIS RACFO

_Aes 91000 YARDS
Be 91400 YARDS
Ce 10090 YARDS
*De 109,00 YARDS

PFGGYsS PET FROG WON A JIMPING CONTEST WITH A LEAP OF 80 CM,

HOW MANY INCHES WAS THISO
Ao 203420 IN,
Be 163220 1IN,
Ce 21420 1IN,
*De 31420 INo

ALLAN MEASURES A SMALL TREF WITH A MFTRIC RULER.

METFRS. HOW MANY YARDS 1S THISO
¥Ae 3477 YARDS ‘
Re 4o09 YARDS
Coe 3¢91 YARDS
De 2¢73 YARDS.

HOW MANY METERS 1S THISO

IT MEASURES 3

1675

1676

1677

l678

1679

1680

1681

'1‘********’.('*********************#****4%&***********#*************************
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THE STUDENT CAN SHUOW hHid COMPReoHeENSTON OF ThHo LTANDARD
MEASURES OF BOTH THE ENGLISH AND METRIC SYSTEMS BY
ESTIMATING THE S1ZE OF COMMON OBJECTS. %3n

HIS
LOOK

THESE QUESTIONS ASK YOU TO COMPARE MEASUREMENTS TO THINGS IN
CLASSROOM. YOU CAN SEE ALL OF THESE THINGS FROM YOUR DESKe.
AT THEM BEFORE YOU CHOOSE YO!R ANSWERSe.

CLOSEST TO ONE METER IN LENGTH =

Ae
*B.
Ce
" De

MRe RHODY.

MR. RHODYsS ARM.
MRe RHODYsS HANDo
MR. RHODYsS HEAD.

CLOSEST TO ONE CENTIMETER IN LENGTH -

Ae
Be
¥Co
De

YOUR THUMBR.

A BALL-POINT PEN.

THE STAPLE IN THE TOP CORNER OF THIS QUIZ,.
A WIRE PAPER CLIP.

0209

0078

1667

1669
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THE STUDENT WILL DEMONSTRATE WIS COMPREHENSION OF THE
DECIMAL BASIS OF METRIC UNITSs LEARNED THROUGH *LINEAR®

METRIC MEASURE, BY IDENTIFYING RELATIVE SIZES OF LIQUID METRIC
UNMITSe %5n

CHOOSE THE CORRECT ANSWER.

‘20 CENTILITERS IS THE *SAME¥® AS

“ Y Al
Ba
Ce
*Do

20 MILLILITERS.
200 DECILITERS.
2 LITERS.

NONE OF THESE.

3 LITERS IS THE *SAME# AS

A
Re
*Ca
De

3 CECILITERS.
3000 CENTILITERS.
3000 MILLILITERS,.
NONF OF THESF

850 MILLILITERS IS LESS THAN

Ae
B
*Co
De

8 DECILITERS.
400 CENTILITERS.
1 LITER.

NONE OF THESE.

8 DECILITERS IS MORE THAN

Ao

*Be
Ceo
De

MORE

g %A
4 .

1 LITER.

700 MILLILITERS.
85 CENTILITERS.
NONE OF THESE.

THAN ONF LITERoeee
11 DECILITERS

100 CENTILITERS
$00 MILLILITERS
NONE OF THESE

149°
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1670

1671
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1673

1674




Amoeba

Animals
Characteristics
Classification
Insects '

Characteristics
Social
Invertebrates
I1iving thing and their
environment
Microorganism
"Vertebrates

Asteroids

Atom
Structure

Batteries
Bernoulli's Principle

Characterlistics
Circulation
Digeation
Framework

Fractures

Joints
Nervous System
Repraduction
Reepiration
Sensas

Calorxie

Cells

Centigrzde

Chemical weathering
Circulation

Clouds

Color
Doppler effect
Spectrum
Compound

INDEX

130,134-135

18-27
18-27,136
19-20
25-27
25-26
26=27

" 19-20
3
19-20

96
107
107
87-88
- 19

Critical Thinking
Central Idea
Difficulty of Proof
Distinguishing fact
from Opinion

Drawing inferences

Relevant vs. Non-rele-
vant data

Stated and unstated
assumptions

Circuitry
Complete
Parallel
Series
Short

Density
Digestion
Doppler Effect

Earth Science
Ages of Stream
Earthquakes
Erosion
Geology

Rock cycle
Glaclation
Land surfaces
Mineral Testing Tech-
niques
Volcano

Electricity
Batteries
Circuitry
Conductors

_Current
Electromagnets
Importancs of’
Static

Electromagnsts
Element

, . Energy
Atomic
Definition
Kinetic
Pctential

124-139
12)-128
' 138

128-130
130-133

134-138

130,138-139
85-89

87
86-87

86-87

120-121
2-7
55~56

66-68
60
57
56
6062
68-69
56-57

62
63-66
85-90
87-88

85-89

85-86,89-90
87
86
90
87

86
13-ty

120

107-108
108,112-113,119
108




i
#

Escape velocity 96-97
Fahrenheit 139-140
Flower | 29-30,36
Fractures . ' 1,
Friction 105-107
Examples of 106
Properties 105-107
Fuse 85
Galaxies 92
Gas Li=13
Definition L6
Exazples hh-4S
Geology 56
Glaciation 68-69
Cravity :
Definition 103104
Effects of 110-111,113
Heat
Movenent 114,116
Conduction 1L,
Convection - 112
Radiation 114
Scurces 1i3-11L
Transfer 116
Hypothesis 120
Immunity 16
Infection - U-18
Insects 5«27
Characteristics 25-26
Social - 2627
Insulation, electrical 85-86
Invertebratea 19-20
Kinetic energy 108,122-113,119
Light
Path of 122
Properties 121-122
Production of 123 .
Reflection 122-123
Liquid L ~49
Machines 83-81,
Mechanical Advantage 83
Types 83-84,
Work 83

Matter

Chemical chsnge 43
Compound, L3~Ll,
Decomposition of 54=55
Element L=l
Exponsion of 53
Mixture 4
Physical L3
Properties of 53=~54
Denaity 54
States of 4142 ,4,9-51
Gas LA4~19,138-139
Iiqudd NSRS
Solid L9
Synthesis 5455
Measurement 139-143
Calorie 140-141
Centigrade 139-140
Fahrenheit 139-140
Matric aystem U1~143
Mechanical weathering 76-717

Mechanics
Aclds and bgoes 109-111
Aton 107
Bernoulli's Principle 119
Energy 107-108
Friction 105-107
Gravity '103-1049110-111,113
Molecular thoory : 104~105
: 118-119
Newton, Sir Issac 108,111
Metric System 11143
Microorganisn 23
Microscope 124
Minerzls 62
Mixturs L

Molecule
Effects 117 1119
Movenznt 118-119
Theory 104~105
Hoon 99-1C0
‘Revolution 99
Size 99
Surface features . 99-100
Nervous Systen 10-12
Newton, Sir Isaac 109-111
Nitrogen cycle 32
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Oceanography 56~57  Sound 119
’) Erosion 56-57 Speed of 119
Planets 91-101 Space Exploration 96-103
Asteroid 96 Astronauts 102
Constellations 92-93 Escape velocity 96-97
Descriptive facts 91-92 495-96 Gemini Program 101-102
Galaxies 92 Mercury Program 101-102
Moon 99-100 Rocket 111
Revolution 97 Satellite 103
Sun 97-98 Spectrum 65
Plants . .
Adaptation 34,35 Static alectricity a7
Analogies 3 gg—zg Sun 100-101
Calls 32-33 436~
Characteristics Lo-y,  Tornadoss 73
Classifications 29 ’gﬁ Vertebratos 19-20
Dicots :
Flower Parts 29-30,36 Vol.cano _ 63-66
Erupticns 6L
Food Sources 30-31 .
Faults 64~66
Monocots 3L Parts £3-61,
Nitrogen Cycle 32
Parts 27-23 Weather
Photosynthesis 35-38 Alr Pressure , 80-81
T ssue 28 Atmospheric layera 75-76
. Chemical westhering -78
(- Potential energy 108 Clouds ¢ g'{_g
fr.production 15-16 coﬁpea . . l-gz
Fron : 1
Reaplration -8 Condensation . 79-80
Rocket 111 Evaporation ' 79
‘ Instrmonts 73-T4
Rocka 60—7} fachanical weathering 7677
- Cycle €062
' Meteorologist Th
Formation 69 Datterns 78
Relationships, Anelopous 70-=71. Predictdons 72-73
Seasons 78-79 Tornedoca 75
- : Warm Front - g2
Sedimentary Rock | 5960 vator cycie 79
Saismograph 60 Vork 17
Senses 7-8 Defirition ) 117
Skeletel System 12-15 Cemputations 117
Soil 7
Profile TL
S{Dl:"l.d . =49
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